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AM
(1) 2R R s sad, 1A vor o Qo €ld AR L {d ay g5 W B,
2) R dw 860l 5 WRAL 2AuaL 2 dUIR AL U R 2L Ay o Ad R AsBd 54
Hi2 GuAlall oA .
3)  ua dwR-l dadl avmell 20 daui v, aHy 2 wlsd weHi 2o 2y 8.
@) UL geL-EL [Aewdl W2 AL gel-2el WsReL R Avaar w2 i Adxl vl o Gualol 2y, .
AEUM :
(1) R el vadl Aen 3 -l wAsdl wlRd Anaadl & A @alsd 3 de ydaieysd s
wauldl qael HR1daAR §ld AR it dd el Qaasdly o o,
2 R HURd alsd 3 ¥+l wddl AR Anaadl 8 d 2wnHBs, BAsid s yan Al HlRdl
YL IS A& - 81U AR L ugld Asill el o 8.
1.4.3 usnald-dl da (Method of Questionnaire)

weURRIGHL dgn wq3u dfolg A sHul dNsddl UsAldl s wgl oirqHl 20 6. L UL 9
AH-il GriR dvidl {12 %oUL AvMl 2 B, il Ad AUR 53¢ Ul UL UrAIal@ S8l 2Ud B, vl
usR+l ur1afd gl MRl Angaldl Adn us-afadl Ad sdari »ud 8.

Ul [AH] Ul 251 1A AN Q1L AT § F2L 5T Grietdl Ul 1D A3 i A0 dHAL G
Yl 3. ¥ UL viaal AxHiel HiURdl Anqal €l d ot o Qe €l R i ugld v Gualall Hlad 8.
VML AHY 2 wAHL otud adl Qlanell A vol o 5EAWSA oAl O, UUA dUI A U8 dWRL tiAul
Uil GuyloL U ud ©.

U@ gL HRL sBid saL W2 A Ll 9 1 (1) 2188 gL (2) 2uld Il ¢ Yedl-l [Qeuml
Usrla[Al L $AL HIR2 SUL-5UL YEDL LA Avidl AT d-l Al s34,

1.4.3.1 gl wa-nald-i 48l (Characteristics of an Ideal Questionnaire)

R AsBrélswil Asndirl R Youd Uil 2L Gu Wl 9. T Ad duiR s34 Uaia@q
2168 Ul 3l 21 8. el Uzl dUR sl quid DAL Yail KL AviaL o AS

(1) e85 Us1af@ A1 AN AR U2 vaal dA QoY s Avig ASA 3 el AR eI ds0riL
Sgrll e vy 1ofl 8.

(2) sl Al edl wsy o dzell gl Slell AL, U] Al 2edl AviaLell Gaeldl WALl
AR UlaAne Al wsudl a4 WA D, diofl Usald Gaeldin vl sTAA w9nHL sHAL WAL A2
BdR uualL U2 BAGRURA 52 8. Ul Al Ass Seell Avidl -l W2 AS aerdlyds-l RaH -l
o ULl vl voL o QUIR Qld, FUF 25 vAUdl QHIR, AR Ul Aredl Andal W2 usafdn gel-ogel
[Qewelal addll edl valstiRg ©.

(3) ustlal@ui uadledl Aval duiil &g AR Yridld &l A

(@) usl AU, 351 A A1 S ddl Sl ASA. /U 2, [gedl 4 dlan ASA. el.d., A Us-d
L dd adl 3 “ail QR ol 77 2l Gueldl “RURA7 AL el aHe w45 AR, d-l el A4 A 4B §
5 Qe Wy sen ydld, GRad el sen ydlld & sider gl ? adlR. uig e i dad €ldl AS 3,
“aniy AalRs R sul Ylg B 77 2 UsAA AU ot W2 wid QAsey 1A yoor 2wl wsla

(a) walis sa ydld o) b sa Yl (o) GRAdR s sa ydld (d) sider Yl (e) vUeisl.
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1.4.3.2 2wd gL UsUa@ (Questionnaire by Post)
uy :

eef wa-ald duir sul one ¥l WAl ARl Anaai-l €1y dal Greldinl U AHUHAUleL oHL
o UslAdl GuR 20Ul Yd Hisdl 200 ddl [Qddl w8 ewd gl usiald saal 2id 9. uell e3s
Gueldin usafasdl 8 Wdidl iy (UL Honarig) doy RB2 dada aell uelly Alsag

33l 9. Grieldial Wl % Ul A6l YLl €18 Uil Ul 24, 251, AL, HERIR Vi @iy
Slal A5, VAIRAL AHYHL U@ 57922 (5-Ad) dal Heldd gl el HisddMl »d 6.

A
(1) 4R R AsBd sl Aot Qe Sld AR HRAL AsBid s w2 i ugld vl Guylall
e} 9.
2 20 dd 1 B A 09l WA quR R Aadl 200 8.
(3) ¥ A2l Alscold ¥ 2[A81AAL M gl AUS Al Ydletd €ld dal Axul Wdl Grreldivil
WAl 2oes i dd a3 HRd Aadl a3 o.
AAUM :
(1) 4R Gdeldl AURRA S1Y vA Aesi-l cuanl quddL 4 14 iR 2L fd Gualall Hlasdl A,
(2) 54128 Gureldl dgel Had Rl vldl €lu & vaal w1yl 3 wael L @Rl o usuald
215 Uil Hsell 2w Q)Y 9.
(3) GuReldil 2N YREUA Ul ARaed ol vadl HRAl AnaaHl [Qdol qa-dl asud
wWd 8.
(@) 20 Aanl Greldin YA 2wedl 530 U 3 Uselle] viefred 530 A ddl Hee seR sl
ul2 28 8. adl usdld vl viefuend yal wsydl wWa 9.
1.4.3.3 2028 611 W2Ud[d (Questionnaire by Enumerator)

ny

L il utesl Wd Greldin 3613 HAL € win Usledl ocol AN 6. Uslal@H] Ualedl ocliol BULRLS
Yla Yiclvll SRell8R gll @v 9, 14, UG- et 21 21 AdHl dstad 2 9 3 200UG+] Ll GueldiA Usiale
2ule glRL Hiseclil 209 €9, AR 2L Al 1100818 Uld U@ dsa oy € 2 Gdeldin 313 HOL 8. wdful
1R85 Gl @A, @RS i Al s1dHL g0 Qal AR Fell s30R GrReldin Usln 23U i YRS
oaustl Yl uLéla Mol A1 opast Al 245, 2008151 Greldl AL 185 vl -l B3l [RaieHi < Gda
% adl wnslA A 2y ddl dder] avll FPotdiet] dldiaRl Aol JAL MAHD 2 8.
AU ¢

(1) 40U A8l uiedl s30A Grreldl WAl Y, Al v auiR dlou 1Rl Aadl usy ©.

(2) 4R GrReldl AR Udl ASSIR 2N ddl 4 1 AR Greldinl Yoy veiRl >l o 4oy

HRA Aadl a% .

(3) usral& dRaed aldl ¥ Uarial@nl Usdl-{l 2143 HRL HAcuAl ua GURAA adl Al

@) HAa HRA awR RQuu-dly ey 8.
AAUM :

(1) 32dls auid Ycdl NHRHL [FRid 2080 Anddld AseH Yha ol 20 9.

(2) W Arvani Rdd e gl dia ysaal siag Hendig duridl $a wH auiRl 52 8.
8
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(3) AW M+l Birtcieliong vuteLsin dieli 2 sif vor o y3dled 8. adfl, adls Ano eue
Al suadyds, nrulisayds s aal sefeadyds s 5 dg wedll dg agell el dfl saRs
Al glRL Hde HRdL isiue oixl 2au O,
(4) 2R Gureldl [Qun A2l 3edd &l R i dd 214009y oi-l 2 . 2L ARNHL dwAL w2
Vi AHAUL QUIR)L QY 6.
(5) w8 R U1 A1A AHU~AL B g0l sadl W & vadl 2dls avid L5 o Gaeldl WA
Q2R avid Yeltsid Adl W 8. uReud dw MafRd a3usl ydl sdl asy ol «ell.
waRs 1R AsBid saL 20008 Al 53 2 LAl UL 815 As AaAl 6181 s 12 S Ass
s Al awat el da-dl wieallql 2waR Youd Al oloidl Y 2R AW O :
(1) dw 880 iddl Azl [ARdR Gadl) (2) dwidl 8g (3) weusly Ao (4) axunulel
(5) M RS Anddi-{l AsAdL (6) ALSALSAL QIR
1.5 gl Rl (Secondary Data)

1.5.1308 8l wlczen-Al (Sources of Secondary Data)

ollgl MRl Anadl el Youd & Wil © : UsRd A Bieusifid.

5N wlenql gL L wled :

(D) ¥HA usa-l : Sl 208 W2 3w ARSI 27 AU ASIRAL qationl Aal Asl 8 F ¥l
s3SI HURAL 21581 53 6 i Al el USRI 52 8. J2ails A Ustanl RuRid Ad 2 Fud 44
HRA yl Ul &. el.d., 3dlu wis318 A28 (Central Statistical Organisation - CSO), AU el awa
2218+, (National Sample Survey Organisation - NSSO), ¢idril ddl Ras A AR s-Rax{l 53],
Wcllaldl Aad-l tudly sR16uLl (Indian Council of Agricultural Research - ICAR), 2R25¢ o252 211%
Yol w2, RR2se ¢BalS; AoRId 2, ARRN-OsIAMs Rey; orid 22 AdR.

Al A1) S g1 USRI 2Ae HUSAHI] ol cladl YAsBLS, WUA-[ASIRAAL 21531, o~H-
WAL s, sRQNUs s, ardl-owadl-l uRewla daidl wlRdl Aadl usy .

(2) UK nsA-l : 2d-A$F Ae) Fll F waadl o, e [Qga o)ld adR dredl
Fu@d da @l 200 ulRdld usaq ag e 8.

(3) viaRATU UHA : ALY, 216wl el 3 YrilHs AU 23153 (United Nation Organisation
- UNO), idRu¥ly -usueidlol (International Monetory Fund - IMF), AidRUN14 HorgR A6+ (International
Labour Organisation - ILO) gl L=l MRl UslRd a4l 20d 8.

(4) dals e Al : Aaa Azl Fl 3 vglale 2532196 SR Ry 1R (Ahmedabad
Textile Industry’s Research Association - ATIRA), Bse Ru AclRedl (Physical Research Laboratory -
PRL); 4elcle, Al virs 4 Ry Aelled] (Salt and Marine Research Laboratory); HlA-RR, $[Re2ye »iis
$5MS 304 (Institute of Econimic Growth - IEG); [Beell, Aane 518[R4 s a1y S51-0Ms Ru (National
Council of Applied Economic Research); 3 [Beell dairl usiardl gl wuledl ydl uR 8.

(5) RUMS WU AU 2 U A, PRU@S), Predl Yaud, ARse@rd yRaRd
Al Alllls vdaidl usRd 52 8.

WRdlg AsHsm



(6) ]l i aam@As Al usA-l - 32U s S[uqA oR{ s H3A A= SRy gl
s ag ol ‘SHAAARS 207, S[Rezye s W AsiB-e-2 g usUlld ag oda 4w A56-2-2,
Sl 25 5137 23 gl USAd ag »Re ‘23 Ry,

(7) adausl A RS : viefaol, AR AR, AR Fal Aol HeHl 1R SRS diw
WRRsa sl (EPW), S14, Bina g, std-uluud AsadA Fal gel gel adiiusll v aiulsaiel
Aadl asi 8. i wel A 1R 12l 212 Ullran 8.

Brrmsia slaeuidl undl sia wd :

Aol gl dedls tissisla Rl wusfid addl Sid) «2ll, uig [@rid] s30a vitroll in 082 AdLeel
gl Wdirll Aeef W2 duR 539 Busiid xUidRs vdaianidl R Aadl usd 8. el.d., SR
WLUR, Al dee anul [Alsdl 53 8, dud 8BS 2R, vindll v 218 Aotedl su-fl2lnl 2214 §3 gL
ad Astel, %€l g€l YRARAA A2 & qelRoia QA R ad.

1.5.2 303 {Rdl-u Guula gRuir Avdl ASdl maAdlzil (Precauntions while using Secondary Data) :

ol HURAlA Gualal sl uddl sieoyds sl sl ASH 5120 3 el R vilysd, yrdL
Med seaell S ud 8 2ual duinl 8d WA oudAdl 4 ua S, 2udl 2140y dllel R 2issslu
YUK HIE 2 il 4l el Anadl W2 A A selaen sl e GuEldll ol asdl Aell. 2uefl, 2udl
R GualoL scl uddl (1Al Al BAul Avdl AdA -

(1) M HRAA Gualal sdi udal HRA 1A Andl &, suidfl AR Ade & A vuA Ag ASA.
vl ARl gL dUR sAAE visaianiell dadd R 2l RQauu-dy du 9, s1ke 3 vundll Al
Wldlrl yefausl A [RQaruel xgar ARl 2shid sdl & .

(2) A2 HRA Anqaidl 3g vedRiAL &g WA Yol €Ll ASA, -yl il Wl [BraGualofl
oiefl nu 8.

(3) AsBid 5@ MR vot o ol A Sl ASA. A AR MU A oAl Sl ASA.
gl.cl., dirly, A, U2le adil *lld.

(@) 2L HRAA Gualal scl uddl MRl s1485 g O 217 A suL QR W2 AsBId s 20
® A ddl auwddl el vl adlR Akl dg ASA.

(5) ABA 2t 536 HRAA Gudlal s, 21ng A, Ul 2uR1RLd 536 R 5415 vilél
dd delddl s3AA Guandd 1S ud 9.

©) 59 Ad gL 1R AsBid 53¢ & o el Ag ASH Fell Aarisdl A Ad=ll Aei-Aeell s oA,
allel MURAAL AU e Ut saL Hi2 GURHl WA @gmi AL(A Al GuylaL s ASA.

( aria )
‘. \ J R
R 2 Avales |IUHL vaAL RIS 73U Usllld 536 waclsldl A B,

HIRA weis Ald vyal ANe Ald gl Aadl wsiy 8.

12 AWHS dIRL A HUSAl A5Bid a0l 20d AR d HAlA wals wledl 58 8.
ol oflot gl AsBid sAAA HURAL Ay Gualal & dl A WRAA sl R 58 B,
wafMs 1R AsBid saudl Alell vl da A nadqald-d dd 8.

UaUqf@ 2 g A & -l Gualalell WRL 2uuAR WA ual-l gs Aadl A 8.

.
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AR 1

N 2ude ougldsey usdl w2 wa [Qseudl yriedll i :

1.

ol 268 ‘Statistik® AHUH Sl gIRL AYAL 8dl ?

(@) &l AG-2 ) QY 92d (c) N2 v dld  (d) 20
Aetla-iaioiAl WM uRuHl izl HerA0HiAL 25 A4 U4 S92 edl ?

(a) ¥l NG (b) A © B (d) %. AHI-
ARl BHisILLRAAL RUUS S8 &l ?

(@) sid My (b) anely () HaEl-GR (d) 202

AA-miell 53 Getsel wals dld o ?

(@) YRR vidaanidl Andg wldl

(b) GelldL M2l U5kl wdd -aniall Andd ARdl

(© AcRSe Gudl Anad Hledl

(d) NSSO gl 2A5B1d 4da Huledl

DAniell sy Gelsw@ s Rl & ?

(@) 2UasL ]efl, MU, G AL qaif (b) Bl (2Hi)

© sMeRL GuR (aai) (@) Al Glus (e
ollel MR 2 [AAL W4 sy Qre w2 S ?

(@) 5134 GUYUREL 4 Adl ASA.

(b) siaewycds asuell suf olie o Guyloi Adl A,

(©) i GuyldL el a-ll asell sl #3dl Al

(@ 2 RA A o waMs WRA 6.

wafs AR w2 A4 U sy @t w1 & ?

(@ WaMs R e MR umelHl Rl qR HRAAUULA 8.

®) wals R e R avuHelHl 20l HAAWA 8.

(©) waMs R siwyds A58 A4 © 3 AR Al YR BER AW B,

(@ wals AR usiRid 2dd A ustaHiel Ay .

A US54 [t 0y & ?

(@) HMA dwA gl Hadl HURdl awR AsAud Hd &1 A3 .

(b) Hca duld gl HAdl MR 20l AsALS e 1S U3 D,

(©) HA dwd gL HAdl HRd AU 4 €S U3,

(@) $-54 gl Aqadl MuRd U dwd gl Hadl HUR sy .

HURL 2AIRAL 2id1d @aell cnold-dl ys MRl Aaqan el Yoy ygld Al 55 & ?
(@) 2w gkl usudl@  (b) 3613 dwld (€) YA duR (d) AR WAL

10. W &s0-fl efsaal-l Avul atR €1y 2 dall [Qwa Al saiddl ela AR 589 ugld auR

wafe fadl uad ¢ ?
(@) 2w gkl Uaal@ (b) YA dwi (€) UMd duA (@) 2asA g

11
R AsBfls2a












2.1 @llsw (Classtfication)

2w 3Rudl

OUGL USRHL 2R Ay 3, sy AR Yruad & usiRAl R Slu § : Avyiais
UL 241 dpeucs HlRcll. Avaicts HURdl 3L Avdics A (numerical variable)rl 2R Aoldel €U 8.
FULR ARl HUSL 21 RIS Al (attributes or qualitative variable)rl IR AAALL €14 . AvUlHLs
Yl Youd A UsR €U O @ (1) vAdd A (discrete variable) (ii) Add A (continuous variable). ¥ AL
A Al a2l FABd 3 ol asiy dedl BHdl o wRel 53 43 dH €ld dl A vdd 44 58 9. €l.d.,
5301218 cuasl-ll AvaL, ol uR Adl vsdLdLAL vl A S Ae x Al BHdl 1.2, 1.3, 1.5 a9 [Afad
(BHdl R85 dl A A A AA s8d. F A4 6L 1AL AL o1l o Bl wRe 530 a4 A i
dl A Adn Add A4 sl 2wd V. el.d., Al GRS, RBadd HedH diudid dadl? Add Ad-l
Geleell 8. deiRML AL Ad R Aadl BHd Anaar e aedl sl usdl €l @R d AdA 2Add
e s, Fu3 g3oigls enasl-l Avan el u, el uR adl visdidlAl vy sl W el Bud
qaadl Hi2 Huel sl widl Qlu Aed 3 Ad-dl Bud-dl 0 Ul 2154 3¢ €ld A Add Ad sl
w1 9, ¥ sl Gl AL 3 §24 3 geui vw, RBadd Hedi diusid Al U, vadd Ad
gll % Al HUBAA Add AvULASs HUSAL sl 20d & A Ydd A4 gRL Y Al HRAA Add
Avyics HRAL sdauHl 2wd 8.

R dw viadl el dwn sd qodl uEda Yo uRdl 3 2aollsd wledl sdauxl »ud 8. 21
HRL viealRAd @3uil laidfl a-dl Gualol 530 vtissindly [@Qsdne sal Ye3ell uidl €lu 8. vuel an
AR 2 AaRAd 2a3unl sl %32 W 8. viellsd HlBA ARWAL v daRAd a3yl dlsadrl
Bu wlRdlq allsw (classification) $& & A A dNedel WA adlsd el 58 8. €l.d., s
MUl e S s gl BAs HidL vigsA 12, 16, 8, 12, 8, 8, 10 sl edl A ugH W 8. dl
21 2ad(lgd MRl well e dld A wstu 3 vsculRul eARUA argel 1idl 8 sl &1y dal 3 [Bal ©,
HiolL 10 sl €l Adl W [Ba 8, HidL 12 vl Sl dal 2 [BaRAl € 21 agel Hidl 16 2154 €y ddl s
Bax 8. 21 QoA A s aollgd il saldl aswy :

nsaul3ul eARun azgHl BAs win ealag sies

gl uia 8 10 12 16 | s
[Barill 2iva 3 1 2 1 7

2, w0 2llgd HRAA AUl 2 sl gl aollsel 58 8. visduA-ll vieduul
qoffseil or3lRutd yrucd flAAL sIRRlAR O :

(1) Qgd R ARBaxl, AR 217 usls Aa 9 540 AR,

) HRAAL el el @ael a2 Andefl weuHsll sal e, @ollseml HRAA A yuHf
VAR AR adAldL dleugll AvuHel AN oA 9.)

(3) AU, s A vl tad s 2. (adlyd WA vl sAUML 2uddl YassRAUL 9 Ay,
wE oA W Ay 8.)

(4) e Al yel gel qael QA ARl R Aoqal Hie.
15
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2.2 Qlls it UsRL (Types of Classification)

qofls2@url Youud & UsR & : (1) Avuics Wl adllsw@ (i) aucts WUl aollset. 21 us1Rl
(1Al GelsRell gl AN :

g2 3 515 s [Qrellul Wl gZelniell 100 gol-l 215 [Real ue s3 d ‘gdelal euasi-l qvar’ (A9
WRdl 2sdl sl 2ud dl ‘gdeiels sunsi-l dvar euladt 100 el el wadlsdl vad, ¥ x1adllyd
HRAL sy 8. e 1L Rl AN 5l g AR 1Y 3 [Realul 215 urL ouns < €1y dal 10 g2l
8, 25 ons €l dal 35 g3l 8, 6 el sl Sl dal 40 360l © i 3 sunsl Sl dal 15 g3ell 8. u adllsen
Avalens WRAlG adllsel sdad 2 dn Addaul 1A Yoo 29 53 sty -

100 gEeini cunsi-l v ealag adflsa

sumsi-l fvul 0 1 2 3 el
gEoil-l vl 10 35 40 15 100

BuR-lL GeleR@ul ‘gdomi sunsill Aval’ 1 Avaicns Ad 9 dell 2 ad(lswn dvaicis wdld allswe
58 9. 8 211 100 gdeil-l el ‘onnsi-ll Avara oied o ‘gdoirl You Ay’ [Q WRdl 2sél samil
U A o Ul Ag diRel Anqarl 2Ud 3 30 gZolledl Yoy qa vdl 9, 25 el Yu aqAy AUR
8, 25 g0t Yoy HaAY s © i oLl 20 g0l You A Rl 8, dl i UEAA uatL ad(lsw@
s8aly i d ARul 1A Yorol 29 3 wsiy ¢
100 gZoi-l Yoo cuqu ealag adllsw

gdorrll Yoo cqud | Wl [ Qur | AAsd | wdl | s
go-ll vl 30 | 25| 25 [ 20 | 100

BuR-l Gels@ul ‘goirll You cdaAd’ A JRlcts A4 8 dell v adlls@A Jructs wBdld (s
PRETCER

U, Asdl sl wadllyd Wl yuud Al 515 wLs wsRML 5@ sal 20 & : (1) Avalus
Rl aals@ (i) daues wldleg asllsw.
2.2.13veHs WAl dllsw (Classification of Quantitative Data)

Avyls Adrll & USIRA O ¢ (1) AAdd AQ (i) Add A, AAdd A WRAAL a2(fs@ A
2UgR-Ade 58 B, FUR Add A4l WRAlAL adlls@n Add wgR-[Adw 58 8.
2.2.1.1 udd udlt-[dd@ (Discrete Frequency Distribution)

Al el Yriadn eafadl Avain aa-l d yeudl 2ugl () 58 8. udd Aa-l [y sy yedd
234 2UgR eaulddl slesn HHrdd UGR-[AdRA 58 . L ANFA U2 2R (A Gelsr 4

AL A5 Wl uR A A e 2dd BFRs visdud-l dval A Wb wa Q¢
0,1, 3, 2, 0, 3, 4 5 o0 1, 0, 2, 0, 1, 3

3,0, 2, 1, 2, 4, 5 0 1, 0, 2, 2, 0, 1, 2, 1

L HURAL, 2uuel adfseL 529 8.
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Al Wl uR udd R[As wsvud-l Aval’ A vAdd Ad (1) © 2R 2 Ao gR-Ade dar
53U wdl ae x -l agdn Bud 0 2 wedH Bod 5 ¢ defl ae x L asd Budl 0, 1, 2, 3, 4 21 5 94,
G (g WRAA $181: aldl ol aa-l ¥ Bod daun d-l AR 2ugR R (1) ysami »ud 8.
el 518w Bud-l 20010 AR g Rie 4 ol sue uiny g RAs AR 38l uia 2uqfi Qs
A8 ol (M) d Ad eafaqnl 2ud 8. 2u-l 8¢ $5d gk RAL deiddl ¥ o dedl o 8. xdR
el ol o Budl daus au AR oie acls-l e35 Bud-l Al 2uqf A&l owrla 2uqRt (f)
Aaaai 20d 8. i Ad 835 sl vl aael aa-dl 200l ga Budl (Aadls)) Fed
ydl AU Y2d 3 n = If = 31. 2 {d Andd 2gR-[Ada 1A Yoo ud :

| W eARa a8+ ol uR 1da BAs wsudl-l dva ealag xAdd 2ugfi-ldd@

wsLAlAL val wg Ra [Baai-l 2w
x w3l ()
0 N, 1 9
1 M, Nl 7
2 M, N 7
3 1 4
4 I 2
5 I 2
& 31

A5 R aa-l Heny Bud 2 dagdd Budl adA-L dstad Wl (iR (range R) 58
8 2d 3 [ARdIR R = HedH Bud — aydy Bud

BUR-L GelsW U [RAR R=5-0 =5 wA.

A4 AR vAdd Al BHdel [QRdR vol o W2l §ld AR o R 2 dd »ugR-[Adw 59
oy, Aell. 1 AANHL AAARS Add UgR-[AdR@ g oY B, Fell 26U WU Add 2ig[R-[Adre
AR s3g.

Geg 1: 2lalann A2 Ganen sdl wis 52l wsal3u eARu 500 Aeg Geanen 4y og v duidll
50 2[afanq del s Red af €35 2[alan Azl dwn sl HlA wwd villuii-l v wa 8.
20 HURAL y2ell uloy vugi-[ad@ dur 4.
0 3 2 1 0 5 2 3 0 2 3 0 0 1 0
2 3 4 1 0 4 5 2 1 0 3 2 1 1 0
2 4 2 1 0 0 0 1 0 1 3 1 0 0 0
0 1 1 0 2
2l 2fafaort A2l vul>l Arar Add A dAy vl Moy AL 5 A Agdy Aval

0 & dofl el Ay R AU R =5 - 0 = 5w, qoll 2[alamst A2 €ls vl eafag Audd
U9 R-[QdRRL Y o 18 WA Aadl sy,
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sdall 2 8. qFAaRs qdl flad) Alu via Gudl AL Fedl yeu HR1adl vadlsHl-l Auaa d adful
o AU V. tl.cl., S 3s 2AMAUS a0 30 - 35 B 21 515 Vs BALSAG YU 35 HA B, ddl UL vAdls HIRe
R A& A % 2Bl ysami 2 8.

s} Add aflsd WR 2uell €l AR g @50 s 22 A {ld Rars Add 2ugR-[Qd
Al 1A 8. AR Add §1Q0gd AR Al S 249 d-l [ARdIR wuRdl 02 §lu AR A d
dd adfllse s2al 2 wMRARs Add wYR-[AdRA Q] 20 8. wRARS Add R-Adeq Fars
Add vYR-[Qd@ml Fadl 2R a-dl e3s adRbua aof AbuBigail gl enlaaml 20 8. S5 wa qof-l
:fllGlg (lower boundary point) A Gl AMGg (upper boundary point) AL Yol gL WL wsAL W :

A il flae . d-l Gur- asf-l
Al Bud 7 Gudl Al BHa

2

Qolg 2a: Yt =

d aofll Gudll N d ugslel ol
qof ‘:L Gled %ﬂm[&@ _ Al Bod T Hladl flaudl Bad

2

vl
qofd Gled AlulBlg = 2a8: Al + adldows
B, Aol 28 Aulblg 2 aol]l el A a4 del Gusl adlH) Gluell Al A3 axer ol Gled
AlulGg L ol Gluel AL 247 IR ugdlel qoll fadl Al A9 g1 Aad] wsid 9. 21 A Alug #330
& 3 [RaRs adf w2 aof il 2 q ol aof AuBigl Fedl o €l 9. aol+i Gled Alulbig duer ks Al
Q2L dslada d adlHl adldons (class interval) 8 &. adldons = Gled Abulblg — 214: A,
qof ALl AU A aoll u Bud (mid-value) Audl HRBlE (mid—point) s8aML 1A .

Guell ALl Bud + lael qlaudl Bud
2

aofl wey Bud =

o1 Qo] 3wy Bd 2 adfeonsl Budl aelldl sl dl a uell qoflsuil 1A waud Aad asy :

Guell W = uuBud + 3 (@ldous)

Aadl P = yalud - 5 (@oldous)
{lsd Add Rl W2 Add 2ugR-[Ade duR sl Ad wieral 12 2 A Gels@ AT

ps Wl st sdl 50 s G (@dul) A w6 -
32 34 48 31 34 271 571 3 49 51
45 29 36 4 46 49 51 47 50 30
35 41 3 47 30 35 48 53 37 47
45 30 50 4 49 43 42 4 28 48
52 36 43 38 39 50 49 34 36 50

8 L R uell W ¥ 2uud 7 aolf HRiag Add 2udR-[Ada eidlag 8.
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] 2ol s scl 50 ‘s GHR 2 Add A B 21 U A, 2UR-[AdRQ QAR S B,

el HRAML Al el GHell sl 27 addel 9, R Al ay Gu vuadl sl Gy
57 ax 6.

Aol MRl Qi R =57-27

=30 Q¥
auy L R 7 adlfi Qeuld sadl © - K =7
LENIE] R

ol qafdeus C

aiflivar K
_ 30
=73

=4.29

aafdous-l Bud M= A g yals auami 20d © dofl el € =4 vadl € = 5 ag usia ua
o qfdol C =4 adal dl CK =4 x 7 =28 % [Qzcuell «ul Bruda & (- CK>R) ddll € =4 a4
A2fl.gd A C=5d53 dl C-K=5x7=35% [QlR-l Bud R i {2l & dell € =5 a usiy.

QUL Al K = 7 A aldousS € = 5 <58l sul ene uay adl-l {ladl Al 2Ad] Aa wie sl ASA
5 el Uil el vtaals-el Brdel aae uan qfui us ana. 2l agdu Bud 27 © dell adl A 25
as usty A Qi asldousS 5 GALA dl uam ad(Hl Guell Al 30 1AL dell uaM adf 25 - 30, ofla adf 30 - 35
Q3R HAl. ¢q el adf v vadls-l Bud qiddl €l A, vl d 55 - 60 A9, w8l 3L we sg #3d
8 3%, wld nlgd wRdl e 21 Raari adlfay 2uqR-QAde ua oridl usy 8.

¢ e 21ad(lsd WRAAL vadlsl Budin el el wdlful 2ugR A&l gl [Qddd saHl 2ud 9.

Wi Al sRdL 50 s GHR galad Mars Add 2wg-[dda

sl sl
Gur (anui) 29l Ra R}
(Razs aoll) 2ugf (f)
25 - 30 1 3
30-35 I 1 8
35 - 40 I 10
40- 45 W0 5
45 - 50 LT 15
50 - 55 I 1 8
55-60 | 1
P 50

Belsel 2 : Ws YUR HlaHi WR vslu eRuq gda dAwrl x1is3 (R 3RwH) DA Yoo O ¢

228 125 100 90 115 125 230
220 130 80 95 160 180 200
200 128 120 85 185 140 265
230 135 127 100 145 150 210
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21 HURAA 8 adilui [Aeul¥d s 2ugR-[Aderdl 2a-u 4:A.

0 HRAA ua QAR (8 3RABL) A Add A4 d aSy. due adii-l Aval K = 8 2l 8.
HRAA [ARdIR R = Hgny Bod — agdy Bud
=265 — 80
=185
ReR g
aolfell v, ~ K
= 185

8
=23.125
] vl AL W2 il adfedonsS ¢ = 25 Adl ASH (C-K > R)
Uy, qofl fludl AL 75 2 Guell AL 100 Adi @ydi vadls 80 A ddl uuy adf 75 - 100
. d % dd Beal adf 250 - 275 WU, ¥ HedH xAdlsA 2657 AHIA 9.
YUR HlqHi R sl AR 2dd dua (s 3RH) alag Mars Add 2ugR-Ade

adfl aofdouss ¢

g due [Bazil-l
SR 3R a3l Ra vy
aail wgl (f)
75 - 100 i 4
100 - 125 10 4
125 - 150 M 8
150 - 175 I\ 2
175 - 200 I\ 2
200 - 225 m 4
225 - 250 n 3
250 - 275 | 1
P 28

GewseL 3 : s el WK 50 [Bau e Jeuni-u el el 918 uRdl eler GLlai ensil-l dua
Qe DA R 1ol 8. d uell s adl 30 - 39 Slu dg 2ugR-[Ade@ dur s

34 35 37 39 39 54 52 69 71 75 74 76 8 9% 23 33 51 39
26 46 65 65 53 53 72 71 84 94 34 24 99 19 18 27 17 38
45 55 57 66 88 8 35 19 18 28 47 52 &4 75

a0 R ‘epllaimi daleirl el el 918 UR Glalal Jaloil-l Avyr 3 udd Ad 8.
HRAA [RdR R =99 - 17
=82
] HRAM AR A B U1 A Hdd © ddl AAARS Add WIR-ARDA ddrR 59 RBaag
8. 20a a3f 30 - 394 FaRs adof aSA Alel] Al Aadls-l Bud 17 vadl adf 10 - 19 iy, s Alel
Hl2l madls-dl Baud uuadl aof 90 - 99 wy.
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Hau 50 [Badl e swlluni el el 18 wR Gldla Jensisll Avarg wMAARS Add 2ugR-Adrw

enoil v Bauidl v
@Rars i) wgh Re gl (f)
10-19 MW 5
20 - 29 MW 5
30-39 MUY 10
40 - 49 n 3
50-59 M 8
60 - 69 MW 5
70-79 M 7
80 -89 m 4
90 - 99 1] 3

P 50

Gelsm 4 : Gesw 3ui Andd wRaRrs vug-ldqae w2
(@) Rars sugf-{Ade Andl dney (i) €35 adlHl Halud salagd 2ugh-[Qqe quil,
@  Gur-l Gelsw 3ui ol qoll adl Al 20 A way adfl Guell Al 19 & Aell ofleg qof-l
s Al [Bg = 22219 = 19.5 A A adlHl Qe 2luldig = 19.5 + 10 = 29.5 el el adl-l llulBigail
19.5 -29.5 A uyH ad(l fuligil 9.5 - 19.5 2.
a1 o]l Asles da A yxd S -

yay -l Gudl A 19 A R uesl- @l dudl fln 20 8. ¢ i oA AL dslad
(20— 19 = 1) A 2 a3 &l 0.5 HA B, Al &35 adll flaell Alumidll 0.5 sue sc 247, Guel Wl
0.5 GARdL e25 adf M2 s 2 A 2 Qe AulBg w & 1A wd el usiy :

Jcuoil vy (Bl
ars adtl) 2ugl (f)
9.5-19.5 5
19.5-29.5 5
29.5-39.5 10
39.5-49.5 3
49.5-59.5 8
59.5-69.5 5
69.5-79.5 7
79.5 - 89.5 4
89.5-99.5 3
P 50
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@) adf+l we Bad 21 A qofl Guell Alu 2, el Azl a3 gL Aauy 8. el e3s adfdl
uFud ealag 2uqR-Ade {1 oo aw :

et Hval yey(Fyd (Bal
(ARQRs adl) _ Gudl A + laefl Al %{l%[ﬂ f)
B 2
10-19 w =14.5 5
20-29 2";229 =24.5 5
30-139 w =34.5 10
40 - 49 % =44.5 3
50 - 59 4B _ 545 8
60 - 69 08 ~64.5 5
70-79 7";279 =74.5 7
80 - 89 w =84.5 4
90 - 99 90;99 =94.5 3
Pl 50

Gewsa 5 : A5 w5 WRA W2 ARuMd yugRi-Ad 1A Yoo 1 8. d udl €35 adiHl adieous duy
HeuBud ealag 2ugf-la@ dw s2A.

ol 0-20 [ 20-50[ 50-70] 70-90| 90-100| &
2ugf 20 30 30 15 5 100
g5 Q] adldens duer waliid eulag 2uqR-ade {1 3o § :

al aieious HeU[FHd 2ugla

0-20 20 - 0 = 20 0420 — 10 20

20 - 50 50 — 20 = 30 20;250=35 30

50 - 70 70 — 50 = 20 70 = 60 30

70 - 90 90 — 70 = 20 10490 = g0 15

90 - 100 100 - 90 = 10 0410 = 95 5

s 100
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‘ol ay’ usRdg viddd A2l 2ug-lda

sunsi-l Avay | gdotll Ava [ x 5 ddl ay eunst dadl 2ugln
x f (2x) (f)
0 10 0 3+12+25+10 =50
1 25 1 3+12+25 =40
2 12 2 3+ 12 =15
3 3 3 3 =3
& 50
Be1s@ 7 : 500 ulGail-l MAs vuas [Qde D Yot 6. d udl ‘dl vileor v ‘Al ay’ usRAl >ugl-
(ARl sirual :
RS 2nas
@2 7) 25-30 | 30-35 | 35-40 | 40-45 | 45-50 | 50-55 | 55-60 | &4
:&?}? 30 80 100 50 150 80 10 500

500 @fscizill WRs 2uas eulagd RaRs Add 2wgR-Ad uld § 2 Al yedl ‘ol 200 UsiRg
Al sugR-Ade s adlHl Gled AulBign s Avlla A yaroy oiridl wsiy, 2l 9 3 T 25,000 2
iledl vias qAAdl s B Aell. & eulaal W2 uuH adol-l 2a: AHbig a-dl 2w qof) Gledf
Al adly af d-ll 2wgl Lra QA 2ud 8.

500 5wl Wy vhas salag ol i unyd Al 2ugf-[Raa

Gled Alsultrg ol el Al 2ugln
‘ol 206 WA 2nas

(802 3[R of
25 0 =0
30 0+ 30 =30
35 0+ 30 + 80 =110
40 0 + 30 + 80 + 100 =210
45 0 + 30 + 80 + 100 + 50 =260
50 0 + 30 + 80 + 100 + 50 + 150 =410
55 0 + 30 + 80 + 100 + 50 + 150 + 80 =490
60 0+ 30 + 80 + 100 + 50 + 150 + 80 + 10 =500

€35 o[-l 28 ALuligA i Avlla A yoror ‘ol ay’ usRq Al 2uqR-QAde ol as, 2080
Heddl T 60,000 Al ay 2uas yuddl @lsd el d ealaar e el qdfl Gleclilun A ugley aof-l
Rl adld 4f Al 2ugR g eafaani 21 9.
25
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500 ufsavii-l WRs wuas calag ol ay’ usi- A2l wugh-de

wy: Aulbg
5 ddl ay Wl ‘fl ay’ us- Audl sugh
was (8oR 3R
25 10 + 80 + 150 + 50 + 100 + 80 + 30 = 500
30 10 + 80 + 150 + 50 + 100 + 80 =470
35 10 + 80 + 150 + 50 +100 =390
40 10 + 80 + 150 + 50 =290
45 10 + 80 + 150 = 240
50 10 + 80 =90
55 10 =10
60 0 =0

Gersw 8 : 90 [Bau- anudnou eARui s widG gleani 3u-ll B wiog sug-{ddre 2 yoro

9. d uRel ‘ol wieor’ 24 ‘ol ay’

usR-U AUl vugR-[Aazel Hadl :

3l uid 1-50

51-100 | 101 -150]151-200 [201-250 | &

(Bal-l v 10

20 30 18 12 90

At 2u0d AARs Add WgR-AdRAA Rars Add 2ugR-Adeei 1A el euldl wsy :

3wl wia [Baul-l vl
0.5-50.5 10
50.5 - 100.5 20
100.5 - 150.5 30
150.5 - 200.5 18
200.5 - 250.5 12
& 920

GurAL Rars aoll yell A yorer “ofl 2090 i ‘ell ay’ usiRe, Al 2uqR-Ada Aadl wsiy.

90 [Bau el Sleaui 3x-l wid calag ol e usdg Avdl 2ughi-Ada

Bled Aflultigel 216l niat ‘ol 2le90’ usR- Al 2ugl
0.5 0 =0
50.5 0+ 10 =10
100.5 0+ 10 +20 =30
150.5 0 + 10 + 20 + 30 = 60
200.5 0+ 10 + 20 + 30 + 18 =78
250.5 0+ 10 +20 + 30 + 18 + 12 =90

LS, QWL 11
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90 [2an (M Sleani 3u-l wis ealag, ‘dl ay’ usdg Al 2ual-Aqe

2y dlulig 3 ddl ay wia ‘dl ay’ sl dadl 2ugl
0.5 12+18+30+20+10 =90
50.5 12 + 18 + 30 + 20 = 80
100.5 12 + 18 + 30 = 60
150.5 12 + 18 =30
200.5 12 =12
250.5 0 =0

Gergm 9 : 50 alSaviig ax-t (i) ol v’ dadl 2ugli-lAa@ni @zual - stesul

e 9.
Gled AlwulGigall ied
aope ([;u) < Al 2uglt
30 0
35 7
40 15
45 30
50 38
55 44
60 47
65 49
70 50

@ sedl aulsavilg axn 45 (3udl 2ieg ¢al ?
() $2dl alsavlg axr 50 (Bl 65 (Gaudl ad ¢l ?
i) 3 wugfi-ldae dAnal.

@ stes uell e ouy © 5, 30 Alsizilyg aw- 45 Baudl g s,

@) 65 Baudl g aw- yuadl alsdaxil-l A =49
50 (Bauefl 20§ axel yAadl @lsaai-l Avyl =38
50 ol 65 (B3urll a2 a- fuadl lseil Aval = 49 - 38 = 11
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(i) 50 @lscillg axq eulag 3y sugf-Rde A wd Aadl wsy :

aa- (@) Azl v (2uglv)
30 - 35 7-0 =17
35-40 15 - 7 = 8
40 - 45 30 - 15 =15
45-50 38 - 30 = 8
50 - 55 4 - 38 = 6
55 - 60 47 -4 = 3
60 - 65 49 - 47 = 2
65 - 70 50 - 49 = 1
& 50

Gewsal 10 : 1A uda ‘Al ay’ us-u Al sug-fad wed
(i) 40 3 ddl ay GHR uAddL AlZFil-Al v (i) 40 4 2] GHR wadl lFauil-dl v
bl (i) Yo vugf{dd@ aul.

GuR 4: AlW-
Big 3 adl ay 25 1 30| 35| 40| 45| 50| 5 |60 | 65| 70
df‘[}“":"n 00| 9 | 8| 70| 45| 25 | 14 6 1 0
Al suglt

@ 40 3 el ay GHR uRladl @l val = 70
() g4 29l = 100
GuR 40 ol el sl dvul = ga Alsazill — 40 3 aell ay GHR uRladl @lsdaai-l Avyl
=100 — 70 = 30
G A0 2ugR-Qde A yooe vl w4

Gz aol lFai el
gl
25-30 100 - 9% = 4
30-35 % - 8 = 9
35-40 87 - 70 = 17
40 - 45 70 - 45 = 25
45-50 45 - 25 = 2
50 - 55 25 - 14 = 1
55 - 60 14 - 6 = 8
60 - 65 6 - 1 = 5
65 -70 1 - 0 =1
s 100
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Add 2ugfa-da@sl 2a-u we-u ygu :

Al vaollsd AR uell Add 2ugR-Ad@A dUR sl avid AL AviAL FAL J2dls Hdldxil
Y1l {12 w9

(1) AP, AALDHUL Add dUgR-[Ademl aoif] vl vileginl 20edl 6 21 ayHi ay 15 Aviawnl 20 8.
[Afare Aolul 20l HURlA 2uaR 21 Rl vt qolf 4udg Add 2ugR-[Ade sl ws §.

(2) adlll vaun K o ealdly.

(3) el s WA @R (R) Anaami 2ud 8.

(AR R = vadls-l deau Bud — vadsd-dl agad Bud
(@) adldons ‘¢ Al Bud 58l s =R

c=%=c%rﬂuaaaﬂaAc[ll?;ud-isélm}%aﬂc-KZRauq.

(5) 2iaallsd Rl agdn stadlse-l Buda wuadl i d uHd e qof-l aof Al Aadl 219 AR
ope. ao-cotSa LR ousll adll-l aof il And), el adf-l adf Al 2ud4 wtadllyd Wl Hexn
adlsn AHadl Dy d . eirlaal 20 8. Ay AL adlliHl qoldons i vl 2ud 8. uig
R HURAA UAR ([AeUR) viot o A Sld AR URURA adldons Aviarl 20 8.

(6) 4R 2udR-[AdeidAL 4ol ey Bud i qol-l aofdons »uldl dlu R adf Aubig»l Anaal
H12 (1AL Yol Guylol Y B :

Aol wu: Al = wlud — 5 (@ldous)

N —=

adfd Gled Al = HeulBud + 5 (aldous)

N =

(7) Add R 2 At Ad Rars ol oAl 219 9. 4R vadd WURAAL QIR ot o
HA €ld AR a2 wRdARs adll oridardl A uRued 8.

(8) 2R Add dugR-[Ada vl Audl g stadl avid 2RaRs adllq Rairs adiful Faaml
1q 8.

(9) 2§ Add ugR-QAde wRl ‘ol o0 UsR Al dugR-QAde Aadar na adldl sy:
AulBigA ardl suaadl adfHl Qe Aulblg ddd @ a-ll sUugR yra safaanl 209 8, wuR ‘ol ay’ usil
Al 2l Heal adlHl Qe AuBign d-l udle aofl viu: Abig ddld as a-dl sugR gea ealaaml
1q 6.

A4 2lgd WRAL yell Add 2ugR-Ade dur saell Yo R oed Al adewl Fia-d
Rl GualaL iy 8. el.dl., 518 218 Adlsrid Hed 8 lu dl al Rl 3 ad( 0 - 1031 -y adl 3o R
8« ad 0- 1040 Qell-lsa iy &, asllsdl WSl wadlsrll UARY, adR A % 2id AlaRisdivill
AseSell vl wh 6.

Belsm 11 : 18 s -uuld su-l-u 250 Hdar-l G (Ad DA Rl v 8. d uell wr-L widsuday

Add 2ug[-[Ade Andl.
g16arll Gua-l -l welZnd 225 | 2715 | 325 | 375 | 25 | 4715
g16ar-l v Rugl f) 25 30 50 80 50 15

‘Aol GuR’ 2 Add A4 ©. dell Rars Add 2gR-[Ad®L silag [Baas 8.
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A 5@ He BHdl 9RAA dslad 59. adl C =5

ey odf w2 el Alu = 1 ulEHd - % (adldeus)

= 1
=225 -5
=225-25
=20

ney qof H2 Guel Ala= walud + % (aoldeus)

=225 + 7 (5
=22.5+2.5
=25
oo uEd adf 20-25 wd A d o W sudle il qofllwil Aadl asiu.
250 ydar-l GuR eulag Rurs udd vug-[Aq

daz-l Gu 20-25|25-30 |30-35 | 35-40 | 40-45]| 45-50 | &
g8az-l 2ivuy 25 30 50 80 50 15 250

GEwsBL 12 : 500 Wit 218 Yasui wriels wia el Avan Qe DA lRdl 1A © 4 wrell
AU Add vugl-[Qare Andl.

w1gls epel-i adf-l nealud 0.5 2.5 4.5 6.5 8.5
Wil Aqva (f) 380 100 12 6 2

Yalsell Wiel YR ol vl vl vudd A4 O,
& s[5 HBHdl a2l dslad 2 § aell adfdens ¢ = 2

ney, qof{l {ladl = vulud - % afdous

— 1
=05-7 @
=-0.5

ney, Ql Guefl AUl = HBud + % fdous

=05+ 1 ()
=05+1
=1.5

oo onud o — 0.5 ¢l 1.5 .

A % WHIA 21 9 A Wd Aad] wsy

wrigls sa-dl Avan | - 0.5-1.5(1.5-3.5(35-55|5.5-75[7.5-9.5| &
wHi-l Aqv () 380 100 12 6 2 500

GuRril s Add 2uqR-[AdeUA AMARS Add ugR-[AdRAUL Faql w2 24 BuligHl 0.5
GRRaAL A Gl AluBiguiedl 0.5 eue sl wAARS 2wgR-[AdeL A Yo 31a :
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Yaeiseil wengls el Avan salag xRS Add 2ugf-Rdw

QL Avuy 0-1 2-3 4-5 | 6-7 8-9 &
wini-l A 380 100 12 6 2 500

A4 : Rars ugR-[Aden wRARS g R-[Adel Fadl 1R F vadisn w8 BT GRauml
21d B au % Gled ALuligiiell oile Ml 209  d vAdls dUAE WRAA v A58l sami 209 8.

Bl 13 : AUNA wR-L R A As SAsgilsa-l gaqui goirerd Bau shq ddai Gusei-l
Ava A Yoot 9. SS s 2l 60 - 70 $lu dg s Add 2ug-{Adra Anal duy d wrd

(@ Al ay Gusel dwal gla da [Baildl qva sl
) Al ay Bau Zzai Guseld dum 2y ¢d d ywual.
54 58 52 73 51 39 46 6 49 53 75 34 57 68 51
44 34 40 8 8 8 36 8 6 58 4 6 T2 8 81
Bax el Quda Guswil dval & Add A4 8. Uig Ul e sdaml U & 3, s aof
60 - 70 €14 dd [RauRs Add 2ugR-[Adrel otriidl.
¥ q9f = Alel Al Bud (34) wuadl aof = 30 - 40
Beal aof = Alefl Al Bua (88) trtadl 4ol = 80 — 90

2AMNa WA gARuq $As2MsU gami ddd Guseldl v salag Mars Add 2ugR-Ada

dile Gusell-l v wugh Ria Baui-l Avar
(Rars o) 203l (f)

30-40 i 4
40 - 50 1 5
50 - 60 LTI 8
60-70 i 4
70 - 80 1l 3
80-90 M 6

& 30

@ Al ay 80 ol 90 Guswel dui U dal g4 6 [Badl 8.
) Al ay 8 Rau s(RuA 2dd Guswilg AR 50 ol 60 153l S,
Ge18M 14 : s [AeliHi M)l 5& 300 AlZaviuidl 30 AlZavil s el uie 53 du-dl Qg @A)
Anadi A g wkd ud © :

163 148 151 162 145 152 149 158 153 149
150 152 145 141 162 168 148 158 149 141
146 155 159 150 161 153 162 160 154 165

1
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@ 0 WRAA 6 i [Qeulxd 5 duy €35 adl-l nealZuqa alyl.
) ‘dl 20 usRy Al ugfifAara dnal.
i) $2an 25 Al G 155 Al 20l ¢ ?
(v) ‘dl ay’ usrd Audl rugf-{ddw Andl,
(v) Zedl clsavi-dl Glug 147 #fl 157 A 4= ¢ ?
@) alsadl Gaus 2 Add a4 9.

HRAH [QdIR R = 168-141

=27
qalfHl dval K = 6 (04 8.)

aldeus ¢ = % =45=5

300 alZdvil-u uygHidl uie ada 30 il
Glu @Al ealag Mars udd sugl-Adaa

@uti?hn) wgh Ra al[f:;’gn(;{;m weFud
140 - 145 I 2 142.5
145 - 150 N 8 147.5
150 - 155 T 8 152.5
155 - 160 m 4 157.5
160 - 165 M 6 162.5
165 - 170 I 2 167.5

& 30

() 300 Al uxeuidl g9 A urie s2a 30 @AlsiHl GRS salag ol e usiad, Al
2igR-[Ade 1A Yoo w4

Bled Alauleig ‘ol 2ieor’ usR-l A2l 2ugk

(L el Glas) G
140 0 = 0
145 0+2 = 2
150 0+2+8 = 10
155 0+2+8+8 = 18
160 0+2+8+8+4 = 22
165 0+2+8+8+4+6 = 28
170 0+2+8+8+4+6+2 = 30
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() GuR-L Sles wl e 8 ¥ 155 Alell 208l Glus wruadl 18 Al5ial 8.
wadl estadl = 2B x 100 = 60 %

(v) ‘dl ay’ usiRqd Al 2ugR-QAde A nu Andl wsy :

2 g 3 ddl ay Glus ‘ol ay’ usr-l A2l 2ugl
140 2+6+4+8+8+2 =30
145 2+6+4+8+8 =28
150 2+6+4+38 =20
155 2+6+4 =12
160 2+6 = 8
165 2 = 2
170 0 =0

) Gl 147 ol 157 Bl 922 Q1 ad)l sl ga dval aal w2 3o >ugR-AdRas wunul Avly.
147 3 oflon a3l 145 - 150 4l & ¥ 2ugR 8 B.
aue 12 4df (145 - 150 )l adfdeus 5 Qlu AR 2ugRL 8 wA.

ol (147 - 150)l adldons 3 1 2 2ugR 2 x 8 = 4.8 i,

150 - 1551 aoll 2ug[ 8 & 2 155 ol 157 - 4ol sug[ A nwd 2Rl wsy
oyl adfdeus 5 (155 - 160) AR 2udR 4

12 qdfdens 2 (155-157) AR g = 5 x4 = 1.6

147 ¢l 157 A QS taAdl alscaildl ga Al =4.8 + 8 + 1.6 = 14.4 =~ 14
A4 e Ay ARl urefl 147 2l 157 A+l a2 QiU Yladl @lsil-l ariddl s2dl 15
(520 MgH U 8§ i GUR WAL AT Sl 14 A5l WgH Ul 6. AL dSladd SR8 We 8 5 AR
g Rl aolls@ saunl 2ud 8 AR Yo R %owa d-l @atedl Bud-l Guylol w 8.
Bl 15 : vilasl 22s AsuA-arui Awdd) 40 ogEl %el su-dil-i 8-l Buani Bau sa@auq ada 525130
R Wl 8, el 21s ad(-l nealEud -1 x4 Rufia wideus 5 €lu dd 1A Add 2ugli-{Ad

H4ual :
-8 8 7 16 8 22 6 0 -7 5
3 -4 9 -1 1 16 9 -3 -1 2
5 -6 10 -6 13 -5 3 -7 12 0
7 6 2 -5 21 0 4 -10 4 -2
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SUAlL Al Bl adl $$1R 2 Udd 44 9.
HBud — 1 w4 Qfdeus ¢ = 5 Sl da

aofdfl flacll P =B -1 C

®

N =

= -1 -
=-3.5

A adfl Guell A =w.B. + 3 C

=—1+7 (5
=1.5
adl A a3 - 3.5 ol 1.5 Wy, ¥ MaRs §. A xRARs Qi 3adl -3.5+0.54 1.5 -0.5
=-34d1
8d e wqlsd WUl agdi Bud —11 A Hedd Bud 22 8. ddll d Budla 1l 3l
aolf Gur Andd adf wrel eiridl sy,
40 $u-lal-u -0 euani Adl §91R0 sulag WRARS Add 2waf-[Adre

-l Buaui adL §sRl | 29l Ra su-l-l v (f)
-13¢4l-9 1] 3
84 M 8
341 I 4

24l 6 M N 8
74 11 M 9
124l 16 M 6
17 4l 21 | 1
22 4l 26 | 1

& 40

Berse 16 : A vl Su-llui s e 24 s RS Adn FRunl) DA wad 8 d- dloy 2ugh-
[Qdraui gaial :

3000, 3500, 4200, 5600, 7500, 9100, 10600, 16200, 18100, 24000, 30000, 36000
3200, 3800, 5200, 7000, 8400, 9600, 12800, 17700, 22750, 24900, 34000, 40000
sl ‘URs dde’A Add A a3 @Sy, diey URdlAL [ R = 40000 — 3000 = 37000 ¥ 6l

o Wl & dell vt asfdeusay] sugRi-Adel eirlag ASH. el el il qoleens 2l wudl-
vyl Yl 55l 59 asiy.
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sudl-i 24 szl HRS ddn salad 2uq widousay] udd sugf-{Ada

sHudlg dan 3R R sl vl
ad gl (1)

3000 - 5000 M 5
5000 - 10000 M I 7
10000 - 20000 M 5
20000 - 25000 1l 3
25000 - 45000 (I 4
& 24

A4 : 2 GuR oi-ida a0l Raari aolf yag sugR-Ade asy 8,
Gewsw 17 : QA 2wl 2ugh-[Ade wrdl Yo sugl{ade dnal :

@ il 24-29 | 24-34 [24-39 [24-44 [24-49 |24-54 |24-59 | 24-64
dadl sugln| 3 12 30 55 78 88 95 100
(i) il 10-90 | 20-90 [30-90 |40-90 [50-90 |[60-90 [70-90 | 80-90
dadl sugln| 200 180 140 90 55 30 8 3
@ ol ell 200 UsRy Al 2ugR-[AdR0L UG V. drll {2 3o ugR-[Ada A Yo Aadl wsiy
a2l Al 2ugl 2ugl ()
24-29 3 3
29-34 12 2-3=9
34 -39 30 30 - 12 =18
39 - 44 55 55 —30 =25
44 - 49 78 78 -5 =23
49 - 54 88 88 — 78 =10
54 -59 95 95 — 88 = 7
59 - 64 100 100 - 95 = 5
& 100
35
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G Al ay usRrg A 2udR-[AdeL 200G V. a-iL uRdl 3 ugfi-Ade A Yoo Aad) wsiy

aail ‘ol ay’ usir-l Al 2ugf wal (f)

10- 20 200 200 — 180 = 20

20-30 180 180 — 140 = 40

30- 40 140 140 — 90 = 50

40- 50 %0 %0 - 55 =35

50 - 60 55 5 - 30 =25

60 - 70 30 30 - 8§=2

70 - 80 8 8 - 3= 5

80 — 90 3 =3

& 200

Y 2.1
1. 5 [BRdiRML el 50 gelul cundiedl dval 243 {A-] 3R w8 & d wrdll qwy ugR-Adre A :

1 1 2 1 1 1 1 2 1 0
0 2 2 0 3 3 2 1 2 1
2 1 3 1 1 2 2 2 1 2
3 0 3 0 2 1 2 2 2 2
0 1 2 2 2 2 3 3 2 1

2. s WBAAL A sl 60 ST yau adsy GuR A wHd Alaanl vidl 8. 2 HuRdL yrell
Qldells 5 ada wWgR-RAd@ dar s\ :
2 4 48 35 23 58 52 38 36 4 48 39
24 27 29 32 34 41 45 51 30 4 45 44
52 38 4 31 25 38 3 34 37 5 25 56
2 39 32 35 42 26 4 &£ 5 28 43 33
31 4 43 53 43 39 27 54 21 47 2% 40

3. Hleudd oi-iadl wls Su-lal Sedl 60 Barul Galtd s Heudardl vy A Wl 8. an 10 adifx
QdRd s :
699 380 625 653 452 763 385 959 485 970
749 595 1029 500 499 453 525 621 465 565
188 78 276 1060 760 355 645 715 85 235
300 399 530 540 695 999 849 550 720 430
752 389 1075 701 875 552 351 265 199 370
1025 825 783 225 603 553 503 663 385 465
2 gR-[Ade uedl ‘el et Axy ‘ol Ay’ UsiRg ugR-[Adw si-ual.
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4. (A 20 2ugR-[Adw w2 s Aol adfldeus duy uaBud A, [Qde av :

o 0-99 | 100 - 299300 - 499|500 - 749|750 - 899|900 - 999
2ugh 10 12 14 16 8 10
5. 2 2a A2l sug-Qde e ‘ol el win ‘Al ay’ dudl 2ugR-lAdel Aad

wrigls aal-l dva 0 1 2 3
wiri+ll 2{va 140 110 120 30

6. 1 2u0ell Wl well AR Add 2ugR-[AdRe Aaal :

wy: fultig s flay | 445 [ 495 | 545 | 595 | 645 | 69.5 | 745 79.5
Al 2ugla 500 | 470 | 390 | 200 | 240 | %0 10 0

7. 1A 204 R wel Rars Add sugR-Qdra Aaa :

aggnt 4\ g ((Zaw) 30 35 40 45 | 50 55 60 | 6 | 70
dadl 2ugl 0 17 25 40 | 48 54 57 | 59 | 60

8. |neulZudl 25 105 230 400 650 900 cl
2ugf 10 30 40 60 80 30 250
adldous 50 110 140 200 300 200

Y 2ugR-Adel Audl.

9. ay e wdwl wdd Asvud- vl A Yoot § d wreHll RARS Add 2ugR-[Adw@ Andl.

wsRa-l v 115 [21.5 |31.5[41.5]|51.5 | &
yeulfud
(2aul 160 | 120 | 43 | 40 | 2 | 365

10. {12 »ula 2ugR-Adel adf vl well adf fulbigrl Aadl 2uqR-[Ada @il

a9 1-1.475(1.5-1.975(2-2.475|2.5-2.975(3-3.475|3.5-3.975 | &
2ugft 5 10 20 20 10 5 70

2.2.2 JRueis W] aslls2@ (Classification of Qualitative Data)
RS HURAIAL wadlslA adflsel Hierl AulRd el AgAIR SIR 21 leinl dsaarrdl uglan
gancais WG s 58 8. auais allsd WRAA ARUL 27 2uss Ad Y saL AR
H(8clld, adllsel sl U © A dn AL . SRS gL YRL AL 3 ., AR Ad 21
ol & usR ® : (1) wg adllse () siglan ses
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2.2.2.1 Wg adflsw (Simple Classification)

2L UL sl @uriul Rl 21s o YAl el Al 20 B, eld., SIS s Glrsell
AN Qurl Qe vgAR AR, sa1S, vt RsARE adRul Reulyd s9 asy.
Gerswl 18 : uHeie Brecurl A6 As assidl oi-s-Nl QRN arvuni s 200 SUHL BiadL U
Yool HRA uefl. oivsui ga 20 RSARA sid), 30 w2, 40 scus 21 8 HAYR dl. 2
R adllsaqd sesui saldl.

A WRAML sHuAL sl e 2L 2L qawL 8.
ugte Brecurl agsdl oies-ll [QRY weuri sl e calag ses

sl e syl Ava
RuslR4 20
TEICT N 30
seLs 40
o2 8
& 98

2.2.2.2 tigla4 sles (Manifold Classification)

HURdlrL U S50l VAL Mg sl Ay, YA, eunni vl WRdl ad(ls@ sal 2ud 8.

2L uslRAL ao(ls@in oAy stesl @i sl 20 8.

GerseL 19 : vueiae Brearll As assidl sivsNl QRY wvnd-u syadzl QA 2eua RdL A0 wgu
ugy 3 sadlziiui 20 RusRA s st 2 dui 6 3l sl sdl. 30 w2l 10 Ai
sl 2w 40 scusuidl 25 vl ¢l 2 8 AAxAuidl 3 A2 edl.

L R ulou sles gL 1 4.
A HRAML & el & ¢ @) s e3A A (i) sHARAL . A 2waR 200 HRdl
(A ndl aoflsew 53 wasy :

nuerae Breal agsdl ool QRY arvnadai sl g2 aldar salag ses

onld
sHAlL e &
YN 2|

RsalRA 14 6 20
VELETLN 20 10 30
seLs 15 25 40
AR 5 3 8

& 54 44 98

Ay ] ol (el vadul sufda Budl srvarll iui 2udel 2R A Radl Bad wdl
sddlell Aadl as 9.
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Be1sm 20 : vuers Freardl 21s asHdl oirs-l QY wvuvi- s30A QA 200U sl AN WGH us
3, 20 RsyRA sndluidl 7 yul wReld sdi 27 dui 6 @2l WA 4 22 uRelld gdl. v
adls s s g& 20 yiaidl 12 Yl uRAAl gd, FaR 10 2 w2 2uRelld edl. 40 sas
sHulvinidl 25 Aol edl 2 duidl 12 A2 uRelq gdl. s 7 y3n sas Reld gan. g4
8 ddorAuidl 3 2l ¢dl B awn R sdl. Fu? 5 ulEela yul WAxR dl
2 R uloy 2azuni ollsdl.

A Jaucis HURAML oy AR Rl @ :
(1) sl A (2) sl 2l (3) s dalRs e, A 2wl WRAA A wd

Q(lsd 3 wsiy :

vl Breandl aesdl cirsl QR avulai sHudA e Aldar
uRela/xuReld sHadl ealag sles

onld
sHdl-l &
YN |

2% uRela uRelld | g4 [2uReld | ulRelld [ s | 2uRBid | uRella | g4
RyRa [ 7 7 14 2 4 6 9 11 20
w2l 8 12 20 10 0 10 18 12 30
58 8 7 15 13 12 25 21 19 40
W 0 5 5 3 0 3 3 5 8
& 23 31 54 | 28 16 44 51 47 98

“Alt s 2] olles 2181 @l Budl sl 544l 20 © iR oudl-l Fudl Atel danl/cngouslel
Aadl asiy 9. el.d., RsyRIAUL ga 20 sy S auiell 6 Al 8. adl Y-l AvuL 20 - 6 = 14 U,
RYRE adly s emadl 6 dla0uiall 4 Al uRelld 8. dell 2uRelld Al vl 6 - 4 = 2 Y.
RYRA adly s adl 14 yuuiedl 7 yau uRella o dll »ruRelld yl dvyl 14 - 7 = 7 wu.
RsyRE adld s omadl §d 2URRAAL 7 + 2 = 9 &y 3 8 WRL{AL 7 + 4 = 11 A 24 1L olAAL AN
9+ 11 =20 A, ¥ §a R5YRI a3 53 oiadl sHA-AL Al suld 8. 1% W oudl-l sHudsi
Hie diddl s3 s,

2.3 s5-A-UAL USR A d-ll Gualdll (Types of Tabulation and its uses)

Aerics WRAL 3 Ructs R adflsal Qw0 A58l sul oie qdllsd wRAlA sres-u 3l
Al 2Ud . Avaels HRA wed wg Ses A dd 2wgR-Ad & 2 Rad R 2uqR-
Qaren B4 S1es 58 B Fel AHIAA UYL HEURASHHL Y],
sles-2-u-n Gualal

(1) 2u0e [Qgd R alad, A 2 ¥ {d 9 s30 Wi 8.

(2) F-d 2ACAR HE AW S50+l %33 HilRdlHL o GualaL Al elalefl uU, Ws v ARl ol Wy B,

(3) stes-aUHl ¥ MR Aviell s2al &l d WA WA 20saal-l dlaell weuHel qnqiel s3
AU 9.

(4) stes-aUMl ¢k wA/2ual Aol HRAHL Budidl Ao saul dlael vilRdlql asliswini
WS 49 QY ARl A od ddausell yadl asu 9.

(5) Stes-udl WRdleg [QsAmel saMl AL AL Yol 8 8.
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2.3.1 sles-a-u-t Wwelsds Rudl (Guiding rules for Tabulation)
stes well el [Qordln ay tefysl Ad 9 530 dril uedl oz Rl wtdiell diell asid d e

seals AUy R A Yooy 6 -

(1) sresq doy s €lg ASA.

(2) stesdl adl 1R A L A e A d Qlal ASA.

(3) A iis3l Hlal §1d dl dn AL, eANMR, a3 sA34 slaal ASA.

(4) SresHl uRUR oly saladl HRAL wawd Al d ydell el ASA ¥ el dd, RzdnL Al
s3A YRRA dRrdl as.

(5) yeu daadl el W d sufaal w2 Yoy dldail el s,

(6) Hyu 1A dl@ el suladi vyl AL vl €lal A,

(7) Sresa vid HRdlHL Aldrl Gedul sl ASA.

(8) W Sles tiriladl uddl 513 Slws eirlag A,

©) ueud dd gedl wRdl s euldlA deel avunel, owRidil v [QsAuel A 64 yig Ay,
Wl R A5 safacqn oied el gel Aesl gl suladl A,

S uR ARULs HURAlA 9 sl Wi %El gel Alsavil el gel slesl onldl 43 © uig Ay dd

WRAHAL adffsei-l &gl yld 52 dal Sresa Ay Sles sdal 8. AAsRHL AR sl ay el auadl
Rl L aallsd sal 20d © uig vl vieiRsu-l wulerl A 21 il vuadl wldld aslls
sy®.

Gelsm 21 : A5 YRARAN vie 5201 50,000 Rendlil YA 35 % [Qenedlil s wvudi, 30 % wued

WAL, 20 % WA WL, 10 % AFRARL 24 sudli 5 % [Qenefl2ll ARsa wenui 6.
ST UL L5AB 247 9L53i] L 4:3 . 2wz wvunl 915N v sisAIAL v
53l otnell 69, - vund sisAAA Ava 60 % 9, s ABRRL wvuni 70 % s
8. ARsa wenni isA i isai-Al Avar A 6.
UL WA uldu shesui 219 s

wdl & el § @ (1) vewn Wl (2) Qene2-l Al

SRl el ge Renalf>l = 50000 x 2 = 17500

Al lsu-AL AvaL = 222 x 17500 = 10000

Al sl Avul = 4+3 x 17500 = 7500

123 et g Renelfod = 50000 x 2% = 15000

Adl e9LsTall-l vl 95BNl vl sl ongll 6.

o 95Ul Aval x U ol sl AvalL 2x LA,

AN x + 2x = 15000 Y.

+. x = 5000

o UL elsAXAL AvaL = 5000 w1 9150 AvdL = 10000 2.

A Wil ge Rendll>) = 50000 x 22 = 10000

Adl eLsu-{l vyl = 10000 x % = 6000
s aHl Ol Avdl = 10000 — 6000 = 4000
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AR Reudl>1l ga dvan = 50000 x 1% = 5000
QL L5+l et vl = 5000 x 2

Qi sl gat vl = 5000 x 2

100

100

100

ARse Wi 56 Rendl>) = 50000 x 2~ = 2500

100

Qul s dvaL = B0 _ 1050

2

2, QUi 91592 v = LZOO = 1250

yRaRAAL 50000 [Qensll»0-) [Qenouvn siqu [Qendl=-) aald ealad ses

[Qensfl-]l nla

Renaw sl sl S
SHA 10,000 7500 17500
w2 5000 10,000 15,000
AW 6000 4000 10,000

Al RaRa 3500 1500 5000

ARsa 1250 1250 2500
ol 25,750 24,250 50,000

BELsR\L 22 : s WL UKL F4 80 AZAL AIS Sell 247 M UIRAA T 300 A £l U2 Ygoul Sl
60 [Qenell24l WA €33 souni T 325 Ysaul el 24 [Raisl wAdl «@ldl ay 254 100 U2 Qarmi 2udl
Sdl. Heela 215 10 Y-l el 241 dn-ll WA A6 ya 10l bl A eddl. nwAUi 54 20 %
il ¢dl duigl 2 22l REs edl. 20 wldld Qloy slesui 9 4.

Rl opetaael (1) Harll 2 (2) ald 8
AR §6 $L00 = 80 x 300 = 24000
Al [QenellzAl-l 10 = 60 x 325 = 19500
Heer(lal 2215 1 = 0

(a8l sl = 24000 — 19500 = 4500

o Ras s 5100 = % = 450
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2.4 wuglduil (Diagrams)

visstenani suglag wera—nalel :

Qe wiA e WA vl A wsiy Aux a susds dd 9 sa1 W adllsd s3a wRda
Ul 5 2100 gL sulaqiui wud 8. 2uuBL edRISHHL gl o lael 21y a-dl 2l s{g.
25l gL AURAAL 3ou ARl 2wdlaiy e oA d Ad Rl |ud ww 8. eld., @lkat wr
gair 2490l 2uoudl [AfQa wsiR-l 2l gl adl Qi 8. d fd saril 3 sl el gel sl dall,
Quidl el 43R Al s sl @odl WAL wdaid ARy usta-dal sl gL 7 52 8.

Herd 2Lyl Herd ddl A ouda Gualodell we wy 8 ¢

(1) 2us0Q g 29 s3ell WRL 2usfs 2A Alul o 8.

2) WRA claBisavll dion axy Y4l we W O,

(3) A ¥ ay uye-ll Rdl-u nueei gl elraril 20d dl d sugldxd well wadel ga-icis

oy 4 ud O,

@ A ey 2ugfl 2% 53U QU dl dril veuwRAl AHU-l sad Wy .

(5) 2uslaxll g MR eulaauell o, vl HAG @fsavll A3y cuosl gL Rl wa 2

WAl W1 uF ©.

(6) AUR-AURIEYAL AAUL ULg[QAAL Guloell AR5 ALUAAL oi-ldll sty 6.

(7 Aeulys YRl e suglzi-l weed el ouodl aaqaiEl we 530 wsy 8.

(8) 2iL4(AvA ey siud A glauell el el ewnu-l eulsvll urL vugld wel we ag sy dia

qadl a3 9.

el :

(1) 2usQ Q2axl AsAS A il 2Ud dL d AR R 8.

(2) tfearun sRA gl disriqun adl un o,

(3) 2gla gL ulRdlA eufaqmi 20ud & AR, Qi R A5 20l wy 8.

2.4.1 2uld-n U2l (Types of Diagrams)

BUglArL Youcd AR USIRA © ¢
(1) Al 2usla

2 [l 2ugla

(3) Rougla

2.4.2 2l 2u4ld (One Dimensional Diagram)

R U0l Rl 516 218 % JReaR LAl 4 gl el 2Ud 8 AR dn sl 2ugld
58 6. A5l 0l 2uud (AL AR 2wyl vieqn A :
(1) deusla
(2) WAL et suladl deusla
(3) el [Qeua deugld
@) 2519l [Qeul¥d deugld
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2.4.2.3 WEl [Aeulrd deusld (Simple divided Bar Diagram)

Ay 2w, agal 3 auy R 2uldl ARl urRr Aeifd Qei-uledlA suglanl eufaal e
adotglan Qe HRAL 1 [Qeul¥d sdl ¥ 2igld 1A dn WEl Qe dougld 58 8. €l.d., S 28
3ol anRals 12 v, susl, ¢, Andl 208 YRRl vl {8l 20hdl S1d dl e w w2l 2s
ot ol A el gel RAsell Qau vl WA o o deugldal eufadni 2ud dl an el [Qeulyd
oyl 58 8. sal, 2R g MRl 2u0ell €ld AR A Wlddl el %el Vawfaeudl 9 sal [Qeulyd
deiglarl Gudlo ad .

Gers@l 27 : s AdRHI Wl 6 gZelll HRs vl wWRA HA uxel 8. d4 dloy 2ugld g1 ealdl.

wlis wad (7) wlas [ osud | Rae | dada| e [ w | ga
§0A 8100 | 2700 | 2880 | 1800 | 1620 | 900 | 18,000
0B 7000 | 2000 | 2000 | 3000 | 4000 | 2000 | 20,000

&30t RS vl el el [ 2uglal eufaall Qlaell AlEl Qeulyd deugld Oy, d- e
X8 YR 5301 A il B 410y {dR ealdly duy y-a uR v dou 3 a3 eufddl (1A i Qeuld
deigla 4 wswy

ga vl et Qal ugdl [Rotdnl WA safadl @Qeuo sl i A 3w aell udvwul salaari

219 ¢ :
§u A 0 B
([@aq v [Qeulra rn v ([Qeulra u
vl 8100  |18000 — 8100 =9900| 7000 | 20000 — 7000 = 13000
PUR] 2700 | 9900 — 2700 = 7200 | 2000 | 13000 — 2000 = 11000
Ruaw 2880 | 7200 — 2880 = 4320 | 2000 11000 — 2000 = 9000
CLRTE] 1800 | 4320 — 1800 = 2520 [ 3000 9000 — 3000 = 6000
TR 1620 2520 — 1620 = 900 4000 6000 — 4000 = 2000
vy 900 - 2000 -
) 18,000 - 20,000 -
47
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2.4.3.1 agn »u4ld (Circle Diagram)

sl Wl vor o W €1y A & 3l ay eueidl R argil, N § Ay, -l WA
sl Sl R L (Al Gualal sami 2Ud 8. 2L uglaul dgel g adudl Axsu ddld eulqqi
2d 8. drgrll w2l = adud axsn = 12

Ui m = 3.14 2adl 22 2 r A adadll B 8.

815 wal adag Axsa a-ll Bl 4o Wil i 8 el adn 2usld €kal W2 4ol w4l
HURdLH) Avaicis Budly adolyn slaaii 20d 8 w1 d adlya-l vl Bosul dad 218 A1) Wi u ada-
SvalBig U dal A AL Aol AU idR Al 3 GldRdl $HHUL UM U . FUR AUl A&HL
HURdl 20l €1y AR 2l 1Y WD o ada SRl 2ud 8. A adadl Berul Wl &l dl dA S
2495 A ool vaal Bl Bl il Sl dL 1S 2anls @ el adousld elami 2ud 9.

Gewse 30 : s 2Ny suui A al eARu wda Gane A Yo 8, d adougld girL 9 4:A

ay Gaug (Asuui)
2013 3,60,000
2014 4,90,000
2015 6,40,000

206l Wl Araues o HEl S aell dd adfya @S dadl qvaud 250 a3 eudll agda-ll Brasu 55l
s34.

ay Gaug (Asuui) iy R = adlyn250
2013 3,60,000 600 2.4

2014 4,90,000 700 2.8

2015 6,40,000 800

2013 2014 2015
2.4.3.2 qdia »u4ld (Pie-diagram)

FUR SIS arg, N 3 wHU A+l L2l dvaics dd WEL €lu AR dn [Qeulrd dewglardl aow
qetial 2u4(Q gL cufaqril >0 8. 2 2uglaul g WRdl eulaq e dloy wudl Besu a8 sis ada elraumi
209 & A AR e Wi V2uQeudA qianl ealqarii 20d 8. suglanl go wRdl-u 360° Atari »ud
8 27 A 204 4As VauQeuatl RN 2093w gdia-l vin Dl A adn YR 1 sl 2ud .
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Y 2.3

S vs ayf e As1RAL el el Rewodal sid sl sl qvan 1A Yoo 9. dA doy
gl ealdl.

[Qeua ol yRaed | Rad s | el viig | 2ila-u

sl v 4000 6000 3000 2500 1500
A Ag Syl alllls 8l A oo 8, dl an 4oy vuglaal suldl.

ay 2010 2011 | 2012 2013 2014 2015

A5l (5303) 10 5 -2 4 8 6
Hous A01MAL Ui SU-l2AlAL QU eild YeR [Ranl vldudul A 36t gdl, dl A dlod 2150 gl
galfdl :

$u-l A B C D E

ARl ojuea () 40 20 | 100 | 80 30

15 Baat sue d o AR+l siveud (%) 60 30 [ 150 | 60 10

S5 s aff yix gl w=e A ygel AR A 1A B, dl dn Doy ugld gl 7 s

2u AR5 AU | GURd o] Y3

YrHER 16.5 20.8 34.2 16.4 15.2

YYeR 10.2 12.2 20.4 10.3 12.0
A1 & -1 QR VL &[5l G QA A WAl R 1A 8, dl dn Yoy gl
glAL % S

GHR 1541 2Aedl [ 1591 35 | 359l 60 | 601 ay
(uns) [ (gawn) | (aws) | (as) &
[Qza2 A 480 360 240 120 1200
(212 B 350 250 200 200 1000

greidl Ao SHL 2l HRAA sl Qe deusld gL saldl.

s otriladl Su-la A gy eRUiA 53 Gewted A Yoo B, A ada sugld gL % s

el el BRsWH Asani Qe Rl asadl A yoror 8, 0 AR gdist 2uslaell suld.

ay 2012 2013 2014
s Gewg 25,600 | 1,02,400 | 1,60,000
2RAsua P|Q|R|S|&
quarlesnadl |25 [ 23 [ 24| 28 | 100
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9. 12 2dat WA Ryl eald :

oy 2010 2011 2012 2013 2014
53 Gewig
1,00,000 | 1,50,000 | 2,50,000 | 1,50,000 | 75,000
Baluw)
10. lorofl-u ol eiritadl & elldl su-dl-l Gaue 2iisdt 1A Yoo ©. dd Reuglaui 9 5.
ay dlong Gane- (A sHu)
sl A sull B
2012 50 100
2013 100 150
2014 175 200
2015 200 200
N
- ( uaria ) N

Mlud Al a2 S8 Alssy Bardl o 2@ 531 wsdl Add viAdd A 58 8.
MlRd Al a2 S8 ua Bud e 530 asdl 24 Add A 58 8.
w(lgd WA AR 17 2aRad Ad 2Nsaadl Bud adllse 58 8.
Yl Yeunil Yrilade eafadl Avan d aa-i yedll sughi 58 8.
wAdd G-l (AR 2y el 23U 2ugRL gL saladl Sles viadd 2ugRi-[Ade s 8.
(g WA Al Yeunil adll vgAR 2ugR eulddl Sles Add sugR-fAd 58 8.
R BAdd Al UL (AR W2l €1y AR d R vRARS Add dugR-AdE@ gl
euld] asiy ©.
o -l Anelldl Bud ¥ adll 2ugR 2 -l 2wl ofl o Budl 3 aoill gl Raoun
Al U9 5 B A Al [AdwiA Al 2ugR-[Ade 58 S,
AUl 2uqR-AdRA oirladl quid WRaRs A Rars il Fadul 2ud 8.
Mars Add sugR-Qd@ul aof drul 2t aof dPuligl wx da 8.
R g WRAA [QRdR ot % WAl &ld dl dd w2 R aldeusay] sugR-
[Adrel Anqai »ud 8.
llgd WRAA AW A % 2usds Ad 7 5L AW gl eafad 8.
sl susRul UL 3s o (a2l Al 2usld Raml »ud 8.
wedl-i vs daan saladl w2 deisld dur s sdl ay qaan eafadl W2 WAWRAAL
adeflalll deugladl Gualal sl 20d 8.
o 5d WRA-L ALY cwdlA el eafadl 12 [Qeuld deusd dxy Al aRvrel s
e estadl [Qeud adeugladl Gudlol sauul »ud .
o R g R Avauicus Ad W €ld AR A gdin 2usld gL eafaqri 2ud 8. qdia
25l Gudlar [Qaua -l uvunel saL we wy 8.
o Rl Roucts 1Pudd Rousa 58 8. y
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ALY 2

A 2l oiglasey us w2 A [Qseudl wriedll s :

1. 1Al A4 s A vAdd B ?
(a) alsa-ll Glaus (b) dxgd ax-
(c) Nsl-d Axs (d) &Eugls oundl-l vyl
2. A UL Add 4 5D D ?
(@) YasHl wedls epa-l qval (b) 5L Geulg~t+l vy
(c) 3 AL vsBdudsl Aval @) alsa-dl wRs suas
3. axgrll 2 aio @ 2ua wadllyd R adllyd saul fdd g s8 & ?
(@) daucis Uil aslsw@ (b) Avalets MRl aolls@
() dadllgd asllsel @ oy adlsw@
4. S s [ARARMUL W¥cl AlSlel AaY A AUl 2ed QA 200 HRAlA qdllsd sl Ad
gs887?
(a) Sles-A~ (b) Avulis HilRdlg [Qdel
(¢) »adllsd Qdw (d) udd gl [Qd@
5. Add sugR-RAdraul adfHl adldons 2led g ?
(@) A s@s vu: AuBgl uvAA
() adfl @kl U3l
(¢) -l Qe Al A w8 AuBig2l a2l dslad
(@ adfHl Qe Ay v 28 AluUBig-l w3041
6. 58 s wllsd WRAAL [QdIR 55 8 i dn &9 wHA ad] doudar adlfHl [Qeulsd sall
€l dl adldeiss Seell iy ?
(a) 10 ® 9 (c) 9.17 (d 10.17
7.  d[Rars adlf 10-19.5, 20-29.5, 30-39.5 ®, dl ofle ad(l RaRs Al 58 2 ?
(@) 19.5-29.5 (b) 19.75-29.75 (c) 20-30 (d 19-29
8. s wudd Ad-l Budl 0, 1, 2, 3, 4 ue-l 2wqR2D xugsH 2, 4, 6, 8, 14 8, dl A~ Bud
29 2ig3u ‘ol ay’ dudl sugR dedl wy ?
(a) 28 () 12 (c) 34 @ 6
9. Udd A4 HR-U P 0-9,10-19, 20-29, 30-39 & 21 a-l »ug[ 2ugs3 10, 20, 40, 108,
dl ABullg 29.57 g3y ‘el 206l Al 2uq@ edl Y ?
(a) 30 (b) 50 (c) 70 (d) 80
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10.

11.

12.

13.

14.

15.

s Add HURd 2= aolf 1-1.95,2-2.95,3-3.95,4-4.95,5-5.958, dl 6llon o] 214:
Al 3ol iy ?

(a) 1995 ®) 2 (c) 2.975 (d) 1975

puglavdl W2 AL U4l sui Qawdl i @ ?

Qa1 : Qaun A ¥R AR w24 2usls {d 2% sal Ad Hed wugf.

[Qeunt 2 : Rl You dagl 2wy e o d Ad-dl 2ud 2ed 2ugld.

Qe 3 ¢ R daiials seur e sdl id 2l2d gl

(@) &5d [Quq 1 w3y (b) $5d [Quid 2 27 3 ARl

(c) A 1, 2 2 3 Al (@) 9 [Qan vl

A5 Add HRA H2- 9o 0-99, 100 - 199, 200 - 299, 300 - 399, 400 - 499 9, dl 6flog (-]
W3y sedl a ?

(a) 149.5 (b) 150 (c) 199.5 (d) 99.5

A5 A sudlil s sl s e, N dHr ARs e ealddl sesa g sda ?
(a) g s (b) Arvuiis Rl adlls@

(c) wRa asflswl (d) WE Sres

lgd WRAA V2puldl-l i W2 56§ 2ugld Gudlall & ?

(a) wel deugla (b) [Acul¥d deugld

(€) WAL deugld (@ Rougla

lgd M0 WaruRdl-l urvuugll e 5§ sugld Gualell & ?

(a) Rougla (b) duia gl

(c) wel [Qeulxd eyl (@) [Qeul¥d deugld

AL ualAL A QsUHL FNsL AL

A AR ol S

— e e
B o KBRS

Add Al AUl .

Add Al @yl ).

aols@ 2d g ?

SRR ETRTETR T

AdL Yeurll vigRl epvul 2.

o[l asfdous i ARAA Qe 2ha §ly R adil-l vyl uail {dd avil,
A QldouSaly vigR-Ade s4R si-iad AsH ?

Al iRl e »ud).

wAdd 2gR-AdRL e ofl 2o UsiRg Al 2ugR-AdRR evdRd s
Add 2ugR-Adw we ‘el ay’ usrd Adl 2wqR-[Ade ard s30.

.l HeEud lydlr Yot Rl

Sres-u-l ey w4,

. 68y Sesn IR S

34l slesn A% RS s& 9 7
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15. ARl aoflsei-l Yoy AS1El g & ?

16, wlisduRotrl od UL sl Yoo Gea g & ?
17.  ugRpl-Al 3SR wRUAL.

18, WRWAL el 2ugld sAR elRaml 2ud ® ?
19. [Acul¥d deugld saR Qi 2ud © ?

20. 251l QeUlrd deugla-dl yuu Gial audl.

A wardi- s 2uul :

1. oucis HURL 2 vyt uURAl] eyl Ul

2. Add 2WgR-QAdelAl vyl Gelsl AlRd 2w,

3. Add 2ugR-lQdeddl euvul Gelsel uldd L.

4. [Rars Add wgR-QAdar el 3yl

5. MARs Add wUgR-[Qderll evyl wudl.

6. AARSs Add >ugR-[AdRdl adlflsu uRefl adf AlEgr Waal-l Yol audl.
7. 12 wRudd vugR-[Adei qollHl HalEudl amudl.

adf 0-9 | 10-24 [25-49]50-7475 - 100
augl | 10 20 30 20 10

8. Gw omudd sugR-QAderl s adfHl acledous ansudl :
9. lla 2u0d 2ugR-[AdeL W ‘el e usRRy Al ugR-[AdwL sild) :

wdis | 10 [ 20 [ 30 | 40 | 50
auaf | 10 [ 30 | 30 | 20 | 10

10. s axgrl didn AR, 1A 2 el A3 AR [Qewslil Qeud sami 21d 8. s a-L
oY AU HGH U ¥ 22 vislBul eARUIA HidL 1w ool sUR 18 visal3ul efuix
axgrll yioL 2l ecdl. 21 R slesul 9 2.

11. 02 2u0a stesl yld s :
R A Jauy B 2l

¢

N ol [ demm2 | g4 | dawmml [ dawm2 [ sa | lewmt|danm2 | g4

2014 200 300 100 200

2015 400 150 300 300

12. [RAR$ ddd §WgR-QAdW A RARS Add 2UGR-[AdREL 42l dglad »uud.
13, sugla-dl wufell o,

14. sl 2l 21ed g ? del -l 2.

15. (gl 2ugfqall @A gsul amudl.

60

V532, WA 11



16. 1 20l WA eleusldal euld :

1

v ay 2011 | 2012 | 2013 | 2014 | 2015
Gawgn (53 7) 35 | 42 | 58 | 7.4 | 102

)
[Qenauvn [Qruq o | Qe | Srddl | nu
(Qenefll-l vy 5900 | 10200 | 6000 4500 | 8000

AL UL FUs 20N

Sl A o

10.

11.

12.

13.

Ais3NRAAAL e adlfseil 3RUd 2w $18A § ?
Avalcts HURdly aollswl Ylou Gelew AlRd uHAAl.
gaucts MUl aslfswl Yoy Gelea AlRd Ao,
AUl 2ugR-[adw QL 35 -y duil,
Add 2ugR-QAddl L WL Yl 3.
Sles-l 32d g ? a-l Gualol dvil,
sles-ur-L Wdleels Myy audl.
A 2u0e sug-Rdre wrell 3o 2ugf-Adw Aadl :

yy(Zud

250

350 | 450

550

650

750 | gt

g

20

80 | 80

40

60

20 | 300

215 GUEAAUL S14 52l 40 SN 60 % w120 8l 27 GiLslL 40 % YA sal. 50 % Y™
uRelld sdl. R UReld 247 wiuRed 2{l2lg uHRL 5:3 gg. 2 HRLA Yoy sesui saldl.

100 sHelRA WRAS 2uas QA 1A R 20dell § A uell 3y 2ugR-Adw R 2.

Ry dent ol 2ieg’ | 2400

2900

3400 | 3900 | 4400

4900

5400

5900

6400

sueRl vy

0

3

12 | 30 | 55

78

88

95

100

A1 s udlannl 200 [QeuelA gl WRd 42 wud & d-u uell 3o 2wgR-RAdw Aadl.

g

10 - 100

20-100

30 - 100

40 - 10050 - 100

60 - 100

70 - 100

80 - 100

90 - 100

(Qeneflal

200

180

140

90

55

30

8

2

1

1A 2004

2ugR-Adel vl ya 2ugR-Ada Aadl.

yey(Zyd

12.5

17.5(22.5 275

32.5

37.5|42.5

47.5

g

12

18 16

22

14

10 6

2

wHelAlE USHL Al5A2ALAL URASH HI2 §& 1000 o)l ©. duigl 350 6ld BRTS a3 GuyloL 21y
8, R ollsldl AMTS ddl3 Guylall . . & 400 AdigsAd siuuidl 250 BRTS 6id 8, dl
UL UURAA dloy Slesul o s2U.
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14.

15.
16.
17.
18.
19.

20.

s slAx-il g6 1500 [Qendll>0igll 900 915 gdl. d4idl 250 ©15A»( [Nl sdl 3U1R
250 L5302 oy Halsil sdl. i Rl Ylou siesHl 9 5.

LSINARAAL veqIAAL (A Hera wHAd).

Al suglaad QA 25 Hlu quil,

Gardl 2usd QA &5 Al avil.

Reugld Gerew AlRd Al

O el el Aoy W2 BldlandlAl Geutenl yaspiis 1A Yool 8, dl d 4oy 2l gL eufdl.

ay 2011 | 2012 | 2013 | 2014 | 2015
AU A 139 147 152 162 170
AU B 110 115 125 140 150

Wiy el el [y Aasn (@df fleal) A Yoot 8, dl d udl gdia 2ugld R,

(Qza1R A B C D E

aagn | 5 8 29 | 4 [ 7
21. el %el Fsedlnl udl GewesHl (Qatd 1A Yoo . Al dhoy viuglanl %Y s
§524 P Q R
GAwen (@ 7) 256 576 1024
QA B34 Had) :
1. WA e 28 wionardlil ogel-yel vtionHl 313 uel 30 o eRuiq whie 3320 qval

LA 1A 8, dl adifir 5 af wgR-Ade dur A

94 9% 100 104 122 107 108 106 119 120
98 123 102 125 95 125 115 104 114 109
128 112 103 92 114 101 113 118 124 118

16 A5 Ray eA®uiA As wd - 40 Raunafal s3e sqell (T)4i 2iss0 12 3o 8. d-l udl
s qof 220239 2ud Aue adldons 20 U dd udR-Ad@A dUR sA.

285 215 200 225 255 250 235 242 298 312
328 294 266 335 330 270 315 275 245 265
210 235 275 305 332 355 307 230 348 350
310 290 264 228 236 336 35 322 215 345

USRL AN [RcRUL 50 WS A5 1AL e WLl ayuadl Asudl ARdl A yoro

8, dl 85 s adf 25-30 . dal RarRs Add 2ugl-Adel duR 5.
24 34 4 55 45 25 40 38 40 44
28 35 4 48 35 4 271 57 42 30
28 26 42 49 47 33 52 52 28 34
3 30 4 33 31 30 39 25 24 47
28 3 32 57 25 29 35 4 50 56
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10.

A s Sulul 511 sal 50 s avet (Baw)ul LA ud 48 ). vilan adf 85-90 dlu
agd Rawrs 29l duRr sA.

82 75 73 70 84 79 79 77 80 66

70 70 72 62 64 80 85 64 75 65

66 75 71 82 69 70 72 80 66 70

79 69 80 63 66 75 68 78 86 66

85 66 69 85 70 60 70 75 79 86

{1 omudd sugR-[Adre urell “ofl 2ed” A “ofl ay” usiRg Al ugR-Rdre Aadl.

adl 25-29130-34 |35-39 |40-44 |45-49 | 50-54 | 55-59| &

2ugf 3 8 10 5 15 8 1 50

g SIRUIAIML 511 5L 30 s1HelRlx 30 Bad e SeialHl Avyl A Yooy 89, dl Yoy
vigR-Adel duR $A A d ul “ofl 2e91” UsIRy AAYL ugR-[AdRRL iv1d).

0 1 4 5 4 0 0 2 3 4 1 2 6 4 0

3 2 3 2 1 1 o0 2 1 1 3 3 5 1 3

s wounl ga 850 [euefl>l sdi ¥4l €@ 10, 11 A 1241 Qewelfad uaweL 8:5:4 sg.
g2 1041 weuri s4 Qenelledl 30 % 15UV Sdl. 4RQL 11HL OL5AAL 2 1524 vyl
A 8cl. uR HlReL 1240 LsANAL qval 91520l Aval sl 2481 dRll 8dl. 2 w8l
siesui sufdl.

25 WOUHL 2013+ 9 g& 1200 Renefl>) Rdl sdl. i & 400 91530210 sdl 24 quidl 50
LAl €leail Wl A odl. wouL §4 600 915AV) ElR2AUL Wl 8dl. 2014+ il o
ouH 9L5ANAL Avaidl 20 251l duay 952l Avaiui 30 25t auRl 24l 24 aXf 260
915UV Vi 100 152 SlRAul Wl L edl. Ay 201541 A wWeuHl 140 ©915AI AHY 100
L0l GAA YAl A 2L i Adl Qepel2 el il Qen{2-l 10 o Wl edl.
L HURAIA U1y Slesui g 2.

(1A 2l dlou slesui 9 53 -

518 218 SirsHi A5l MdAdAL HNCAHL & 2000 21232921 241l 8dl. A UL 50 % GRecUR) +ids
8dl, 40 % GALAR] idrlds sdl. AR oS-l 10 % GHedR) vy AGARS dlsld YLl
al. lds Gec ULl 60 % Y sdl A duill 25 % uRelld &dl. 40 % lds 2l GAedR
Relld sdl. igeids GAeadl U4l 60 % Yl sdl. d WSl 40 % YA 8dl, HUR Hrelids
wflafl Usl 50 % 0flail wAL sdl. ABS ddsid dudadl 30 % w20 U 60 % Wil
WAl sdl. AanAS dsid vuddl WREld v 2uReld yId-l Aval WA sdl.

s SIRvAML $1H 5l $IRIRA Al 2nld 2 Q811 v Avaul salag ses 1A nHd S ¢

VST [BrzenlAs &

ay YN ¥l & YN ¥l &y 2| &

2010 | 1200 300 1500 300 200 500 | 1500 500 2000

2015 | 2000 600 2600 300 100 400 | 2300 700 3000
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11.

sl 2R AL Uil gus quil :

(1) i el qHuouaL eBUA sidlaRlHL AvaiHl dedl esivl atiRl 4yl ?

2) 20151 adHi BrenAs sl 3eal 251 w2l ayl ?

(3) uid el AuuunML YU 2 Wl Avaiul wegsA dedl 251l auil wyl ?

A s oudd Su-l & usRAL Moudar Geuted 2 AL 53 B, dxll Wl A sresHi ealdl
8, dl dn dou 2uglaul 2% $A

(@aq Hiouda A Hiouda B
s el v 5000 6000
g92l ®19L Adardl w2l 3000 3000
ey i 4000 4500
saud 12,000 13,500
QEud 13,000 15,000

12. & gdol-l wua AR WAl [Qodl (T3l 1A 3ot 8, dl dA guia 2ug gL eafdl.

[Qadl §EMA 40 B
wlAS 20,000 16,000
CIENTE] 5000 4000
YRagn 10,000 8800
CEILICTR 15,000 18,000
=y 22,000 18,000

A G3a dnal :

1.

Bliv, HiRel Qv olrlddl 215 Gedlen 2541 2185 [Bau e(Rulq Galed 234 el 25 Avirl
As Medil A=l s Bl 1A uud 1A 8, dl 21 AR A adfedoudaion uin
aolfui [Aadld s

1.518 1.509 1.527 1.505 1.520 1.511 1.518 1.522 1.528 1.528 1.520

1.520 1.514 1.508 1.525 1.506 1.519 1.523 1.521 1.517 1.514 1.515

1.516 1.521 1.507

A Gl AsHAL AR5 2 A58l 53 35 1.510 BBl 206 s 1.525 BB 3 qell ay s
y1adl A=t viHlal awial dl di s3d ad(fsel uell Mesdl 3edl 2st vuHlainl 254 ¢2
d oeudl.
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AROAR™L A AL viued 30 Ray 2 1A Yoot 9. 211 Rl uell As -l adizx{lau
18.5-20.5 €4 dd ars Add 2ugR-Ade duRr s :
10.50 1470 17.20 1520 1450 19.20 15.80 19.30
18.40 20.50 18.70 14.90 18.50 16.90 10.50 12.50
13.60 12.50 18.50 18.60 14.00 16.20 13.30  13.30
18.60 17.60 20.20 14.50 20.80  14.90
2ug-[Ade uel A usl-u g quil :
1) A @l qEHd dvil.
(2) AL oiY oUg Ayl 9y T 16.50 €U ddl [Ral-l dvu 324l ?
(3) A+ oiy cud 9l 269 T 19.50 1Yl [Barill Avul 32 ?
B slviALAL HUAS £30% 8auAHL GuIR(l €U ddl 50 PsuRd, Gaulen sl 551 54 o,
g SIZPRHAL vaiul sledldn 1381 €A% %El Ll Avaril AR, Gaulen ug ed. 40 Baxn
£ARULA GewleHl Yl 381 Rl Aval (100)-( wdaHl 1A w1 AlbaiHl Ul gdl. d udl
S s ol HlBud 3 §lu w1 s adll adfdous 6 $1d dd MRS Add 2ugR-AdRA tiridl
au dril well ‘dl weor A ‘Al ay’ sk A=Al vugR-lAd wst sirdl.

7 6 12 16 12 18 11 -5 10 3 10 7 8

4 -10 16 -7 20 9 12 2 0 5 4 23 6
3 4 4 3 4 2 0 2 1 5 -1 5 19 6
s ol 30 Qenflail Gus @1l udl QA R A 8. d-l wHl 6 adiful adllsd
23d MRS UGR-QAARRL ddlR s A 4wl ‘el 91’ 2R ‘el ay’ UsRe ugR-QAdw
UL duR s

141 145 152 150 150 159 148 163 162 151 155 148

145 162 161 152 168 153 149 148 162 158 157 160

153 149 154 165 141 149
1 [Qar@Al Gualdl 304 Al urdl-L gan @il :
(1) A AL gl ool dal w2 160 A3 Gl o33l €l dL wuaiell el Qeusfl)

d HgfHi ewo 4 wsd ?

2 Rendll Giug 153 A+l 163 A1l a2 &y dcu Qenell2A-l dvul ).
3) Alell 208l Gl wRiadl Sllog eudtl QenlpiiAl Hedu Glud W,
s YRR Renfloild Renareil 240 Al gAR adlls@ sa e AR ga 40,000
Qenlz Ul 60 % 15UV ell. Sl wennl Lsdl-] AvaL Aoy Qensvi-l ©lsd2i
53l 212 2Rl sdl. e1sddl weumi YRARBAAL ga dval 10 % 915320 21 15 % SLsAX i,
Rstraeinl YyRaRAH ga vl 20 % U4 LA Aval e9LsuBAAL AvaLAL ALAHL L]
Sdl 2R [ el go Avdidl 7 % SLsAB A 17 % OLsAN ol Aoy, el
Renel>0l ival YRARAA ge Avaidl 3.75 % sdl. FHL 915 1A LAl WU 3:7 8.
GuR auUAd HURdlA 1oy slesul Y 4.
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3.2 R weuadl Ralddi Wyl asel (Characteristics of Good Measure of Central Tendency)

AAni azel 4padl w3aA 2ueed A3 € Asu O ¢
1) Qe dd cvaid 29 sy Sldl A SA.
() Q AHAAL HI2 AHY AR sl HI2 U Sl ASL.
(3) A WRA-L stl o 2adlsl YR R €1l A S,
@ QAN Alys Bupil W2 A 2gsn el A
(5) A RAR Y &g ASA. Ned 3 s o yufuidl aHiA seel el el Feall dami 20, dl eds
Resfiell vadl Al Bud qael quq €idl A,
6) 32dls il Hel xaal 2 Al Aadlsll dqdl uR agusdl A6 < adl A,
24 AL eadl Rl el 2l sA0g 3l sl yassemi euus A Gudla sami 20d 8.
(1) HEds (2) R e, iy @Y, AR (3) elgas.

3.3 UHIdR UAUS (Arithmetic Mean) udl Hs (Mean)

2L ALl ay uuldd A 9.
3.3.1 ¢ (Meaning)

ol Qe sellAl ARAU0UA, a5l e Aval a3 edtalefl woid) [Brda AHidR was 2aal s dils
AR $aMlL 2d 8.

U, x il AHIdR HesA ¥ A eafadmi 2 8.
Heysdl aadl ¢
212{l4a Rl w2 :

X +x+..+x,

WA 5 R 7 2adls x, x,, ., x, B, dl AHIR S X = -

Xx,

W Ex = x, + Xt e+ x = WA X, x), L, x) <l ARAGD
w1 = Al AvaL
A4 sreizl ARl $3cll Quid AXAL BLdR 2R 20g2L (Suffix) i A YElY AR. 3 x A vedx,
d, AL oed d 2 f A eed £ ySly.
Gewsu 1 : DA Rl As Aorui gy AHRSM s3a A v gald O, Ayl AHRKH s34l
g2+l Avanl Heys skl :
7,13, 4, 8, 6, 9, 10, 4

wdl n =8
s ¥ =E _htxnt .t x
n 8
_7+13+4+8+6+9+10+4
8
_ 6l
8
= 7.625
~7.63
U, AL AL £AYAL MRS S2El el us 7.63 .
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A Aa:
o vl [53dl vo {13l €y dl fIRe His (Assumed mean) A 1l Gud)L 5309, dd] A0 ei-icll sy
8. A 85 25 Ad) A4 B ¥ A4l viadlsril Haull 2URURA Q4 A Sx9d ©. 2adisl x, x,, ..., x, Uil wRA
WS A g SUHL 2UA B 2 ddl d$ladA d, ), .., d, R suldarl wd ©.
d=x-44d,=x,-4, ., d"=x"—A
ey x A 4 Al 209 S

T=A+

FUl A = HIRE WS
¥ =d +d, +..+d

v 7 = gl Aol

AY 2 Al Bararll o€l €l uieollll weusl Bud clealdl -l

Gewsw 2 : s [yeauni 10 el el am u addl akue (ARHD) 1A uwel Albasi 2uda © :

126, 110, 91, 115, 112, 80, 101, 93, 97, 113
auledl Heus 2kl
] waclsDll Bl 2L Qe 2 wessll aRiadl 241 da sdg. aul wRd v A =100 45y,
fAnL Aresul vadlsl x v dsladl d = x - A sufda .

wRue (W) x | 126|110 |91 | 15| 112] 80 |101 [93 |97 | 113 | &
d=x-A,A=100 | 26 |10 [9]| 1512|201 [-7 |3 13| 38

dl n =10

R%E=A+%

= 38
= 100 + 10

=100 + 3.8
=103.8
MM, dALeAl Hs 103.8 AR 8.

Gerge 3 : 20 Alsil-u oAUl du-l a%--il wg 55 (33 Anaanl 2uedl Sdl. AR GUE WYH Uy &
A WAL 213 dellq awn 45 (Bou we 8d, 2 wRWR 54 (330 ed. du-u ag-l Al weas 2l

A T =551 n =20

uausf=%=55

I 55
-~ Zx = 55 x 20 = 1100
B, dlsHlAlL AAN 1100 8, F3L WAL BHd 54 1 oied w2l Bod 45 - a3 23dd 9,
alsilrl AL AAWD Edl W2 U AAIL GUR ANdd Budaiell vl 2adls eue s3ly
Bin, AR vadls ALY,
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YR Zx = 1100 — 45 + 54
=1109
_ MuRaSx

n

AR WS

_ 1109
- 20

=55.45

U, qorll AR HES 55.45 (B 69,

aflgd wldl = :
Add 2ughi-[Ade 2 :

2R 3 20 RN vaelsHl x, x,, ..., x, W2l 2uqR20 AdsA £, f,, ..., f, O.

2l n = vadlsHl-l ga vl
=f1+f2+...+fk=2fi

x7ll 2i9Rf S ANed § vadist x g YeRiadH £ quid Wy 8. obl x, wadlsdHdl Wl £ x x,
228 3 f, x, 4. d ¥ dAd o4l x, 2iadlsldl 00 £, x, 4 29 2 Ad 2000 adl asy.

_ oty el sl Al ALl
S X = “piadlsil gada

_ fmthnt.tfix

n

— X
~ o n

oy} Efixi=f1x1+f2x2+

+ %

Bersw 4 : s (Rl gZnigls cunsl-l v A shesui ealda 8, ggoigls sunsi-l vl Hes alul,

spasi-l vl 0 1 2 4 5
gEoirll Ava 4 8 | 23 6 | 3
] 2uunfl WA A4 x Al k= 6 Budl 8.
weys lbaledl owddl flA-L siesHl saulda O ¢
ounsi-l v 3ol 2y
x f fx
0 4 0
1 8 8
2 23 46
3 8 24
4 6 24
5 3 15
& n=>52 117
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weys x =2~
n
_u7
52
=2.25
2, g3elEls ounsl-l Avaiddl wes 2.25 9.
A Aa:
2008 2adlyd R 2R culdd ugla Yool AR AN oi-lladl W2 “Re Hs A <l 2qqsn Baud
YAe 53U s S A AlsH) x, x, o, x, AR dSLAA RO A51H. GURIA, AL 21 dgladlal SS WA
Maud ¢ S, dl el dsladial ¢ 93 el U oidla ay A el aslu .

Wi, WM 4 =574 g =BT g %A ) Budl Ml

1
S Hse Yol A WA quiaHl A 9 ¢

H%2=A+#xc

ol Ifd =fd +fd +. +fd
A 1= 2Ll g Aval
=fi+hL+ .+ =X
A4 : A A ¢l Badlll el oEl urigollll sl Bud eteaudl -l
BEwsQL 5 : s vl 6l AR aAs)l e el Bar dudd nau-dl axy (AR A stesi ealda 6 :

any (ARe) 110 113 120 122 126

[Bai-l dva 7 17 1 10 5

UURAAL AHUAL Heus 2kl

2] 2tadlsedl Budl HEl 8. 2uu 1IRE Hes A = 120 Ay,

Axil e dsladl 110 - 120 = - 10, 113 — 120 = -7, 120 - 120 = 0, 122 - 120 = 2,
126 — 120 = 6 8.

Adl 1 Ry QS 2y Ay vayd <l dfl ¢ = 1 46y,

Wi, AU d = 224 = 22120 oy 190 ady.

Heysedl Rl 1A uHd vl :

axy (MRe2) Bamil vy | d=x-4 fd
x f A =120
110 7 - 10 - 70
113 17 -7 - 119
120 11 0 0
122 10 2 20
126 5 6 30
& n =50 - 139
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HRS X

X

=A+ X c

=120+ 22 x 1

=120 - 2.78
=117.22

BUH, GRAAL U HI2HL AHAAL Hs 117.22 RR2 ©.
BerswL 6 : AdL 28 [l Ag agll Bud g gaq viecn 8. d-l QA wRdl w8, d [Qzdrui
azgrll [3uadl weaus Ayl

Gua (3)

206

212

218

220

224

230

ol Ava 5

8

9

14

3

1

vadlsdldl Budl W2 glaiefl 0l wesl aRiddl 25l A s30g, dul A = 220 wie s3g. ol
vaelsi-l A il dlial dsiadl —14, -8, -2, 0, 4, 10 8. UL dsladlHl HsaH AMIY ddd ¢ = 2 B,

Qefl A g = X=A4=2=220 ¢y
c 2

w4 ouddl :

HRS X

Bud (7) gat-il-ll aiva d = x;A fd
x S A=220,c=2
206 5 -7 -35
212 8 4 -32
218 9 -1 -9
220 14 0 0
24 3 2 6
230 1 5 5
s n = 40 -65

=A+ % X c

— (=65)
=220 + 5 X 2

= (=130)
=220 + =~

=220 - 3.25
=216.75

M, agrll Buddl wes T 216.75 9.
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Add 2ngd-[QAa@ w2 :

R 20U WURle 3uid? Add 2ugR-Qde s34 2, AR €35 2ug[ A adfui suadi 2adlsHl-l
Avyl eafd 8. uig d adlii vuadi vaclsl-dl BHdl 20 Angidl 4l adll d adl-l e3s Bud w2 ulRMA
130 d gl HeUlZud A 8.

elodl ddl3, Wl 3 2RaRs adf 0 -5 Al 2uqR 7 8. 20 7 2iadlsil ARl Bud 20U il -l
adll a ol o] o 7 wadlsl W2 HUlBud 2.5 wRAH 2d 8, wul dudl Wl Bad 0 4l 5 34 8
R AL €Y b 8.

£2s adll AfBidd g -l Bid ddld 4fl viudd 2ugR-Qdra W2 206 asliH s3d Ada-
Gualoel ues Aadl asiy.

i, Heusell ol (1A Yoot 4s) :

"'lu{:‘xf=A+%XC

n
oYl A =R WS

¢ = dflddl x, — A vl AHIH AHaYd

x—A
d, = =

£, = HulBud x, qadl ol gl
3fd, = fd, + fd, + ... + fd,
n = adls-l-l ga Aval

=fi+f,+ +f, = Xf,

Gewse 7 : DA WRdl A1s F52Au0 s11 5 HARIAL WRAS 20as (T cld O, dusdl 2uas-dl uus bl

2000 | 3000 | 4000 | 5000 [ 6000 [ 7000 | 8000
2048 (7)

-3000 | -4000 | -5000 | -6000| -7000| -8000 | - 9000
oL vl 2 3 7 15 25 16 12

24 A €35 ol wlEaq Aadlat.

yeyEaq = P Gerllan + ol »i4: Hflau
2

1L 11l 2500, 3500, 4500, 5500, 6500, 7500, 8500 8. ML A = 5500 45y,
dstadl x — A gsd 3000, —2000, —1000, 0,1000, 2000, 3000 %L, U dslddlil HedH AHLY

a4 ¢ = 1000 dleuell WUl g = =4 223500 gy,
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ey sl ol AL Slesui sufdy © :

W (T) nogAAl v | wealiua d=*4 1
f x A = 5500, ¢ = 1000

2000 - 3000 2 2500 -3 -6
3000 - 4000 3 3500 -2 -6
4000 - 5000 7 4500 -1 -7
5000 - 6000 15 5500 0 0
6000 - 7000 25 6500 1 25
7000 - 8000 16 7500 2 32
8000 - 9000 12 8500 3 36

& n = 80 74

ey }=A+¥xc
_ 74
= 5500 + ¢ x 1000

_ 74000
= 5500 + T

= 5500 + 925
= 6425
A, 2L HRHL HIRS vlasl Hs T 6425 .
Belsm@ 8 : W Mg uell wAel A aort GuaHi) DA nHR 8. Buld 20 FNAAL YrdH A%+ 410
Wn 6. S aw-i-l weus alyl.

. 4209 | 43041 | 440¢ll | 4504l | 460¢ll | 4704
g ax Guw) A | ol | 20 | o | sl | o
3404 v 14 | 34 | 76 | 130 | 165 | 180

2 Slesil ‘Al 2Dl usil AUl 2ugR culdd 8. srugAR Al 2wgRil sue sl U
Al vugRil wel eds aol-l 2ugf Andly. nan adlHl xuflul 410 sun wdd S,
203, {12 yorord vug-[Ade 1A :

$3 A%+ (UH) | 410 - 420 [420 - 430 (430 - 440 440 - 450|450 - 460 460 - 470

3320+ v 14 20 42 54 35 15

qaif-l HeulBudl 415, 425, ..., 465 ©.
A AWM A = 435 45 dl Hotdl dsiadi-l Budl —20, —10, ..., 3041 HsTH AMIY 1A ¢ = 10 .

el A g = 242233 gy
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ey s+l ol AL Slesui sufdy @ :

quedd | Sudladdl v | welud d=*2A fd
(SR T) f x A=25c=5
0-10 3 5 —4 -12
10-20 14 15 -2 -28
20 - 30 32 25 0 0
30 - 50 40 40 3 120
50 - 70 21 60 7 147
n = 110 227

s x=A+ Zxo
_ 227
=25+ {jg X5

_ 1135
=25+ Ti0

=25 + 10.3182
=35.3182
=~ 35.32

1Y, AARIARAAL Hs T 35.32 R 8.
WSl QLML B SlEUM ¢

QM

(1AL cledd SR Hes A wadl RaQd Al ay nal@d wy 9.

)
2
3
@
®)

6)
AEUM :

d Ay Ad ervalRd 236 9. dd s R uflas ot .

d AAAAL Hi2 dny dRlddHl A 9.

d ol Aadlsl U IR 8.

QAN llys Buvil 12 d 250 8.

A HHSL ay [ iy 8. el a1l 3 3 Ag o wrlRuidl dlial A seel Rellql wsal
el 2 [Qadq €l 9.

Heyse{l oRdlal ol BaElsAA AV HgT AL Hd B,

ey s Weyad! R WY a3 Gualomi Adl uddl d-l AL e veL AeiaL A9,

)
2
3
@
&)

©)

deil U2 dia Al v via Al 2adls-l 2 ay widl a9,

vjeal B3l 4ol (open ended classes) Bl WAL d-ll oRiddl 53 asidl «ell.
vdul a3 vydl Rdlae o a-dl AssA Brd Aadl asidl e,

2 w5 adlsl viedl €ld dl wasdl AssA Bud 0l wsidl 4l

A2 vuwA A A [QdRd 4 wddl MlRdl e s 20da Wl vleg w3 uaRfa
gladl <l
%, aellseld Hetd %E %L SA dl AU ALY sl GuElolL sl Yoy e,
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4. ([Qenellalrl 31s Aysrl Ag s L A Yool 8. [Qenelfal-w el Heus 2L

R 0-10 [10-20{20-30]30 - 40| 40 — 50| 50 — 60| 60 — 70
([Qenelli-l 2ivan 3 5 12 16 1 5 4

5. s Hleudd qRsL -lwdel 254 sla-dl il A4y (Talk time)l MRl 1A w08 Ha .
Arll cld |l AHUAL Heus kL.

addla-l ana (AR2) | 42 08l | 82l sl | 122l 2Auedl 168l sl | 2020 2418l

siard v 20 42 57 65 70
6. 50 Ul Bear avui udal -l (v Tyl Rowd 1A 2uddl 8. sl us bl
sl (am %) 0-7 7-14 | 1421 | 21-28 [28-35
UL vy 4 9 18 12 7
7. s dxg-l [QQY Rl didd [Qdrel 12 3 9. 3ol s k.
UL (AsHL) 5-14 | 1524 | 25-34 | 35-49 |50-64 |65-79
(Zaul-l qvu 4 17 19 22 18 10

3.3.2 e veus 2w culRa neus :

(A8 utus (Combined Mean) :
o R 6 3 dell ay AYS-L 1Sl slid Sl dl BUURL drll AYSd AYenl ws Aad) wsla .
Ul Budn Bis s sdaid 8. dnl () R euladml 20d 8. WA 3 n, n,,....n, HAASA BRAddL &

ARSI UG A, %, 5, ., T, O
(s Hese Yot A A & :

5= nx +n,x, +..+nXx,
¢ mt+n,+..+n,

Gewsw 10. s F529 WAs vior O 3 wyaudldl WA YAu s Gane-l wg 350 AsHl O,
Ala Al o W2 d 254 AsHl 9 w1 wwRYl RAwik w2 d 315 A5l 9. 4 ay w2 wls
Gawgn-l Htus AL

el ny =3 URA, 7, =5HR, n, =4 HA,
x, =350, X,=254 x, =315
mx +mx, + nx
m+m+n

_ 3(350) +5(254) + 4(315)
B 3+5+4

_ 1050 + 1270 + 1260
- 12

M Hus X =

_ 3580

12
= 298.3333

~ 298.33
i, d ad {2 RS GalenHl Hs 298.33 AsHl B,
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Gerse 11, As AiBuui w02 24 yu sl wwe 1:2 8. w4 207 Y-l G-t vsl 2qsd
34 ay 1A 37 Ay €1y, dl Wi o sz Gua-dl Has ol
gl &, il Aval = g 9. w0 A Yy sfLpAL Advarg www 1:2 Slaell Y-l

Awil = 2g 8. X, =34 ¥ X, =37

nx +nx,

X =
R T

_ a(34)+2a(37)
- a+2a

_ 34a+74a
3a

_ 108a
3a

=36
w1, BuA ol sHRA GHRAL weus 36 ad .

Geld@ 12 : W (332 Hani 215 AuA Hy 2dal w2 20 20U 5.25 2329 2612 524l U AU D). 13 lar-L
vid 2132 5.1 8. HA @da W2 -l iRl 2inl il 2132 F2dl Slal ASH ?

&6 ) A

28l ARl A F R = sa savl ava

= +ll U

VI, R 1nll Heus ddld sy,

Wi n =13, n, =7 T = &4 20 2d-ll "R
=5.25

%, = HuY dR vlarel ke = 5.1

_ _nxtnx,
7 =t hh
B weus %, ==

135.1)+7%,

5.25= 337

_ 663+7%,
5.25 = —55

5.25x 20 = 66.3 + 7%,
105 = 66.3 + 7%,
7%, = 105 - 66.3 = 38.7

%, =87
= 5.5286
~ 5.53
WU, A Dddl Hi2 d el Oeell 7 AL 29141 9L 5.53 W2 el ASAL.
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MIRd HUs (Weighted Mean) :

YR 58] 5 HURCAAL etdl vaelsely Ut A A SlY dl AHIdR Hesll GualaL 52l 41y Al. udl
YRRAMAHL 215 QAN s il 20 8 31 LR Hs sdad 8. euRd s x, 4 sufau 8. €38

§q@ls dril Hererdl HHIRHL W5 Avaics Bud 2MUHl 21U & ¥ ¢HIR (Weight) sy 8. Aldl ay
Hetd, HRAAAL MAel S HedH MR Y 6,
W 3 2adlsel x;, Xy, oy X, L SUUAUHL AU HR 2GS Wy, Wy, ., W, B,
dl GURA s Yoo (A HwR 2 :

W twx Lt wx,
w+W, +..+ W,

MR Hs x,

_Iwyx,
=Tw,

.l Zw,xi = WXt WXt .+ wx
o] Zwi= Wt w,t .+ w
IR+l AR

Gersel 13 : s [Qeuefld RuA Quni 35 @, W5 sa udlauni 15 o1 w4 A udaumi 5 90 wen 8.

a 2uouni i us udausild s 4, 2 21 1 MR dauai 2ud 6, [Qenell-n el cuRd neus
a4l

] x, = 35, x, = 15, x3=55b{'1

w, =4, w,= 2, w,=1

_Wx T wx, +wixy

MR Hs x, vy

435 +205) +165)
- 4+2+1

_140+30+5
7

_175
7

=25
3, [Qenell-L el euRd was 25 L 8.

JAURIY 3.2

1. s 35dnl 75 U0 SIPIRAA Al vddl BRs ddedl s T 280 9, 2R 125 [Bigun
$IA0IRAAL B[RS Aderdl Wis T 150 8. ol 5130011 Aderdl Heus 2l

2. A R vl e 2R esiaudl 3381 URA Hs WA :

vlRisl azg, Alvil G A uiz | séa

(TE) 7 10 5 8 2

ouaHl 251l §%12 134 125 115 97 120
81
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3. s UBAUL S1H Sl 2 2ABAR, 10 5alS A 3 varaon 18 RsAs 12 s 20U 8. 635 Al
slo0 AL SlesHl wd 9 ¢

g

wFA seuS w2
Z 1000 T 500 T 200

GURA Mgl GuAlaL $3A lsadls slourdl Hs ).

4. g [Qenella 7 RUl Qusl 4odl il s 62 9. 3 Alsesa ylausdH d-l Jei-l wes J2el dldl
Adu & ¥l Ayel udladl dnl el Hes 68 . ?
MAs Ryl QU 211 Alsesa udlaurl el Al 8.)

*

3.3.3 Qv HWS (Geometric Mean) :

HIRL 3 UYL AHY AU Gecldl SE AL DEUIRYL ST edlal. A AUYR el $$IRAL AW € WHAL
SlY, ol AHIdR Hus-l GuYloL sl Yoy «Yl.

VYR Ws GELERL A il 6lUold AHD.
QI 5 38 axgrll Bud T 200 9. A 215 1L Ul llanl 50 % AR 24 oflot {8~ usdl 25 % ArIRL

il U, dl $UGAR Aiddl HRARDMHE Al *id 200 x T = 300 217 300 x 12 = 375 T ud.

o R & HRrALAL 25113l eltadl AR AHIAR 1S Guylol s34 Aadla) dl A %:m.s ud.

L AN GUAaL 53 U 2 UR+AL usdl-) eita L Al A 200 x % x % =378.18 T 4l &+

Bad 210u6 e T 375 Fedl el
il g ofloy AL ay oY Alad B FA YRR HEs S8 8.
n el BAASAlAL JRUSIRAL 72 HL YOI JRIHR HS s38dld 8 A A G A sufad 8.
W, n A4Sl x, x, ..., x, W

JRIMR H&S G = 2% X x, X... XX,

GuRril Gelsw 2 ULl R Heys Hly. 150 A 125 U & Avul ¥ 2s1dl ¢lid eufd 8 dxl
G = fisox125 = 136.93 4y 8.

82 i AR GuloL 53N A U[Retl uehlell argl Bt 200 x 13658 ¢ 6B — 375 7 49 & 2ud

UG o1 Bud Fedl ©.

Ay A A AL p % AR AU €A dl aldl Bud estaudlil (100 + p) avlly ok wuda Bad
p % 42dl 8l dl s2dl Bud estaudldi (100 - p) avlly.

edel dils A sl WUl gl Bud 20 % 4dl €la dl d WA 2id ddl Bud esiaslui
(100 — 20) = 80 Q.

Y 2 2R AHASHL x,, x, o, x MR AHIAR WS Bd R0 eilar s Feddl viaa d-udll ay
QU Aed s X>G

A o4l wadlsll Bud afl Slu dl o ¥ = G awu 8.
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Gewsw 14 : As (Rl ardlul wR anldi 214540 15 %, 18 %, 13 %, 20 % AuRL Al .
Azl aqRi-l A3 Al
i, ardlrl atuel Bud) esicudlai udl @il uvRl A0 A2 Rl ves audly.
Acllril qiRill 251Ul uqHl Adl iy vaelsHl <12 Yoo 4al.
x, = 100 + 15 = 115 x,= 100 + 18 = 118,
x,= 100 + 13 = 113 x,= 100 + 20 = 120
G=Yx, Xx,Xx;Xx,
={115x118x113x120
= 4184009200

=+13564.9991
116.4689

116.47
1M, L AR adHi yda drdlarRidl AU 16.47 % O.

At s 28] 4 g 4o Aludl Hie 184009200 o adlyn Andd © e dd 53 adlyn dlaa . v o dd
8 3 Yo dbal w2 adlyadl uBEuL A8l quid sl W,

Gers@ 15 : o Avail-l JRldr ns 2 8. A Ws Ao ol vardl 4 agll iy, dl d Avaidl 2kl
WA 3 el dvul x = a 8.

dl driell 4 aell €ld ddl ol Qv x, = 4a ¥4l

[

G=2
G= fmxx
2= Jax4a
2= a7
2=2a
a=1

WA, YR AL x, = a = 1 27 ol WUl x, = 4a = 4 44 S,

Be1s@ 16 : 6l AvA 9 27l 16 UL UHIAR NS 2 IYRIMR Heus AWHL 2 AsAL 3 X > G.
Wl x, =9, x,=16 % n = 2

AUIdR Wy x=22-9416 _25 _ 155
n 2 2

RN HAS G = Jx, x 1, =VOx16 =144 =12

I=RS5S¥AG=128aHl x>G
Rt HRUSU AN :

(1) Ay Ad cuvdld 2da 8.

(2) Q ol vadlsl YR IR 9.

(3) QA Alys Bundl w2 A yalou 8.

(4)  Arl YR A Hel v [ Al vtadlsDAl 26 MR 20wy ©.
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BEl8RW 17 : %L %EL ALUSHI s Fs2dul Gane wdda wsHl-)l dval 80, 85, 90, 92, 68, 80, 72, 63,
55 8. Gawe--il Ry dudl.

Yadl s AN&Ad LS (1A W € :
55, 63, 68, 72, 80, 80, 85, 90, 92
wdln=9

we M= () vadlsadl Bud

= (&) 2tadls- Baud

= 541 sl Buod
= 80
A, Vil 5L Gaulernl Heir 80 s 8.
Gewsw 18 : s FRw-u Hecn 10 Rau-l sl (Z4i) -1l 2uda 6. Asi-l v ekl
261.5, 257, 258.5, 260, 265, 249, 255.5, 262.5, 264, 267
A2cl $HHL dsAdl 2l vaelsHl A AR 21
249, 255.5, 257, 258.5, 260, 261.5, 262.5, 264, 265, 267

word M= (") vadisadl Bud

= (2H)s viadlsni-l Bua

= 5.541 »qdls-l Bud

541 vdelsH-l Bud + 68l viadls-l Bua
2

_ 260+261.5
- 2

= 260.75
w3, 3RUL BRAS AsiHl R T 260.75 O,
GelsR 19 : A5 xBAHL 11 sz O, 2uuidl Aol 29l wouR vAddL 7 sHAN>NA WRs wour

(T wi) 4500, 2100, 3400, 3600, 2500, 4200, 1500 . st sHARPA RS Wl Uy
sedl © ?
08 WAL 32ais viadlsdl viauld ©. 2wuaq Alell ay udlR Ylddl 4 s3fAAAL YouR- Brdl
200l el

QA %, drll Budl Asdl $H311L g3 g, b, ¢, d ©. UL AR Budl 200 vadlsHl sdl HEl © sk
3 Al ay wauR 4Addl sHAlRAL wur-l Budl 8.

8 YRl AL 1R Asdl sHul dNsdly. 1500, 2100, 2500, 3400, 3600, 4200, 4500, a, b, c, d.
wudl, n =11

ey M = ("T“) Wl wadl sl Bud

= (1L 2iadis-l Baud

= 68l vadlsHl Bud

= 4200
a1, il sHAK0H walUR-L v T 4200 8.
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aflgd Rl w2 :
Add 2ug-dd He :

W 3 As Al Bl x, x, .., x W2 2GR YA £, £, ..o, £, O,

2 R-QAdRL Aadls D A {d Asdl s34 o0sAdl Gl 8. Asdl s3AL dNsAdl AadlsHl-L
29[ [AdReL Hie Wz, ddl Hie 2 AL 2ug-dl Guala s7y.

2l e, A W bl 20 © ¢

n+l

WY M = (T) Wl 2adls-l Bud

W7 = f+ f, + ... + f,= If,= adls--l g4 Ava
Gersw 20 : As HRUHL Ws QUi AR Wa Qe Ay DA shesui ealda 8. [Qeaudléls
A1 [Bal-l 2ivan-dl wtuze Wkl

[Qenefln A1 BaAl-l v 0 1 2 3 4 5

[Qenefl2-Dl 2iva 8 12 18 9 5 1

2 {12 salen wud Audl 2uqR-Qdre Aadly :

Mo BadilAvurx [ 0 |1 [2 |3 |45 s

[Qenefll va £ 8 |12 (18[9 |5 ]1]53

Al 2ugli of 8 |20 |38 |47 |52 |53 | -

il n=Xf=53

n+l

weRY M = (T) WL pdls-l Bud

= () 2adisdll Bud

= 2741 sl Bud
Jadl 2uq el el s 3 2130l 384 wadlsAll Bud 2 8.
Aell 27 HL Aadlsel Bod 2 69, - ey M = 2 [BaRdl
wM, Reudldls Ao Raldl dvuidl v 2 Bay 9.

Gersw 21 : el el a2l W Ruld a8y s W2 alal auy A uRAHE wula 6 d urell
Aot uHurl Heury 2kl

8ol anu (RlA2) 10 11 12 13 14

2152l Avan 5 7 8 15 5

2l 1A eulen w2l 2uqRi-lAde Aadly :

a8[al uny x 101121314

adel-l Qv £ 5|1 7| 8 |15]5

Al 2ual of 5 (12120 |35 |40
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2dl n = If = 40 2 Add 2UGR-[AdR8ir 2l Al
il ] sal 1A Y 8. 10, 10, 10, 10, 10, 11, 11,11,

W M= (T) YL vgals-l Bug 11,11, 11, 11, 12, 12, 12, 12, 12, 12, 12,12, 13)]
13,13, ... Gusd sadls-ild Mlae sadi S

= (%) L vaelsa-dl Bud W51 3 20,54 el 12 21 13+ 23U B.

20.541 vqdls-l Bud

_ 2031 Aaelsei-{l Baid + 2130 2adls-l Bud
2

AL 2ug D well el wsiy 3 134 ol 2031 vadls-l Bdl 12 § i 2130 vtadlse] 354
aclsl Bud 13 8.

aefl 2041 24 21340 el Badl vigsd 12 w1 13 8.

_12+13
M=

=12.5
U, 2ASMLAL AHUAL HRY 12,5 A2 8.
Add 2naf-[Ade we :
Add 2igR-Adel ad-l Fudl qoll- a3unl el du © v & Ay A Asdl s3l aDsadl
€U 9. vicl Brusdul e bl Hie 2 Al 2ugRlA Gualal s3g. 2 Al ugRdl d Ad-
HegR suL 4ol 20d B A sufad. A W2 2ud vl qdf = (g) HL vadls-Al adf ady.

Wl n = f,+ f,+ ..t f,= Tf = vadls-l-l s v
] ey dhal W2 1AL Yot GUAlaL s 2 ©

n
279

HepRy M=L + Xc

ol L = weuralL aofd via: fluleig
of = W QAL UG- adl d2d] gl
f= e )l sugl
¢ = ey, -l adfdons
Belsaet 22 : As oirsul €2 Rad mdar s Avuny 2ugM-Rde DA wud 8 :

Y-l 2iva 0-39 [ 40-79|80-119 |[120-159 (160 - 199
[Barill 2iva 2 14 23 7 4
e Asll Fuadl v Yl

R A eufan A A2l 2ugR-RAde Aadly :

Y-l v 0-39 |40-79 | 80-119 (120 - 159(160 - 199
Raxl-l v 2 14 23 7 4
(4l »ugld 2 16 39 46 50
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wlln=Xf=50

soR-l asl= (Z)u stadismdl adf

- (570) W vadlsAdl aof

= 2541 viadlsenl adf
]l vugRD uel sl asid 3 1730 vadlsmell 3941 viadls Yl sul o vadls- aof 80 - 1194l
8 U2 d e qof 2.
vl wFAARS UslRg adlfsel dlaudl @ qolfHL uell adfHi Ahulbigyil Aadly. defl sy
a3[ 79.5 - 119.5 Q.
8d, L =79.5, ¢f = 16, f = 23, ¢ = 40 Qd,

HW%%M:L+(’2!)T_CJC

Xc

=179.5 + 2218 x 40

- 9
=79.5 + 3 x 40

— 360
=79.5 + 55

=179.5 + 15.6522
= 95.1522
=95.15
IH, 82 [ GlvsHi ¢AAAL A5l 12 95.15 .
Bersm 23 : 75 gduil-l URlari RS vl R A1 shesui 2ula 6. 20 géodni Walari vl Hewre skl

aladl wil (T) 1200 ¥4 {400 34l |600 3l (800 31000 Y| 1200 Y

g3oll-l v 2 8 17 32 57 75

2l Al 2ugRHL e ©. 20U 2ugR-fade Aadly.

vy (%) 200 Y4l | 200 - 400 | 400 - 600 | 600 - 800| 800 - 1000 [1000 - 1200
3ot v 2 6 9 15 25 18
Al 2ugli of 2 8 17 32 57 75

wd n=3f=175

n

Wy qof = (5) HL vq@lse-l adf

- (72—5) W wadlsl aof

= 37.541 laelsninl aof
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AAAL g vl el s 3, 373 2 383 lal oA viaelsHl q49f 800 - 100041 AL 8.
w2 49 800 - 1000 4.
8d, L = 800, ¢f = 32, f =25, ¢ = 200 Qdl

ﬂ—cf
R M=L+ 2f Xc

=800+37‘;75_32x200

=800+%x200

— 1100
= 800 + 5=

= 800 + 44
=844
UM, UL G300l HIRLS AL vl HoRy T 844 .

Bels@ 24 : s AL el el [BaA Wy saru ugNel AR (ppmal) N HHA B, UgHAU AR+

ey Ayl ¢
WENRIf R [ 2505 (2705 | 2905 | 3105 | 3205 | 330 5 | 340
(ppm) dlay [ddlay | ddlay | ddflay | ddlay | ddlay | ddl ay
Bazildl dvan| 150 133 108 76 4 20 7

2l ‘Yl ay’ sy Al 2ugR-[AdwL 2004 8. 2uU d Yl 2ugR-[AdeL du ‘dl e sl
Audl 2ugRll wal Aadly.

. 250 - 270|270 - 290/290 - 310{310 - 320|320 - 330|330 - 340 | 340 3
A ]
ddl ay
([Bai-l Aval 17 25 32 35 21 13 7
Al 2ugl of 17 42 74 109 130 143 150

n=3f = 150. ], vAHA adldous 8.
woy qf = (%) 4L viaelsninl aof

= (ISTO)Hl vl seinl a4l

= 7541 AqelseHl 99f
AAl vugRL wrell el wsid 754 wadlsq ad( 310 - 320 3 g B,
asfl wRe qof 310 - 320 a4,
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8d, L =310, ¢f = 74, f = 35, ¢ = 10 Qdi

He, M=L+ (IZI)T_QCXC

=310 + 22Bx 10

_ 1
—310+§x10

=310 + 32
= 310 + 0.2857
= 310.2857
=~ 310. 29
B, UGNRLAL Rl 12, 310.29 ppm O,
R A i UM :
M
(D a ARl $AUML A AHFAUML UL 9.
2 d Adawdl And asuy 8.
(3) a4 1A ul Wl s .
@ R vugR-RAd@ul vedl Sl il €y AR d BsHi AAL A 6 S,
(5) R W2l A A Al Al s Al U 2l 2R WA B,
(6) 32els Rl viedl €lu dlua d DYl wsy o,
AeEUM ¢
(D Q A5 d vyRdd 4349 2.
(2) A ol vadlsl U URd €g el
(3) QAN Alys Buipil w2 A 20 e,
(4) s wRl d 2 RER 8.
iy 2y WY

U AY 3 e UG Wl & wRvl [QAewoldl 9d 6. 516 duid vyl Adl Budldl o3 W ©
3 % e HRAA 2 ol ay [Qewsduil adudl €. sd »uuRl Jadls widl eu-dly ARNAA oA s3g.

g5l (Quartiles) :

Yadl s34l 2sAdl A HURAlAL 21aclslA % H1@L Bl 1R AL ML ad © A Budla agds
s8ad 8. il R AgASIA 2gsd 0, 0, 0, R tulay .

e UL Hau 25 % Budl @, Al 2l €l 8, AR ull 25 % Budl @ 2 @, {l ad
€l 8. 25 % Badl 0, u 0, ll a2 €lu 8. dell 50% Bddl Qw0+l a2 €lU & 2 25 % [B3tdl
0,4l ay €lu 8.

R sl wbla 3 j 1L agels 0, a3 HURALAL Hal Gl U3 9 ¥ FUl 25 j % Aadlsl 0, ¥edl 3 ddl
2ol QU B. (=1, 2, 3) 204, 0 2l 20 (25 x 2) % 312A 3 50 % wadls~ll e d2ll O, = HBR =M

YRy We
| 50 % 50 % |

Al 209 B M Al ay Bud
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agesl w2 :

| 25 % l

25 % l 25 %

25 % |

Alell 20l ot Q,

gaiusl (Deciles) :
YA 5 vdelsia Aadl $HHL NSl 219 . HUBlL 2Lsuvu 10 oL widl 9 Brdi suius

$8q 8 %1 2ysd D, D,

Al ay Bud

oy Dy gUlaqdl 204 8. 10 % 2adlsH) D Al 20l Bud w14 8,
20 % adlsl D, dl 20l [Bud) 41d & 2iml U 20101 Q4 us.

wH, 10 j % wadlsAl-dl Budl A suius Dl Al 8 G =1, 2, ....9). 28 AS Wl 3

D;=M=Q,

Adiusl (Percentiles) :

AR 3 AASAA, Addl $HHL NsAUML 209 8. HRAAL BLsu04L 100 0L Uizdl 99 Brdla Adias) sdu
B FLUYPA P, P, ..., Pycld allaciil 24d 8. 24l 100 j % wtadisl-l Baudl ju udias Pl sl Baud

WA (G =1, 2, ...,99). 24 AS WP 3 D= P

GRid M = Q,=D,= P
HepRy, Adels), sulws) A wdiud) ol o ey w3 Slanll dnl ol Ad A u 8.
7L agds, ML osuias A ML uadias addl Yol A Sesul 2004 © -

10’

D,=P,, ..,D,=P, d4% Q =P, ¥\ Q,= P,

7

of = QU SRR
UG il

of = D, U of-il
RUGHL ofl

wledl-i JHl agds Jul saias Jal adias
SR ji=1273 i=1,2,..9 i=12,..,99
. 1 . 1 .
wao(lgd Q= ](%) ] D = ](%) ] P= ]('{T*Ol) ]
H[Rdl el se-ll vael s+l qelsas{l
w2l (Buad (Bud (Bud
A
2197
(Adzel
_ :n _ :n _ i
Add 0, aof = ](4)=u D, @l = j{&) P @l = j{)u
21qR- el aof LSl 9ol LSl 9ol
(Adel . . :
e J(%)—cf ](%)—Cf J(ﬁ)—Cf
Qj=L+ —F %¢ Dj=L+ ch Pj=L+ fxe
Wil L = Q Ul Wl %4l L = D, ol Wil L = P il dl
y: AlUGg y: G y: AllGg,

of = Pl adf-1
UGAL ol

Al gl Al 2ugl Al 2ugl
f=0u aafl f=D - aafl f=P-u aafl
219~ 219 [x 29
c=Q -l @l aoldeus | ¢ = D, Al alHl adldens ¢ = P -l @[l qoldens
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Bersm 25 : s Ay d-l 20 S 612 s3en 1 guladl AL wRA w2 @, D, P, AL
32, 28, 47, 63, 71, 9, 60, 10, 96, 14, 31, 148, 53, 67, 29, 10, 62, 40, 80, 54

vaelsAl-l Agdl suHi olsaell 1A wR 2 -
9, 10, 10, 14, 28, 29, 31, 32, 40, 47,

53, 54, 60, 62, 63, 67, 71, 80, 96, 148
wdl, n =20

n+l
4

agds Q= (—) U vadls-l Bad

= (2°4+1)=u wadls-l Bud

= 5.254 wdels-l Bud

{1y A0 Aladl 12 a2l Bad
2yRifsul 2ud dl Q el a3 Bud daa
HI2 YW, BURAE A (Linear approximation) GuloL
KA 21 8. el.d., 5254 Bud daal w2
53, viaellsmisll Budal d vadls via AR slled]
N2Q ¥ 62l viadlsiel 2id-ll 25 % GRRAUHL
1d 9.

= 541 vadls-l Bud + 0.25(681 2adls{l BHd — 541 xadls-l BHa)

= 28 + 0.25(29 — 28)
=28 + 0.25
=28.25

sins D, = 7(% o vtadisrell Bra

= 7(2‘1(‘)F l)m wadlsa-l Bud

= 14.74 2ddLsHl Bad

= 144 Aqels-l Bud + 0.7(154 xHadls-l BHd — 1431 xHAalsn-l BHa)

=62 + 0.7(63 — 62)
=62+ 0.7
=62.7

: n+l :
udids P, =40 (W) UL wadlsnHl [Bud

= 40(%55) L atadistAl Bata

= 8.4 »qdls-l Buad

= 84l wadls-l Bud + 0.4(941 vadls-l Brd — 841 xqdlsn-l Bua)

=32 + 0.4(40 - 32)
=32+ 3.2
=35.2

Wi, @, D,, P, -1l [Bdl 210 28.25 3+, 62.7 -1 i 35.2 11 8,
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Gersw 26 : QA WAL 2s 3N Ul @Rl gl 90 sladfluil-u igelni ©.

M3d gy (A 485 - 490(490 - 495|495 - 500|500 - 505|505 - 510
slaufluill 2iva 5 21 33 23 8

Q, D,, P, 24l 27 dug »dae- s

2l Add 2ugR-[Ade w2 2uud Audl 2ugRi-[Ade Aadly.
CEERLN(RIEY 485 - 490 | 490 - 495 495 - 500 500 - 505| 505 - 510
slavfluill 2iva 5 21 33 23 8
dudl 2ugl of 5 26 59 82 90

2wl n =90
Agels g, w2 :

0, adf = 3(%) L wadlsedl aof

= 3(%) WL wadlsnl asf

= 67.54L wadlsnrl adf
Al 2ugR0 uell el wsid 3 6741 A 6831 2iacls-ll 4df 500 - 505 .
8d L =500, ¢f=59, f=23, c=5Qdl

agls 0, =L+ 43(::1:# xc

_ 67.5-59
=500 + —53=x5

=500+ %2 x 5

=500 + 422

= 500 + 1.8478

=501.8478

=~ 501.85
i, Al e el wR1adl 75 % Slavllaul ghedl Hedu ozl 501.85 Rf@ .
gaias D, W :

D, @ = 2(%) WL wtdelseisl aof

= 2(%) YL lael sl <of

= 184L vladlsenl a0
Al 2Uq[ vl el wsid 3 183 viaclseel aol 490 - 495 2.
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8d L =490, cf=5,f=21,c=5 Qdi

c

D,=L+ 72(1%.2_4 X

=490 + 1823 » 5
=490+ 2 x5

=490+ &
= 490 + 3.0952
= 493.0952
~493.1
214, Al e el w21l 20 % Aol gl HedH el 493.1 R Q.

udias P w2

Pl ol = 55 (ﬁ)m sadlse-l a0

=55 (%)m adlgeirl qof

= 49.541 vadls--l adl
Al 2ugR wel el wsiy 3 493 A 503 viaels-i-d adf 495 - 500 8.
8d L =495, ¢f=26, f=33,c=5 Qdl

ss(L)—cf
P =L+ % X ¢

=495 + B3220 5
=495+ 23 x5

= 495 + 113
= 495 + 3.5606
= 498.5606
~ 498.56
2, Alefl 200 oeell B 55 % SlellH0HL ghel ol ayl 9y 498.56 (& sl
G180 27 : 21g tisil 100 WSAD durll g WRAUA tivs Yeusiadl vl du uell 2unad DA

wd wa ¢ :
yeusidl-l ival 0 1 2 3 4 5 6
as sl A 12 22 40 15 6 4 1
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uyH Ages, 49l cias i 954l Adias Wkl

wAdd sgR-Adre e Al wgRel Aadly.

yeusidi-l v 0 1 2 3 4 5 6
e si-l Avan 12 2 40 15 6 4 1
Ayl gl of 12 34 74 89 95 9 100
2], n = 100
nuy agds Q= ("T“) UL 2adlsi-l Bud
= (%) Ul viadls-ll Bud
= 25.254L vadls--l Bud
A2l ugRL well el st 3 2541 wA 2641 vadlsl Budl 18, - g =1

20, Al 208 Healsid Adl 25 % ALSSHL Hean Yeusidl-l Aval 1

49 eniws D, = 4("1—1;1) Y sl Bud

= 4(%) W wadlssll Bud

= 40.43 2415l Baa

Aul gL wRell el wsld 3 40U 2R 4130 aclsidl Budl 28, - D, =

8.

4

204, Akl 206 yalsid Adl 40 % ALsS Giesell 2 [Ba Yol yeusid A 8.

95 3 udias P =95 (;;T+01) W vadls Bud

_ 100+1 ¢
=95 ( 100 )'-Ll vqelsH-l Bua

= 95.954 vl sl Bud

2

Al 2ugRDL uRefl el wsty 3 953 wadlsidl (Bid 4 v 963 wadlsdl Bad 5 6.
P, = 9541 2adlsmi-ll Bud + 0.95(96%1 viadls--l [Bud — 9541 2adlsi-l Bua)

=4+ 0.955 - 4)
=4+ 0.95
=4.95

24, Alell 20l auid Helsid Adl 95 % ALSHHL Yeusidl-l HedH Aval 4.95 § 5 8.

BE1R0L 28 : Alsd BIAUL NAUA Sl 50 YALSAW HRLS N ()L HRdl AlA- siresui eulda © :

WRAs v | 350 - 500|500 - 650|650 - 800(800 - 950

950 ¥id ay

A Ava 7 13 16 9

5
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(1) 9L 50 % YA HAA-v- Qxzil Andl.
(2) Al ay v s 15 % HASAHL Yrid Wy 324l ¢dl ?

(3) Al 2691 v $2dl 10 % YAGAUL HerH W 24l sdl ?
GuRAL 3alelL galel AL HI2 ULl ey ARAAAL vl Guala s34, d W2 e Add 2uqR-
[Qarel e wuugl dudl vigRl Aadly.

nad-wy () 350-500 | 500-650 | 650-800 [ 800-950 | 950 i1 ay
YusAl v 7 13 16 9 5
dudl 2ual of 7 20 36 45 50
wdl n =50

(1) 516 Rl A H2 Frsinil 50 % wadlsHdl O 2R Q.+l 4 €U 8. ddl @, ¥ 0, WHY.

Q -l adf = (%) L Bl oof

- (%) W vadlsel a9

= 12.541 el sl oof

qadl vugRll ueedl el wsid ¥ 1241 v 133 Aadls-Al a9 500 - 650 8.

8d L =500, ¢f=7, f= 13, ¢ = 150 Qdl

Q1=L+(4n)__cf X c

f

=500 + 12

S-7

13

=500+%x150

= 825
=500 + 55

= 500 + 63.4615

=563.4615
= 563.46

x 150

0, @l = 3(%) L wael sl qof

= 3(3))su vadlsndl adf

= 37.54 adls-l aof
Al g uefl el wsd 3 374 A 3841 Hadlsdl 4 800 - 950 €.
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8d L =800, ¢f=36,f=9, c =150 Adi

Q,=L+ 73(22:# X C

=800+@x150

=800 + 12 x 150

- 225
=800 + 55

= 800 + 25
= 825
UM, 3vadl 50 % HASAA HUWRAS N T 563.46 2A T 825 L 42 edl.
2) Al uRn Al Bud ASH 9 3 Fellell 15 % vaclsl ay Bud 4lddl i ved 85 %
dlslrll Brd d-tell 20l €l A2, Al »uud P 4y,

| 85 % I15%I

Yridi [Bad P, Hedd [(Bid

P, A qdf =85 (ﬁ)m lgelse)l qof

-85 (%) WL el sil qof

= 42.541 vaels-l adf
AL g wRel sl wsE 3 4241 R 4341 adlsHlAL 9o 800 - 950 €.
8d L =800, ¢f=36,f=9, c =150 Adi

SS(L)—cf
P =L+ # X c

= 800 + 23236 150

=800+%x150

— 975
= 800 + =5

= 800 + 108.3333
=908.3333
~ 908.33
2, 2Alell ay e 4AAdl 15 % HASAUL Yeidd N T 908.33 8.
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(3) % Bl 20690 10 % 2celsl €l d B 2ucl W2 204 D, WHly.

|10%| 90 % |

Yty Bud D, Hedd (Bud

D A a3l = (%) H wqelsnAl qof

= (f—g) HL velserdl 9of

= 541 qelsedl adf
Al 2uq[ uRefl el wsid 3 5 3 wadls-nl adl 350 — 500 .
8d L=350,cf=0,f=17, c=150

D1=L+(1%)__CfXC
f

=350+57;°x150
:350+%x150

=350 + 220

=350 + 107.1429
=457.1429
~457.14
204, Alefl 2090 Ueu-v AAAR 10 % HASAHL Hedd vl T 457.14 8.

Y 3.4
1. A4S As addl 50840 15 Qe Aadal gaidl 1A 2udell HulRdl well ota Agels) k).
8,6,7,0,2,4,6,55,4,8,9,3,6,7

2. A5 AR Deal avul el el Baldl s3a sl (BuD)A wuRdl A Sesui sulda §.
wepRy, 0 D, P ldl U dig vidued s

yasdl ((3+0) 0-100 | 100-200| 200-300 | 300-400 | 400-500( 500-600

[Baai-ll dwa 5 18 24 7 5 1

3. s sidaHiall wie sval 80 [Qenelll-l Gur A shesui xuld & ¢

GHR (ay) 17 18 19 20 21 22 23

([Qenellil-Dl 24van 11 14 2 15 8 6 4

(Qeneff>0-l Gyl weize AHl. GURId GHR W2 Q, D, P, U2t WY, dug wefaen s,
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4. s U sfudl2eAl Al were dal w2 AAL Rl Gualol 530, Alell ay Ad- 44l 20 %
s{flaliAL Aarrll yeda ALy AN,

Ad- 53del| 10 3 dell| 15 3 dell | 20 3 defl [ 25 3 def) | 30 5 ql)
MR ) ay ay ay ay ay QY
PETEIEIE NS 120 117 106 76 31 12

5. 100 [QenellaliAl 31 AysHl v w9l MRS L [Qoid (AL siesul suldd 9. 21 vl

HoRy ).
wf (Zui) 200 <) ilesl | 200 - 400 | 400 - 600 | 600 - 700|700 - 800( 800 -\ aY
(Qenefl2A-Dl v 8 23 40 17 7 5

6. 1A R A5 SiRVedHl elvid 2Adl 30 sl RN A5l Bal-]l Ay & :
1, 10, 2, 6, 3, 4, 15 1, 5 9, 2, 4, 3, 1, 10,
7, 3, 5, 4, 2, 4, 8 5 3 1, 9, 6, 2, 3, 17
Aster, [BaRlA) Hze, WL GuRld 24 SN 3 adl 1-3 &y dal s oS adll HR1adL Add ugRi-
[QdRel URaRs UsR)ML 3Rl 2UgR-[Ad el e WL il dHIRL 2UGHL oL A AU,

*

3.5 aigas (Mode)

yeyadl RRAQRAL Y ddl3 U8l Hees 21 HYel 2640 20UG 541 6. As 2y 3y adly ed 204l
ogels=ll oA 538 Fell AUIR A AURAL Aol s WML GudlaL sl 20 8.

3.5.199 :

e WL a4l Alell ay quid Yrakid adl Med 3 wedn 2ugRL HAAdl Budd sigas sdaui
A 8. Al M, 43 sulaqiul 20 8.

aely el 8Rll ql 21 -l Gualol saul wud 8. evdl dils AL [Qadl ol :

(1) 21 ol [Qenelaia a3pAL 3 cunl 2R 8.

(2) iRl sanl YNl Au GRS 1.7 Hler 8.

(3) 24l su-lld AU RS Gawled 50 AAsHL B,

(4) sIRuLALAL SIE191RL U3 3 56Ls A2AUSH 52 B,

2] A1 L Al ay avid vuadl Budn il Aal 209 8, 3 uaM [Qudul wour ey
cltrL [Qenell>ln 3 eum 2Uad © dd YR WA S, Al Al AU a3 egasl Gualo 20 & dd sdl usi.
sgets-il aaadl :

2[5 Rl 241 nudd vuglR-[Ad@ w2 :

el Brudl sigasl Baud diot Rdlamel Anaaini 2ud 9. 2uddl viadls-idl 1eay dvid Yeldd-
Wil vadl Hedd 2ugRL adl Budn sgas ddld dari 2ud 9.
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Belsm 29 : A s iRl 15 aulFaaiz wdleal Yrasidl vzl QA 2uda O :
1,0,2,2,3,4,2,7,2,2,5,4,2,1, 2.
viled Y-l Avuiel sigas Akl
YR A WA Sl 3, 20 Al sl Budlal Bud 2« 7 AR yruad- a8, % e 51 yal
Budrll yririad-ll van sdi ay 6. ol egas M = 2.
a3, Al vkl YdhlHl egas 2 8.
Gersw 30 : Aldl. tiruadl s Su-dlal s HR-uui AW se ELdl-l dwn sl 2udl. A shes
€35 dldLui 84 vfluii- v cald 8. vulluidl qvai-l sigas alul.

wulaidl v 0 1 2 3 4 5
al.dl.Al Qv 45 22 18 10 6 4

gy RAae s A wRUd © 3, x1qdlsH 0+l Hedd 2ugR 45 8. Adl siges M = 0

iy, . dlAl vl dvyidl sgas 0 8.

Y 2L vl olgast Yed oigasl auval 3ot 0 1A 8. yaL A Rl weadl Rkl iy a3
ad ustd AR, siReL 3 2 ogasd yed Wl uz2udui 2ud 8.

el Rl Hi2 weadl RAMHAL Wy ddld des vadl weRadl uiedll sl ATA. w-ua ogesl
Bd hal {2 Hes in HiRY UR AR AR Yoirl Gualoal sl ASH F=ll Aul 21l w3l wion
sl 2udl 9.
Gersamt 31 : 24 250 {16aA As Rayui s3eun §d-) dvan A1A) wRdlui salda 8. §ail-l vl

g alul.
ETER L R 1 2 4 5 6 7
Sdaril Avau 3 7 4 7 2 1

Herd g 7 2 2adls 2 A 5 L gl B 2, U sél wdlA 3 20 [QAdnl A sgas
M =2%1M =5

U, 25YL JSARAL FADNAL 6LgAS 2 A 5 O,

Y 2 2L USIRAL Q@A B-oigasly Rdel sdad 9. A % dd Adl ya [Qde) S u 3 i e
ay oigasl €Y.
Bersm@ 32 : g [BRAMALHL d- s scustHl €2 saud vuadl e€lziHl v A1 wel Aldani 2udl 6 :

3,54,2,7, 8

geloil-l vl sigeas bl

wdl es BHd A5 % duid 2Ud 8 ddl 20U HedH Yriuad- Wy ag xadls- Dl wsdl -l

] o] deedl €l Avail elgas 20ha HURAL wel Al wsidl .

Add sugf-[Ade we :

g} e Rl qdlf 4Addl Add ugR-[AdRRul Faarl 2ud & AR 2adls-l 3o Bud
ww el el

Heureel 9 olges W2 sl AH. oigasl aof aadi 20 & 2 d-L R oigasHl Bud daari
219 69,

100
s, e 11



wgR-[Qdel Hedd U4 AAdL iR sgas adl sdaid 8. AR sle (1AL Yol Gudlal s34
olges ANAAUHL 2Ud 8.

GtgelsMo=L+2ff':—}1flf2xc

Ul L = ogas adld aullsulig
£, = oigds -l 2ugR
f, = otgas adlHL UG- lHl gl
£, = ogas adl ugl-u adl-l suqf
¢ = tigds [ adfdons
A4 : GuR eufdd Yorrdl GuAlol A adleiousS €l dal udd 2ugR-Adaa e o 53 wsd dx
vilgR-[AdRel ey duglt 86 s o 4] w2 Qu dal Bl o 20 Yot Al wsu 8.

¥ igRi-[Adel 2ugRel w32uddl 9f 8 A Aedn-l 2uafR Yol weldlA ul sedl Au § da
2ld-AdwA RUPd 209R-[Ade sdad 8. ual QR As o sigas €laell din As-ogasly

[Qcra gl sl asiu 8, %l 2ugl as {A WA U & :

Rufq zugR-Ada- 2ugk as

[2-oigadlu 2ugR-Adl 2ugRd af 2 82 wa AR sle $3l adlA @2 8. sual sug-[Adan
MAUMAA ugR-AdwL s8au 8, ¥l 2ug[R as {A WA Qu 8.

AR 2ugft-fAda-dl zugl as

Gewswl 33 : A 5w sl Gewe fld-u shesul wula 6. Gaue--l tigas WLl

Geuer (AsHl) 150 - 160 | 160 - 170|170 - 180 |180 - 190 | 190 - 200 | 200 - 210 210 - 220 | 220 - 230
SI0RIAL dva 4 5 19 33 48 22 12 6

a( 190 - 200 W2 e g 48 . dell sigas-l ad 190 - 200 8.
101
Heqadl R wy




€, L =190, f, =48, f, = 33, f, = 22, ¢ = 10 Qdi,

ol s M0=L+2ffi—}1flf2 X ¢

48-33
=190 + 2@8)-33-22 X 10

15

=190 + 5g=33-75 ¥

10

_ 150
=190 + yE|

=190 + 3.6585
= 193.6585
=~ 193.66

U, Gaulertrll oigds 193.66 2154l .

Be1sal 34 : s garerR el el [Bad AL &si dlwuil sileal-l dvan QA1 slesui 2efl 9. 831 Naii-l
ofl2all-l Q- tigas Akl

sl v 0-3 | 4-7 | 8-11 |12-15|16-19 | 20-23

(Baui-ll v 3 1 16 20 18 12

Qo 12 - 15 32 Hend 2ugR 20 8, ddl sigesl aol 12- 15 8. U wAaRs 2ugR-Ade Sl
2R d adfl fLulbigil 11.5 - 15.5 asy.
€d, L=115,f,=20,f =16, f, = 18, c = 4 Qdi,

olgds M0=L+2ff"_'—_flflf2 X C

20-16
=115 + 220)—16-18 X 4

_ 4
=115+ sge—g % 4

_ 16
=115+ 3

= 11.5 + 2.6666
= 14.1666
~ 14.17
U, 31 Yleliql el2dlql QuiaiAl oigas 14.17 8.
tigas W2 AU YA (Empirical Formula):
2 Ay 3 el AR olgas e dd eraRd ag <ol URg issteurell sied QR 1R el el wyel
H2ell 10 UL HELS, HERY A 6lge s QAL 01 URAURA 53 9. dueil [AaRL 3ot A1 U -

da AQdRd o 2dell Rl W2 1S 2in oigers QAL dSlad B HELS Bin 1R dSlad Sl @Le10L 3 2Ll €1y 9.
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s x =A+E—f’xc

— 6
—37.5+§X5

— 30
=375+ 35

=37.5 + 0.8571
=38.3571
~ 38.36

gyl qof = (%) L waelsL adf

- (%) W vaels-- aof

= 17.54L aedlsa-l adf
AL 2ugf well sl asid 3 1730 ¢ 183 vadls-dl f 35-40 &

8AL =35 ¢ =14, f=5,c=5 adi,

X c

n_
W M=L + 2f

=354+ 175214 5

=35+3.5
=38.5

iAEd Yoo REl, M = 3M-2x
= 3(38.5) — 2(38.36)

= 115.5 - 76.72
= 38.78

M, LERAL VA Al W QAL AHA-L opgas 38.78 sdls 9.
Belsd 36 : eidll asdlsdl cid-u $i522 WA WU AlFIA yasidlHl qvar DA-u sesui 2ula 9,

yeustdl-l Avarsl vigas kL.
yeusidi-l vl 1 2 3
17 | | 18

(Gl Aval
e vugR-[Adw Pst [Qde S v1a adll-l dous 200 8. ddl 2w sigers dadl W2 R

4-717-10]10-15

9 4 1

il Gualol 539, Hes A we bl Hi+ll olRiddl wieseHl slesul eufdd & ¢
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yausd-d | alFaui-l v H(Z3ud s Ayl wugl

vyl f x of

1 7 1 7 7

2 11 2 2 18

3 18 3 54 36
47 9 55 49.5 45
7-10 4 8.5 34 49
10-15 1 12.5 12.5 50
& n = 50 179

A4 walud x A Bud W 4 dladl 2uad 8 A aurad g2

F=2x_179 _
Wy x="" =08 = 3.58 yausidl

HeRe = (%) W vl B

= [3)2u wtadlseill Bata

= 25 ¥ vadls--l Bud
Al 2ugR wrell 2nsll wsy 5 254 waelsaddl Bud 3 8.
s M= 3 Ydisidl
WAEA Yo well, M, = 3M 27
= 3(3) — 2(3.58)
=9-17.16
=1.84
Y, el ds2rl yeisidll Avaiedl elgas 1.84 8,

3.5.2014% W2 wAwl Ad (Graphical Method)

o Udd GR-QaeHl 2 deiatnl @il sla dl s ool duudl slgas-l Yot
(et <i.101)<l Guulol 53 sl Al AL 3 e doudain 4ol €ld dal Add igRi-
[Adrel 2id vl {ld eigas 4l wsid 8, 2l 2ugR-[Ad@- adoidui-l Gualal sl 2ud 8.
2L {d §5d ds-oigasly RQdwl W2 ¥ audl wsy 8.

Bl Ad axeral w2 20u8l AAA lddlHl Gualo sqAy ¥ ayGelat s il sl @ ) 8.

a5l (82 T) | 20-40 | 40-60 | 60-80 | 80-100( 100-120

A5l v 2 13 2 9 4
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2L g R-AdwLA dendut 1A WA © :

y N
A B MMM :
224
o8 1A =10 e T
201 y-ua ;1 A4l =2 Asl
181
P
161
T l
— I
141 [
< 124 !
7 :
put |
CIRTY! !
! l E
81 |
|
|
6T |
1
1
4+ !
|
|
2+ ]
|
‘ ‘ ‘ ‘ Q ‘ ‘ s
<€ §) > X
10 20 30 40 50 60 70 8 90 100 110 120

— 5 (soR T) —

opgas Ayl 12 2R Alnx Alell ay dousS arlddl deilRun 4y ¥ Hedy 2R 1AL 9o 3R
s, w1l a2{60 - 80 8. U L diALR1 Gu-ll cuyg AB ad ealdlg]. 8 2UR 2L elot 4] 2A%6U% L
6L ol R0 ASY . 2L o0 23 A9l 40-60 24 80-100 12D . 2L O oAl GuR] clogaila v
rsH CD i EF a3 ealdlg. ¢ 204 [Big2ll A 241 B Aidl vuvis AE du o ol 2vivis BD €14y.
AE i, BDrll 9e-AGign P o sauldly. Big P ol x-28 UR ot €lrdl d cot x-8n oul 46 9 A Bign Q 4
eldly. GG O A [Big Q ariry vidR 2uualn ogesl Bud 2. GU-il deudut yell A asid 3
0Q = 68 (82 T). U, UL AYBElOL WsH AL 51l siges T68 (SANR) B,
Bersm 37 : s Wil Dsndl sl sudls vudl Assl-l qvan A wilRdlui ealda 8. 2udu-l Aa-l

Gualol $301 eigas aldl.

wdl dssi-l Avan 1-4 | 5-8 [9-12 | 13-16 | 17-20 |21-24

ol vl 4 7 12 19 9 3

2L AFAARS SR Add 2wgR-AdRA 8. dzll 20Ul deudr €l W2 s adl-i Alubig
Aadly.

well olesldl dva x| 0.54.5 | 4.5-8.5 | 8.5-12.5 | 12.5-16.5 | 16.5-20.5 | 20.5-24.5

ol vl 4 7 12 19 9 3
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L [Qda deudu A 23d © :

y NHIRHWY, ¢
% o8 1A =2 assl
B y-ua s 1 AL =2 oRdl
181
161
:P
144 =
T
e
< 10
? E F
L8
6,,
4,,
2+ !
5 - QL
\ 2 4 6 8 10 12 14 16 18 20 22 24

« vidl Qasl-l Al —
QU -l GuUAlaL 5dl OQ = 14.2 HA 8. A, oAUl viell Assl-l Avall elgas 14.2 O,
Belsw 38 : Ag sudl- AU euad el el Barlly Rde A siesui 2udd 8. -1 cuadl vgas
2uduidl dld dnal.
AR QA (%) 200-210 | 210-220 | 220-240 | 240 -260 | 260 - 300

[Baui-l v 4 13 36 16 8

ALl {d oigas Anadl W deudu €l 8. s vigR-[AdRaul adldeus uud e, ddl
ALy, 2R Yetdd adfdons- whami el il Aadly ¥ A stesdl eulda § ¢

ARl Gl EREET gl AneL >ugla

200 - 210 10 4 %“0:4

210 - 220 10 13 % x 10 = 13
36

220 - 240 20 36 55 X 10=18

240 - 260 20 16 $ x10=8
8 -

260 - 300 40 8 26 X 10=2
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o+l 2ug 7t

s aof-l Rl gl = S

x vydy asfdens

il yedn adldens 10 8.
AN 2GR 93 €14 deudut {1 i e ¢

yl\
A B NHIAHLY, :
181
o813 =102
161 y-uid 0 1AM =2 RBan
AP
141 =
C D

I 124
Z

101
T
z . .
&
d

6__

4_,

2__

%J\, !q : : : : >X

) 200 210 220 230 240 250 260 270 280 290 300

— WL Mg (T) >

8, AUl Al Gudlol 53U 0Q = 227 2
M, AL Slardl oigds T 227 9.
ugeLsil M A SRAUM :
A
(1) A AHFUHL A4 dRldIHL AN O,
2) A Ht [dlaael Aadl asy.
(3) aril uR A M2l A [ Al vadlsAll ay usdl 2142 adl el
@) a-fl Bud 20Qv @ Aadl usiu 8.
e :
(1) d AssA da R 2dd [l
(2) 20 A W2 sl ay srgasl QS u¥ 8. wUR Jedls avid eygas Wl wsidl -l
(3) A ottl delsl YR dRd €ldl e,
(@) newsl aeunelHl dui Rl R 208l Qo 8.
(5) A (AN &Alys Bul w2 vgsm <.
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ALY 3.5

s gl Qenllalinl ofexis Q) «IA »uldal 8. [Qeusll-l oyfeatisdl sgas ).
146, 134, 143, 144, 138, 145, 153, 138, 138, 146, 140, 135.

A sres s Asdaiel e Bad Qada 35l dvul suld ©. 351 Qe oygas kL.
$5+l vl 10 | 2] 13 16| 17 [ 18
Baldfl v | 5 9 125 |16 10| 7

5 qglsiil 48 aulsail-l Gurd [Adel 1A 2uhe 8. slgas Wual W sy Yo Doy A ? 33 7 qd
Wit s Yoirll GuAloL AR qgian-ll aulstal-dl Gurel sigas ).

GuR () 50-60 [ 60-65]65-70 | 70-85 [85- 100
il v 6 10 19 9 4

glsalr] uafii 8 wHsial dlfal i @Aswal) sufadl A Rl uell dnl sigas QA dulg Haa
ofelldl.

25.2, 26.5, 28.6, 32.1, 29.0, 29.3, 31.3, 27.8

A sles s ol AsBid s 86 AsAAL a%trll HURdl 20U . ASVYAAL A%~irl olges
Q) :

A1 gt QUH)  [120 - 130{130 - 1400140 - 150150 - 160[160 - 170[170 - 180[180 - 190
gl dval 8 13 19 23 10 8 5

L AUl wel vl da wel sigas Aad).

50 g3ol-l WRS 803l 1R AL stesHl 2« ¢ -
QU (SMR T) 0-5 5-10 | 10-20 | 20-30 | 30-50

gdolAl v 1 7 14 16 12
Q] dd 8L olgds Andl.

wegadl Rfd-i sl Wi seais wRensl :

1) A 2u0d WRDHL ol el sl Bud 2w Sl dl wadl Rl ol -l Bad 1wl

Sy 6.

gluiel ddl3, As aofuidl waie s2en 5 Qenlfxil-l Gz (afui) 15, 15, 15, 15, 15 dl, dl wadl

RAMQL otal Ml Bod 15 w9,

wed 3, x=M=M=G=7%, =15
2) AU 20U A Ad QdRd 234 HURdl 112 1, 1wy v siga sl Budl A Sl ®.

weadl Rulani ay



(3) A4 x 7 S5 YAdR AA b 93 dRlAHl A A QHL A g GAAUHL A dL AL y = bx + a
Ha .
Hes (A U AL W 3 x ~l s X+l GUAlIL 5T AR A y AL WS F=bT +a Aol adlA .
A % A x ll 4R AL GgEs U Sld dl A y ~ll gsH HAR YL cigds WY usA 9.
y Al HRRY = b (x ll AU + a
y <l olgds = b (x ~ll 6lgds) + a
Gersw 39 :
(1) AsAAx -l w259, x Widl 3 oug sNHE 2Ud i AR 6UE dA 2 a3 GURLAUHT 2ud dl HdlL
Al weus ALkl
(2) agrl eua (@) i Al HidL (d) AL Aol d = 50 —2p 6. A Rl HAUR T 11 1Y, dl Hidwkl
neRY Wl
(3) s sulHi sm s sHAHAL Al igas T8500 8. su-dlul sHuvAL AsagLon 2 €35
sl dannidl 2 % BH sl Rely dal 6. d swurdl AL sigas Akl

1) W y= 23, % =25 dndl
- _ -3
Yy =73
_ 25-3
- 2
- 22 _
=% =1

1Y, y Al 1S5 11 8.
(2) d=50-2p A *Ud (p) *l Y 11 8.
HIOL (@)l MR = 50 — 2 (p vil HRY)
=50 - 2 (11)
=50 -22
=28
4, HidLAl HeaRY 28 WsHl Ul
3)  s{AlPA Adnsdl (x) sigds T8500 9.
Asasudl s () =2 % x x

= 0.02 x
o AsdsLouAL 3L (y) sgds = 0.02 (x il olges)
= 0.02 x 8500
=170

UM, ALASIOUL A2 sUAA AL olges T170 8.
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3.6 v, HERY, oigastl da-lcs oA

24 Headl RAMAL QRN Wil cet 21 eneil Qul 53 6. d-uell e 2y, 3 85 s o
ARUA L USR] aelp AHRUPNUL GUHLl 4 43 d Al e35 AAAA S5 AR GUAldL 1Y 6§ du
arll 32ells ulelall du ®.

dHIM ARAWMHE Hees 1] wpA qaeial ol o r3RUAA AN ©, dell HRdlAL [Qrawa w2
Hed YRRARNHL a-l Gudlol saHl 2Ud . QAN Sllys Bl 32 Ag g0 €1d d Hersd Al w1ol
aan 8. 2uld ufedl [QRY el xexi saL 1R vaal 8 AR ga-l sl W2 auidl GadR
issiA{la ugldanl viea w2 dlfid aal WAMAA A3 Hasdl Gualol sl vUd 8. AL slotdl Hesa
Heyadl Rl 25 Sedy (optimum) WY eiA1d €,

yel o Rl uuedl 2uui w3 Ad QdRd A 4 &ld dl Hes ad a4 Rl A nlRBa
Yoy dld 4 wsg -l wurwE, wdllAnus vieqi 3 Gy ugRpla siadt aru adl auq da [QdRq
adal 1ol el dudl WRRARQML Haadl Rl ay A3 Wu e i 8, Riael, sa0dl, aesl Ady
gl elicts HURL Hi2 WAl ARAA dd3 GuYlaL S 2 .

AUIR A ARy -4 elgasl [QAN Guylal sl 2u1d 9. deucts R Hi2 yal sgas Guylall
AR 9. w2l RRALAL Azl 24 Al 2ae s8] sl auid Hedd sl uiedll 2 R UL
Al 9 A clgesd Gelsw 8. duR susi-l su-lzil dxer yarrvl eirtiad)l Su-dluil A Aoaal W2 sige sl
Hlel nuHRHl Gualol 52 9.

i, ARAAA uiedll A suotdl U AR U & :

(1) Rl @3u (2) veuA ds0-l Yasl dael (3) vouAl &g @) R adllse-dl usiR
(5) GRAdR wisstuAly @sAy w2y 3RUd

N
- { uaria )} N
e A5 uRl Ydnl Aaelsl ¥ Srdlu Bud duAwR AslAd 0 © dn weadl RRldd Wy vl a3

PRETU
o s Al ay uAld AR 9.
o udedl, suius, udiasia -y A sday 8.
e AdlslAL ARAUA ARAALSNAL g4 AvUl A el weLs HA 9,
o A a3 adl ay yell AL d Sl dl A3 HRAL w2 Ps wes dadinl 2ud 9.
e AAdlSIA d¥rl Hecdrll HHIRML R A cUlRdd Heas HaHl 20 8.
e 71 trl AACLSHLAL JRUSIRAL 72 HL HOA YRITR HeAS sy, 6.
e RN 533l Alsadi deil v ddl BHdd HeRe sdady .
o gy, salusl A wdias) A R ANaclsela s 4, 10 211 100 ¢RI A ©.
o Al ay gR YAl Aadlsn, Glgas sda 9.

o WS, HRY WA 6lgds ARARL Yot M = 3M 23 A ARURA Yol sdUl 8.
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9. opds:

wallgd wlkdl dd 2ugRi-fAdw Add 2ugli-[Ada@
M, = Al ay AR ddadl| M, = Hedd WYR HRAAU M =L+ % X ¢
. . m 1 2
adlssl Bud vadlsasl Bud

10.

VAR YA : M = 3M -2%
o

ARIY 3

D3 2uda eglasey usql w2 w [Aseudl yaiedll s :

1. 59 ARAA U AU A2l vl [ el Budledl Qe ay g2 2y & ?
(a) AHIdR 1S (b) HRY (c) olgas (d) ARl U
2. fAuil 55 Bud uem e syl ?
(@ D, ® Q, (¢) P d Py,
3. Al sul AeolHi Heys il wsidl Al ?
(a) adldons xR &y, (b) vical BalniL adlf €,
(c) adll-l vyl 59l ay €y, @ RaRs usR-L adlf €l
4. 55 uel Rl w2 Al i) Aoiw s ?
(@ x <G b x=G ) T>G @@ x>G
5. AR W wA dd QdR 23l WRdl e AA-piel sy wRaum wy © ?
(@ x=M=M ® x>M>M
© xX<M<M d x<M>M
6. 2 10 adlsdl HASs 15 €U, dl vaelsldl AaA) 324 89 ?
(@) 25 (b) 150 © 5 @ 1.5
7. 5 wadlseledl ARl 2 Z(x-9) =08\ dl Husl Bud dedl €y ?
@ x=0 ® x=5 © x=9 @) x=45
8. adlsdl 7,9,9,1,7,9,4,9, 1€l eigas 3dl ¢ ?
(a) 1 () 4 () 7 @9
9. 50 vadlseilrl uyeul 1Y 2d g ?
(a) 2541 vadlsdl Bud, (b) 2641 vadls+l BHd
(c) 25.54L vadisndl Bud @ 26.541 vaels-l Bud
10. 4 17 9+l JRlluR Hs d2d) 4l ?
(a) 4 ®) 6 () 6.5 () 36
11, 25 AdDl s 15 2 3R, 20 &Y, dL wuRd Yool sgas dedl 8l ?
(a) 30 ®) 5 (c) 35 @ 17.5
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12.

13.

14.

15.

10 delslrl HeuR2 14 8, A e85 el o] Al dl Holdl Al sl qeRe J2dl e ?

(a) 10 (b) 28 () 7 (d 1.4
5 WRIAL ol taels-l A Bod 16 8, dl d-l sigas 3edl e ?
(a) 8 ®) 2 (c) 16 (d) 4

(A-uniel 5y QA 2 8 ?
(@) AgdA a3 R vaclsAl 4 cuaHl adaiy 8.
(b) HeLs U HURIAL vladlsla 2 oMl add §.
(c) udingl 200d HRIHAL 2adlsA 100 i a8 8.
(@) suinsl 20E HURAIHL ANaelsA 10 ¢l add 8.
Blarl Wy eiriadl 215 su-dldl 6 wsulll dousS elleud) A ud o -
1.05, 1.15, 0.98, 1.12, 0.89, 0.95
(A-niel 5y Qa Ad B ?
@ogas =14 () egas=1.154 (c) agas = 0.98 {l (d) eigas ww -l

AL WAL WS AsUHL FUs 2L -

Sl A U O o

10.

11.
12.
13.

14.
15.

Heygel 518 YRl Bls Al ARl

ol wAcls e Ut %L AL Sl dl 59 AL Ayl A ?

o 6L ey AANAL AU 0L,

HeLs, HERY A oigds dRAd AR Yot duil.

56 WRRAQML deldr s Wl wasidl Al ?

oiges-l vyl L.

Hegs HeRY, ogds AR BURARA Yol AR Aisdlle, A ).

10 delseilnl 12 55 €9, A Hedd ddlse-dl Boa 1002 adld 110 i, dl el Adl
a2l

Vs A x D HUS 9O, AU y = x + 4+l HS Fed)l e ?
lAq 2ugR-{Adel 4uddl Aerl siges A

x 5 10 15 20 25

f 12 48 23 10 2

6L Al HELS 5 69, oA s AL 6 &Y dl ofle Avyl WK,
uaelsnl 15, 4, 7, 20, 2, 7, 13 412 ugd Agels Aadl.

vieadl B3l Rl €ld ddl Add 2ugii-fada w2 waadl Rl Wy adly 58 aua Aadl
usiy ?

s A4 U2 O, = 2575 A dl P, WAL

25 3RUAL B[RS Hiorl e 15 A0dd 8. A A 838 d’g, T10+L ¢ AL €Y dl Al aslxll
HeRey Sedl s ?
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10.

11.

12.

13.

s ugYH Gutesil Hell-ell eiRe olleellii ugyH-il il Hs 29.6 AA w1 30.4 Rlal
Q22 dldl Adu. du He g 7 sledlul ugyudl ol ((RAul) [ w1l & ¢

30.2, 28.9, 29.2, 30.1, 29.4, 31.3, 31.4

g U Ml Yoy dd s 52 ?

215 adfrl 34 lsANA AL JYRirl Hus 57 ©. d L ol 60 [Qenelfuilel el Hes 59 &,
eoLs<L0leAL QRiel Hes Ak,

215 HRABHL 50 vtaelslnl sl Bud 35 edl. wesnell Hgy usy 3 215 vadls-dl Bud 50
Al Al ecdl ¥ vldl sdl. 2L vadlsAn ole Sl GUSlAL vadlsDHl Hs L.

vefana [@yudl udlami x5 wyedl 18 Rendl2aifl 3 Qenell) wa qa. Wy 2dd 15
Renlfalel 9et (A uud & :

42, 65, 53, 75, 43, 50, 68, 57, 79, 48, 51, 61, 55, 70, 64. 6t 18 [Aeie(lailrl eIl HeaY
a4l

25 su-ldl BRs Qe wes 126.2 8. s Adl AeAd-lR vy oie 10 Baisl du@iL
sl A uHd © :

156, 125, 162, 153, 130, 124, 127, 142, 149, 121. g <<l 2ndya-{llaell du@ weis ) 8
A sda ?

A1 634 Haal :

1.

el el ol dlaelli Bedlal auanl YRR vl AL Sesui euldl © :
y[Re-ll v 2002 4l |200- 300 | 300-400 | 400-500 | 500 3 Al ay

gel-l van 7 13 24 16 10

quAAAl YRAAL Avaiel Aeze okl
w5 QUIKIAL AlsEls Asl-gsla-dl wa Rl A R 9. sl eigas .

15l (SR T) -2-0|0-2|2-4|4-6| 6-8|8-10

el v 4 8 14 6 2 1

25 sRuul gsirilell ey Qudd aG-l oRil-l va A 2l & :

geil v | 25-29 | 30-34 | 35-39 | 40-44 | 45-49 | 50-54 |55 A ay

[Zaaill v 9 17 32 24 10 5 3

QA el dval W2 @, A D, WAl

s s1do-u [Qaeff2-l Glus A sresui 2u0d 9. [Qensf>il GlRuS- Hes k).

Gl @) 150 - 155 | 155 - 160 | 160 - 165 165 - 170 | 170 - 175 | 175- 180 | 180 - 185

[QeneflAl) dvar 8 10 20 17 15 4 1
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5. s (ARl Wl 130 Al RS vuas @1 TH) I uHl & -

sas BAMR T)

4l edl

4-8

8-12

12 -20

20-28

28-36

lFaaill v

6

14

31

35

28

16

il sell HeRY WKL,

6. A5 [Byealril 70 duM3AAL arcdl (8214l) QA R AL stesHl 2d & :

axdl 82R)

0-10

10-20

20-30

30-40

40 - 50

STETRY R o) TS

6

18

22

15

9

v A adl-l olgas kL.

7. s udlanni 60 [Qene2A2 Anden el [@Ade 1A Yoo, ©. [Qenfl>qn Jai-dl Heus .

Ja

0-10

10-20

20-25

25-130

30-35

35-40

[Qeneflii-l 2iva

3

8

20

16

9

4

8. s MBEAAL 50 s{A2AAL duel sl QUL AU dwid saML sudl. AL Sesul

afl [@adl 2udl 8

A 634 dnal :

AU (HELs) 5-5.5|5.5-6(6-6.5|6.5-7|7-7.5(7.5-8|8-8.5|8.5-9
sl 2Ava 1 3 5 11 15 9 2
5¥2R qURIAFL UMY M2 AgYSL 0 ¥R 0, WAL
1. s wou-n 55 [Qewel2 al wuldl -1 »uld .
L 0-10 | 10-20 [20-30(30-40|40-50|50-60 | 60-70
(Qenefloi-) v 4 7 11 14 9 7

®
(iD)

2. 6L onwel 2R A wuy QAL avunel sausll 9. A Wl ww @ ¢

%A 30 % (Qenefl>il Aru 24l . dl Wl Yal Hiel o33l el AN,

oA, el ay el Ana-iL 5 % [Qene>la RragR suuddl du dl dul yrdy 9 32l ¢ ?

2y (R (5

10- 15

15-20

20-25

25-30

30-35

35-40

A elims- 2Rl dva 4

7

10

5

3

1

B a3+l 2iuRi-l dva 5

8

15

9

6

2

HOLgeL BUMIR SUL Glw3ell 214 dY ARL Y 7

V53, Q8L 11
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g su-ll-l oel el [Rad daidd HeA-l Avulr [@Qawl 1A 20ha 8. A well daua WAl
Al sigas Yoy yotedl kL.

weldl dw | 0-10 | 10-15] 15-20 24 26 28

(Rl 2w 8 14 16 1 4 2

g5 AL PEL LEL GUOLHL VLl Aadell 215l 8-l ws QA lRdl 1A 2ude ¢ :

A52eELs ws (Baza) 20-25| 25-30| 30-40| 40-50 | 50-60

w3l iva 12 23 45 29 7

Bl BHWS ULslL HERLS 27 HERY, AU,

215 el 150 Raf-l G [Qdra (A uHd & :

GHR (aN) 15-20 | 20-25| 25-30] 30-40| 40-50| 50-60 | 60-80

dasi- Ay 6 13 19 52 34 18 8

Aas-{l Gl siges vl da L.

5 Gedles A WA O 3 Al BFAS Geuterl oigds 70 9. U GeullRd AsHdl Raidui el 35
sul ugdl dliie WRAML Gautedd] [Qdrel (A wwd wa @ :

sl Ava | 60-64 | 65-69| 70-74 | 75-79 | 80-84 | 85-89 | 90-94

(Bai-ll v 5 7 10 8 5 3 2

g Arl Ganensdl Avi-L sigesHi 81 31 2l & ?

A5 gsiruizll ey AALdL O SUl2AAL detel selrl QAL i3l 1A WA 9, % 40 Raud
Q@ eufd 8.

dari sou-l v 2-5 6-9 | 10-13 | 14-17 | 18-21 | 22-25
Razil-dl syl X 1 3 17 9 6 4
dval sjudly| 5 9 20 3 2 1

el AeMell sc M2 HeRUrl GUAlAL sAML A, dl 55 Su-dld A aiR © dd sl
usly ?

50 [Qaul@d Yl Al @od-uxu-dl GHdg (yL adHi) Qa1 ud & :

Gu (av) 21-23 [ 24-26 | 27-29 |30-32 | 33-35

Y-l 2Ava 6 21 15 6 2

Qv da dudl qor-unyHl GHR-L sigas k).
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UARHUIAAL S¢o-llu aawll :

HARANAAL 32als Ss-lu carl A Yoo & :

(1) HUR™IAAL vl e i A5 &Ll A S

(2) a+ll aRiddl Adell v AHAAHL RN &1l A SN,

(3) a-l 2l Al sl o vadlsdl Guulal adl A SA.

@) A 05 Bund dul xisdwHa AAdA2 12 250 €l ASA.

(5) & Medn-A whaHl R 1y €ld AL, A2d 3 w5 o AuRaiell wir sexl el el Redl Aami
A dl duiell Hag HARY WU @Il ARy Hog ASA.

(6) a-ll Bud u Aledll 2 Al 207 2 Hel vaelsldl 28 208l &1l ASA.

4.2 WARKUIAU [RUa i s Jy-l va

[Rua Wy (Absolute Measure) :

% UAR~AL HIUA HURBlAL Btacl sl 2UsH ad safaail 21 d WU HwR (AU Wy ssaml 2ud
8. el.d. 2 UL vadlsld 2sH Ban lu dl HaRAL [FRUS Wyl 24yl [Bau aql.

A % el ay Rl AL iadlsel el el AsH) HRAddL Sl i Al HR-L AeuHel sl
Sl dl RRA& Wy GuYdl - oinl. il sleld (1AL Gels@il AuwA ¢

a2 3 1S As wourl RQendlil-Al ax- (B3uHi) 27 dxsl Qs D) 20aL 9. ¢ Qeuell
a2t i, GlALSHL HuRcllHiell A3l ay UAR & d welal Ui d-l [RAe Wy Aadl dl ages{l wRdlul 84
HARAL A& Myl 254 Baul 9, R Glsl MRl 8@ uanR-AL [RR08 iyl 254 A4 4. 203,
ol [RRUA WUl Y-l 254 el el 8, ddl du-l enell sl €lu dl [RRU8 1y vl d asd < oA,

wda Wy (Relative Measure) :

ARG ¥ WY 254l Ysd U A HARY, Wda WY 58 B, A 3 dedl ay R A3yl vadlsHlAL
AsHL [t QU AR ddell MRl dvimell u0e Huell o 4 43 9.

AHIY e Wl vadlsli Wl HAR~AL AR08 1Y i A3~ 2aelsl Y10y A21eU-L Rt
AR, AAA WY 5 8. UAR-L AYE HIUA HARLS (Co-efficient of Dispersion) $8 € i il Wy, Rl
el sl 2isHell Ysd U 9.

4.3 WARAL HIU (Measures of Dispersion)

U HARAL (A culdd [QQy M08 21 w08 1Al e sy -

(1) [@QcR (Range) (2) 4gds [Quart (Quartile Deviation)

(3) AU [Ayar (Mean Deviation) (4) W [Que-t (Standard Deviation)

Guy s el [ARdIR 27 Ageds [QudAn 2w nAR-L ld Wu sdlg, s1R9L 3 2L Wy JURL
Aacll sHHL ANEAAL AAALSAAL U YR 2UHR A B, U AW [AAGA 21 HHBA [RQAGAA 218
el ARl suladl iy s€lg, s1R0L 3 21 6lA Wy viaelsHlAl weadl wuell dia @Qaasd y 2uaR
AN 9.
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4.3.1[d21R (Range)

WSl Al A2l 217 Aell Alieil vtelsUeAL dsladn [RAR S8l 20 B, oA Add R o slaan 20a 8.
([QRclR =R=x,-x
wul x, = Al WG 2adls
x, = Al g adls
(AR R ¥ HAURY, (FRAA WU & 2 R -1l 2153 3L % €U 8 ¥ wdcdlseilel 353 S,

. o
swll A diRel oua 2116 2U5URUL M Furl Ail A2+l

115 N &alls elteila UYL 9. ddu Yl
—~ 110 - -
b s e . We D3 Yedd old T 115 A Yridd
~ - A
z %] a : old 7 80 B, AL, RrdR = 115 — 80
[ —~—— : =735 ul.

vsal3ul

v
[Qzctl ey y2efl e 8 3, adllgd WRdl Qlu el @R a1 »adlsA-l 2ugRi-l @32
il el 516 wa adllgd 2uledl w2 Aol N Bl aoll GuecAlPu i Al -l Bl ol
2l dslad el Q Rl R Aadl asy 8.
AR @R R A x, + x, 4} ctodiefl wda QiR wa 8.

R _xg—x
xH+xL xH+xL

e [QdR =

A& [AARA [QIRls (Co-efficient of Range) URL s8al Ud €. [QdRls 2 AsHl Ysd B,

A S WAl HlRdll w2 [Qzculs el € dl 21 5l asid 3 Aulferu sl Aaq 21 8, vtald
A5l Bl 2 s0{lonell og waol A2ll, uig 2 [QcRls M2l €l dl AHfeeL 5L Ade ay B ¥ sl
ast. 2l sl Budl 2lselload] qell vao 8§ dx sdl wsiu.

GeisRel 1 : g cigudnru Bl Sedl su dani 2usi 48, 75, 37, 52, 93, 81, 25, 72, 18 A 60 -
Q9. 2 HURAL uRdll drit 2mt-il (AR dan [AzdRis 2kl
@l x, =93, x,=18
adl [RdR = x, —x, =93 -18 =175
R=1753
U, AU Beell tu AUl sl el (AR 75 2 8.

R
Xy tx,

[QdRls 2l WE [QR =

75 75 _
= 93118 111 — 0.6757

[AdRis ~ 0.68
UM, LAl L [AReUIRLS 0.68 8.
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GEWWL 2 & Ag SRV SHERIAL HUIRLS dd-l DA R el 2uien siugRl-i wlas ddnsl [@QRdR

A [QarRis alkl.
WRAs dan (T) 3500 | 4000 | 5000 | 7500 | 10,000| 12,000
srueRl-l v 3 21 30 19 6 5

2l 2004 2UgR-AARY 2Add B 247 Ad Fud (QActrt) el 2e 8 3 x, = 12,000 21 x_ = 3500
[Q2dlR = )

= 12,000 — 3500
= 8500
R = T 8500
B, SHERLAL HURS dd-rl [RQdR T 8500 8.
[QReRis = foxL
_ ___ 8500
12000+3500
_ 8500
15500
= 0.5484
[QRdRis = 0.55

U, SHERIAL HIRLS Adedl [QdRls 0.55 8.

Gewsw 3 : S16 s F52dMi GaulZd adl azguild du-l auq Yool el el vilvuni Hsauui vud 8. 1
el HURA well vilvurl gl [Q2dik 14 wda Qe Ml :

az (3w 10-15| 15-20| 20-2525-30] 30-35
wiiwi-l vl 8 15 26 47 4

2l 200 g R-AdRR Add B, 20 sug-Adedl nay qof-l siellu 27 vifau qof-l Gl
2rgsA HUSAlAL Alell ietl 24 Alell 2l 2iaelsHl sulad.

»ald x, = 35 217 x, =10

[QdR = X, =X

=35-10
=25
R =25 [33u

Al vluinl dal A%l QR 25 Bal 8.

R
Xg + X,

Aa [Qdr

25
35+10

=25
=3

=0.5556
A& [QdR = 0.56

Al vluin e ao+t-L [QdRis 0.56 €.
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ARy 4.1

1. s @l 10 Qenel0 Qs @D A 2004 & -
162, 145, 170, 181, 167, 151, 175, 185, 169, 156
2L HRAL el Qenefla0l Gludel [ i [QdRis k).

2. s oL suslel 77 ol wdwd Yasdl e ww 8. 515 s 24 516 vis WA oAl Adal JusA-l
Avyiel A u0aL [Qde el 25 oAl YA sl JASAAL Al [ A [QdiRis 4.

yawAdl Adva | 2 [ 7 | 10 | 18 [ 25 | 30 | 37
ol v 1[4 |1 |17|23]|16]35

3. s wouri [Qenlbe A 2ule et ugR-QAde well Qenel- 3l [QR 249 w08 [RdR DAL,

e 20 - 30{30 - 40|40 - 50|50 - 60]60 - 70|70 - 80
[Qeneflall v 8 20 | 25 | 60 | 45 10

4. s QR 20ddl 80 gstil-l 2R asu(eanr T uaki-Rde A yore 8. & wrell 2R
sl [l FRUg 2 e Wy dadl.

2 asA(enrT )| 5-9 |10- 14[15- 19[20 - 24|55 - 2930 - 34
gsiriell dva |2 | 17| 13| 1] 7

*
4.3.2u¢¥s [QA4 (Quartile Deviation)

2 ARl ¢l 3 PR ARATHL $5d 2ilAH vadlsel 2@ F Alefl W2l vtaels 2 Al Al
sadlsrl-l Gualol i 8, ddl o dld -y wpAAl D HaH agds @ 2 qdla ages @, -l Guala
$30M 4Rl UARHMIA, 1Y Adadiil 21d 8, ¥ agels [Qaan ddd 2iaviami 20d 8. HSdlAL Agdl s34l
osdal vadlslil a2l 50 % Hadlslrl A4 3 AR GuAlaL 53 avylRd s3e WA Ageds [Quant
(Quartile Deviation) $& €.

HRdlH qella agels O, 2 uad agels @ a2 dglad 2 a3 eudidiell yadlL WA Agds [Qaas
58 8 A dn Addul 0, R eulad 8. A3d AgAR ARl agefs Qaad-l Yo 1A Yoo avua

Qd = Q3;Q1

agefs Raan 4 2idr agds AR (Semi-Inter—Quartile Range) 4Rl 8l 214 8.

- ( AHYdl W2 atRdl wldl ) ~

(Q, — @) idR Ag¥ls [ArcI2 (Inter Quartile Range) $& 8, uig 12 eudl dA A AidRagds
(Al FRaaril 21d 8, % AidAgds QiR walbg suld .

agels [Qaad 2 & agdsl Q2 @i Huru ()Rl vid-{l W eald 8, & 1A 2u5ld wrell
W Yy B,

Q, M 0,
M-Q, QM
agels Rage = &= ”2’ M-0) _ Qa;Ql
s J
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agds [Qadn 0 A 0 A 0l AR 4} el uuan agds Qaddd wda Wy 40 8.

(Qs_Q1)/2 — Qs_Q1
@, +0)/2 O+0Q

21 ANA Agels [Qaann Agels [Auerils (Co-efficient of Quartile Deviation) U2l $8UHL U 89, A Alug %33l
83 QA vadisrl sl el 8. uig agdls [Qaars Asuell 35 WL B, 22A 3 A AR WL 8.

GewseL 5 : A6 W [Rad s3a 10 Sl A slu-viluq DA Yool g vl 28 6. wu ulRdl uddl
sl vy ageds [Quan wd ages ([Qaanis k.

19, 25, 35, 10, 24, 8, 12, 5, 20, 30
HURAHL Al AQELsAA Asdl $HHL A0Sl
5, 8, 10, 12, 19, 20, 24, 25, 30, 35

A& Agds [Quad =

dl n = 10, "T”=2.75 A, 3("T+1)=8.25

nam agds Q, = ("T“) Y vadlsddl Bud

= 2.7541 Adels-l Bud
adl, Q@ =8+ 0.7510 - 8)
=8+ 1.5
0, = 9.5 s

i agels 0, = 3(%H )M wadlsa-ll Bua

= 8.25 3 vaelsnrl [Saq
adl, @, =25+ 0.25(30 - 25)
=25 +1.25
0, =26.25 Yus

agds [Qaan Q = %

_ 2625-95
- 2

= 8.38
0, =838
UM, YASAL Avald agds [Qaad 8.38 s 8.

Q3 — Ql
Q3 + Ql

agels [RQaasis =

_ 1675
T 2625495

16.75

= 3575
= 0.4685
ygels [Qaanis =~ 0.47
UM, YAsRAL Avaiddl adels [Qaadis 0.47 9.
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GELSRR 6 : 50 cunsid s sludl G3ad atdl axa (AR2ui)N R - 2ud4 6. A vl sunsid slast
B3l ctdl uHug Ageds [Quan i agels [QAuaHis skl

axy (AlA2) 2 4 6 8 10
sumsi-l Ava 3 12 18 12 5
anu (ARe2) sunsi-l vl Al 2ugf

x f of

2 3 3

4 12 15

6 18 33

8 12 45

10 5 50

s n =50

I _ +1 _ 1) _
wdl, n =50, 2 = 1275, 3(%)_ 38.25

na Agds Q) = ("T“) Y vadlsddl Bud

= 12.754L vadls-{l B
Q, =4 [

adlu agds @, = 3("T+1) Y sl Baua

= 38.25 ML vqdlsH-l By

Q, =8 MR
agels Raan 0,= 272
= 8-4
-2
=2
0,=2 MR
I, UK Ul G3ddl dldldl uHud, Agds Quad 2 B2 8.
s _ Q3_Q1
Agels Baadis = 555
_ 4
= 844
=4
12
=0.3333

ygels [Quanis ~ 0.33
UM, AN U B3edl dldl AHAL Ages [QaaHis 0.33 8.
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agds [Quanisl aaddl 4:A

Gere@ 7 : 0 2uld s 28+ 1000 lEail-l vuas- [Qae udl alFauil-l 2uasd agds [Raad x4

WaAs ($2MR T) 502l {9l |50-70 | 70-90| 90-110| 110- 130 | 130- 150 1504l ay
sl vu 54 100 140 300 230 125 51
e Al Aval dudl 2ugl
($UR 7) f cf
502l 2ledl 54 54
50 - 70 100 154
70 - 90 140 294
90- 110 300 594
110 - 130 230 824
130 - 150 125 949
15041 ay 51 1000

& n = 1000 -

widl, n = 1000, 2 = 250 %13 3(2) = 750

nuy agds Q= (%) UL 2adlsi-l Bud

n
nuy Agds @ =L + 4f

= 25041 Aadlsei-l Bud
Al 2R (¢f )t 2ot wRell ugH W § ¥, 2503 vadlsesll Bxd 70 - 90 aofui wuddl 8. del

70-90 2L @ ol 4.

—Cf

wdl, L =70, 7
250154
ll 9 =70+ =5
B 1920
=70+ 745
=70 + 13.7143
=83.7143

0, ~ 83.71 (%R %)

Xc

131

HARKIA



qdla agds  Q, = 3(%) UL waelsnisll Bud

= 75041 Aadlsei-l Bud
AU UAR (¢f ) e well ugH R 8 F 7500 2aelsedl Bad 110 - 130 aofui wwulddl 8.
el 110- 130 21 Q, adf Al

n

s

-

X c

qdla agds 0 =L +

wdl, L =110,3(3) =750, of = 594, f = 230, c = 20

_ 750—-594
dfl Q=110 + 5= x 20

_ 3120
=110 + 230

= 110 + 13.5652
= 123.5652
0, ~ 123.56 (&R )

agils Radn g, = 74

_ 123.56-83.71
- 2

_ 39.85
-2

=19.925
o Q,=19.93
w4, A5l vuasd agds Qaan 19.93 R T) 8.

s Quadis = %

_ 123.56-83.71
= 123.56+83.71

_ 39.85
T 207.27

=0.1923
agels [Quanis =~ 0.19
U, A5l viasHl Adels [Quanis 0.19 8.
Agels [QuAl M Yl SRA™ :
Q™ :
(1) agds Ruads e dd arvyRd 234 YR Wy 8.
(2) -l dwaddl U 9.
(3) Agds [QAe U vl il 29 il Hlel viaelsdldl 2R adl 4l 343 agdls R Hiu a2l
50 % adlsl-l Budla wiqul 4 Anqanl 2ud 9.

@) A wgR-Adeil adll vedl Saon €l dl UARYG 2L 218 ¥ WY Aadl wsy 8.
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AEUM :

(1) Agds Ruad Aoqal W2 HYH 25 % 2 2[4 25 % A S DA HAARAHL 20 B, UM, L
Hudl ARl ol siaelsAl Guulal adl A,

(2) A Alss Buldl 12 2qgsn Wy Al
(3) el waml 20 Wy RAR <.

(4) VUSIWRAL G VOUIRAHL 2AL HIYAL GUULDL 2A9) 1Y 6.,
A 4.2

1. A5 Rwrone As wufl yddudl sadl auid Heal g3 acil dgd R DA oeudd sid (@R
ysl oy O,

20, 32, 24, 41, 18, 27, 15, 36, 35, 25
L W] yell Raudysl Hudg agels Qaan 2 agels [Quanis 4.

2. s wounil 43 Qenel>la Aadal yaidl {13 2004 sugR-[Ad wel deid agels Radd »iq agds
[Qua-is gk,

= 10 20 30 40 50 60

QeneflzAl-l vy | 4 7 | 15| 8 7 2
3. s RARAUL AS A [BaA Uddl 200 sSIA ARelxAL [P dd3 Ysdd Wi [Qdw A Yoo 9 ¢
Y$dd WU (T) 0-50 | 50-100 | 100-150 | 150-200 | 200-250

sl iva 25 40 80 30 25
L WUl uell sl gl s Rauul ysadd Wiy agds Raad »n agds Qaanis ).

4.3.3u3A [Quar (Average Deviation)

UARHLAAL & WY QAR 1A, Agels [Quad-] sawiddlul oai o vadls-ii-l Gualol Udl el 2t 2L oin
HY, waelsly A9 we uRna-dl AL Aa saladi Al UARMAG AG WU F FHL olul o vadlsHlA
GuYlaL i, 2 wadlslg d-ll AAAA 108 AdA URL AR Aaiy ddl Huell vl g 53 wsiy ©.
AU [Qudr (Average Deviation or Mean Deviation)Hi 1l ouotdl-{l Y[d i 8. siaels--l Bud 217 d-
Hoys qRAAL dsladn [Qudn (Deviation) $8 6. 2L QA B, L4 AL 4l 1S US i1 2udl Qe
ARAGL Yot WA 8 A olotd U UswL 341 A v, 2 WRRAM Rairal »1 Q- Hiis (Absolute
Value) Al 219 €9, 212@ 3 1l [Qd-dll 8-l Rardl 210 il s2a 20 8. 21 [QAdHlAL HidisA
AR HURAAL HAURY WY @R s 20 9.,

UH, YA [RQAGA 212d HURIAL vadlslrAl dx-l HesHidl dlial QaadAl HiAisl a3p Bud.
an A3dyl MD (Mean Deviation) <3 sufadidi »ud 8.

MD A s % ol el qodt wda wu *2 A suRdl-l wua Radsis (Co-efficient of Mean

Deviation) $8clMi 219 €.

MD

x

s AU QadHis =
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( angdl w2 awRdl wlRd )
Bissleueil Heaadl R Hu ddl3 deisdl Gualal vol o elloll WHIRML sl 2Ud 8. aell
AU [QaG A oLl 2R vaelsell [RQadrl $s5d vl o 45y, uig dedls Bruziui wkdl-
g3U AAA [ Auqal Wi vdelsldal [QadAl d-dl HeRa 3 eygasiiel vyl Al 20 9.

AU [Auan-l -l Adaq

4R wtad(lgd 2 adllgd WU W2 AR [RQudA-] ARl sl A 2t Al Yol QA 2l sAg.
nlgd 1R

2Rl 3 21a{lgd HRAMAL 21elsml x , x,, .., x, B 27 AaelsedA Hs X . Aluad UL uds

adlsr xrl s X AR dsidad-l Wdls (Aed 3 1x—X1) Aol 20 8. ¢d dial sHl % Hidis

Rad-A-l Aol $3 dal 2iadls-l ga Avan o cudiaell W QA 1 8. i, adllyd Wlddl
W2 AU Qudd MD 1A 3o, reaRd s30 asu © ¢

E|xi—i|
n

MD =

Zx
n

oYl x =

Ix, =X | = sl waellsn x, -l [@Qadd x — X -l 3sis

n = adls-l ga dvyl

AllH s erezAl ARl $3cll Ad AL WIdR 2 212l (suffix) YEIY S, FH3 XA vied
x, d, A oed d 2 £l oied f Yyl

aflgd Hlkdl

vRdd 2ugf-[Adm

WA 3 2ddd 2UYR-AdRAAL 2dd a4 ol 4 Budl x, x, . 2 23U igRRL Ags
fp £y £, 8, dl 2dd 2ugR-[Ad@AL 330 Qad-d]l dRidl 2 aeudd Yot iRl sal 2Ud § ¢

3f | %, — x|

n

MD =

ol x =34 il B
f, = x, <l 2uqk
n =3f = &4 2U4R 2dl 2ugRA-L A2

_ Xfx
x=% =Yg
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Add 2ugl-[Aarw

W 3 Add 2igR-Qder & -l 4eBad) 1ugsi x;, x,, ... x, O 2R 2 HRAGZUAR g3y ol
2GR YA £, £, . £, O, dl Add UgR-[AdRAL AU [Qad-] arddl 1A eeudd Yol weedl
SAML 2A B :

3f | %, — x|

MD =

n

ol x, =i 4L Al HuBud

£ =i Wl 2ugl
n = If, = §4 YgR Al M sigRHL a0l
x = X = {4

n

Guysd omuAddl SIS ULl Yot gl AW [QAad (MD) AN oig, u3AA QRaadis A Yoo
A0ay B :

AU Radis = %

Bergm 8 : A6 A wourit As adf-u 2us [Qeneflzil-n ax Guni) 1A wwd 9 :
46, 58, 60, 43, 75, 66, 51, 81
21 HURL uell [Qeneflvii-i agg wua [Quad v ua [Quanis k.

ax ((3) [iq_c? [Qaan-l Wnis
X

=60 |x—%]|

46 -14 14

58 -2 2

60 0 0

43 -17 17

75 15 15

66 6 6

51 -9 9

81 21 21

2l 480 0 84

7= 220 _ 60 B
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Z|x-%|
n

AU [Qadq MD =

[+
B

o

1
MD = 10.5 [33u
2, Qe aud w0 QRuad 10.5 B 8.

5

AR Qs = %

10.5

60
=0.175
AU [QuaHls ~ 0.18
ad, [QeueffaldAl aoeddl a0 [Quadls 0.18 8.

Gers@ 9 : 32 adMzed s Ruld adu sdl At aua (ARzu) A 2uda wlRdl vdl 216y s
AL AHU AU [Aaan 2 a3 [Qaanis awell.

26U st atdl yxu (wle) 0 |[nfn] 3|14
are-l Avuy 2 | 8|12 8 | 2
28 sl a8[ize-l [Gaan [Quan-l
ALl AN jvl fx x—-X Hiris flx-x
(ﬁl[:la)x f x=12 |x—f|
10 2 20 -2 2 4
1 8 88 -1 1 8
12 12 144 0 0 0
13 8 104 1 1 8
14 2 28 2 2 4
& 32 384 - - 24
3
waus 1= 22
n
_ 384
T 32
=12
x =12 A2
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3f | x—x|
n

AN [Quad MD =

I
|®

N

3

0.
MD =0.75 M[Re

I, R 215U Sl Aldldl A, AAAL QRQaan 0.75 A 8.

AN Qaa-is = ¥2

X

~J

5

0.75

12
=0.0625
AR [QuaAis ~ 0.06
AIH, RUE 219U Sl Alldl AU~ A3 [QAd-is 0.06 8.

Gewswt 10 : [yeen s dadl SR aveldl 215 Asell suldlui wiedll wAal dla sunsial 50 il

sAAHE Anda e ugfi-lade A Yoo 6 :

L 0-9 [10-19 | 20-29 [30-39]40-49
sunsi-l dval 1 3 8 6 2
21l HURdl uRell sumnsl-u e uRna Qua- .
a1 sunsi-l | wealdud fr x-x 27| fle-z|
. - x—Xx x—X
3 vl f x x=27
0-9 1 4.5 4.5 -22.5 2.5 2.5
10-19 3 14.5 43.5 - 12.5 12.5 37.5
20 -29 8 24.5 196 -2.5 2.5 20
30 -39 6 34.5 207 7.5 7.5 45
40 - 49 2 4.5 89 17.5 17.5 35
& 20 - 540 - - 160
HRs 1 = M
n
540
= 2—0 =27
¥ =273
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¥R [Qaa MDp

MD =831
U, uNslBL Anddl Rl AU [QAAdd 8 o 8.
GeleR@ 11 : 3ls ASHU [3usl As-l-u 30 [QAsaru vis walBu-i Q- Aissill A R uddl
‘Qaiden [gusl arg--l 2ivar’y uRua [Quan wlwl :

(Bafl el dvan| 12-16 | 17-21]22-26 | 27-31 | 32-36
(A3l A 2 3 14 8 3
[Zm.!xl. sl [E.Lfmt-{l Hey(Fud fx x—% |x—%| fle-%|
vyl v f x ¥=2517
12-16 2 14 28 - 11.17 11.17 22.34
17-21 3 19 57 - 6.17 6.17 18.51
22-26 14 24 336 -1.17 1.17 16.38
27 -31 8 29 232 3.83 3.83 30.64
32-36 3 4 102 8.83 8.83 26.49
& 30 - 755 - - 114.36
>
was ¥ = 2%
n
_ 155
30
=25.1667

oox = 25.17 [gusl Al

If|x—x|

n

AR QUi MD =

114.36

30
=3.812
5 MD = 3.81 [gu$l e~
i, dAdl sl alsdld A [Qadd 3.81 [BUSl sl 8.
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A3 [ s dw A
UM :
(1) AU Qadd 21 e dd AryRd 234 dARg, WY 8.
@) a-ll Al ol o vaelsA-A Gualol iy §. ddl [QRdR A Agds QuaA sl o AU Y S,
(3) Al Bad uR »ilax viael sl (2d 3 via Hlel 2 2 Al vladl sl 208 HURAL v, F2els
Husfl avela 20l @y 9.
(4) vadlsy Hedsdl vid Hual 12 vAels A HRSHAL dFlddel HirlsAl GUalol sl 2d 8,
% ldR Hied, Yoy WY 9.
AU :
(1) PR 211 ugels RaaA- addl sdi Ap Qe 2wl x8dl 8.
(2) L WY S5 Bl w2 vgsa <l
(3) UL HU AL UR ULRd Slaliell disdiotrl GRA AeURHL Al GUULDL 9L WY 6.
@) veal 9310l 2udR-[Ad W -l ol 84S wsdl .

A8 2 AFBrsR0NAL el A QAN Gualoll 1y & 24 vl s3UA viefaureil WS wAH AL AA55]
s, AYeld vyl 2ol sl AuRiAl Qdadd] o@ddul, sapiid 2 Quizasl-l yaldHid adul
a Gudloll .

AN 4,3

1. e ARSA Gaus @Mkl 1A Yoo & -
160, 175, 158, 165, 170, 166, 173, 176, 163, 168
2L HURAL uefl ARSI Gl Hud w3 Qe A,
2. s sRUUAML WAl 4L auridl ellaaRoi) v @der 1A Yoot § ¢

ollasl Rl 2ivuy 2 4 6 8 10 12 14 16

Aol vy 2 2 4 5 3 2 1 1

L HRL w8l Yonil qualdl elleaRorxl ivalid uRNe [Qaad i AAN [Quanis L.

3. A 20al slags atdldnl ua (Yl BReui)-u [Qde urel stagls aidld-dl aHad uua [Quan
A AU [Quadls ) ¢

ada-l ana RR2) 3 5 10 12 15

siarl 2Avul 4 7 6 2 1

4.  Seell 16 ARG ydal d.dl. A2 il A 2uda vugfa-Qde wrell dldl.A s Qe
ALY [QYan A AR QadAls dHl.

A.dl Ael v |10-30]30-50(50 - 70{70 - 90[90 - 110

-l fvur 1 4 6 4 1

5. uls sl ollsuels el €l Avynl S5 Al vsHl Hddl 8. 50 olsAML el 815 axgel vsHle
Adze A Yoo 8, dl d wRel ollsudls sl Avalg AAA Que- ).

sl v 0-10 | 10-20]20 - 30|30 - 40|40 - 5050 - 60|60 - 70

sl fvul 6 5 8 15 7 6 3

*
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Belsa 12 : A dlzudq-il Seell Ad Haui N you 1 wa S :
52, 58, 40, 60, 54, 38, 48
21 WRAL el eigudi-L 21 (A2 4l . uH@d [QaRe v 2ldl.

1 xX-X 2
(x-%)
x ¥=50
52 2 4
58 8 64
40 - 10 100
60 10 100
54 4 16
38 - 12 144
48 -2 4
& 350 0 432
Wy x= =
n
_ 350
-7
=50 3
Rare 2= Z6-%
_ 432
-7
=61.7143
# = 61.71 (R)?
2(x-%)°
WHBld [Qued s= ==
=61.7143
=17.8558
s =7.86 2+

U, H2UAATL i WU [Qadr 7.86 1 8.

A4 W RAGAA el sl AsHH sulaaqdl 20 8. >uud el ¢l 3 Qe 2 WRid
Qe aof &, Al QA 253 HHURA [QAAAAL ‘Glsul adl iy 8.

el.cl., 2ddlsAl s34 Bl &l dl HHURid [Querl s yR Bl 8. auR QR vis (B
Uy 8,

141

HARAIA



Aly o Heus T+l Bad 2yals val €lu v viadlsHl-dl Bud oig {1+ €1, d usulBid
Qe sl dRiddl A el G4l w ol asy

n

Gews® 13 : uix [Qendl20A 215 sludl Giadl awdl aua (R2HD) x1444 5, 8, 3, 6, 10 0. 20 R
w2l slusl Bsadl atdl duudg wHBa [Quan awll.

auu (AR2)
x x?
5 25
8 4
3 9
6 36
10 100
& 32 234
HYs ¥ = 2
n
_
s
= 6.4 M2

wdl, wes 1+l Bud 2yals ael 20ud uuRia Raad-d awddl sa A 2ula Asfas Yol
GulaL s41y.

= 46.8-40.96
= 5.84
=2.4166
s = 2.42 M[Re
M, Qe Sludl G3adl dwldl Axud HHRd Raad 2.42 RFRe 8.
A Aa:
HHRIA [Qaans] aweiddl A eitaan w2 1A Yoo 24 Aardl Gualol s3 sy :

d? (Xd Y
= )
n n

oul, d, = x, - A
A = "1l W
n = vadls-l ga Al
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Gerew 14 : DA A5 sudl-u - Secn win [Rau-u siucua (T Hi) 2uden O :
132, 147, 120, 152, 125
28 Ad 91 euag wuia [Qaan el
el UL HIREL s A = 135 45,

Rl Mua () d = x-A
x A=135 a
132 -3 9
147 12 144
120 ~ 15 25
152 17 289
125 - 10 100
P 1 767

IRl [Qaaq

= J153.4-0.04

= J153.36
=12.3839
s =3 12.38
UM, Al Mldg WU [Qadd T 12.38 ©.
flgd WRA 12 wuldd Qua-dl aadd
2Add 2ugla-[Ade e :

4 3 AAdd 2UGR-AdR@AL Ad ol Budl x, x, . x, 8 2 A 2Ag3U 2R 21gsY
fo £y o £, 8, dl 2dd ugR-[QAdex wuRd Qadns ariddl 13 wrude Yol sl 204 8 ¢

il f, = ad x i {l aalEud x -l 209
Hx

="
n

x,— x =dBUd xg ws xdl [Qaaq
n = 3f, = vadisl-l ga A
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A a:
281 A, iR 2ugR-HQd 1R (R aiddl 13 aeude Yol Gudlol s3 Anaarii »ud §.

_ |zfd? (EfaY
S=NTn T\ Tn

il f, = Aall il B x-l 209k
A = HIREl U
d =x - A=3dFud x7 we Haus A ol [Quad
n = 3f, = vadisl-l ga vl
Y wRel Hous Al Bud wadlsl x, x,, . x, WL 28 2adl g g0idl WD AR d a4l usi.
Gews@ 15 : 35 adl- 15 [Qensfli-l 2-y2udl HR-AHD AR819-L [BalHl dva [Aaze 1A Yot © d
w2l [Qenell-u dleiar2 Bal-l divang uHRid [Qaaq 2 walid [@Qaadis sl

A1y [Bauidl var | 0 1 2 3 4
[Qenellil-l 2ivan 1 3 7 3 1
x f fx x-x¥ |- |fx-x)P fx?
0 1 0 -2 4 4 0
1 3 3 -1 1 3 3
2 7 14 0 0 0 28
3 3 9 1 1 3 27
4 1 4 2 4 4 16
el n=15 30 0 - 14 74
— _ Xfx _ 30 _
=T =0 =2 Rl
s = /}:f(x—f)z
n
s = i—“
s = J0.9333
=0.9661
s =~ 0.97 Bal
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UHIRI [QRandl Bud A yoror Aslus 3ot g Aadl asiy @ ¢

s = ,{ﬁ—iz
n
= [14_
= ,/15 "’

= J4.9333-4
= 10.9333
= 0.9661
s = 0.97 [Bazid
i, el el Badd, uuid Radaq 0.97 9.

wad [Qaasls == %

=0.485
= 0.49
I, AR [Badl-l v Wulid [Radnis 0.49 8.

Gersrm 16 : Wioudarll s gl dean 35 Bauni Qada Wendadl [Qad DA 2udl 8. d uell dudal

Hioudarll qval uulBid Qaaqis alal. @4 Aa-l Guala s:U.)

dad Weudadl dvaL| 5 6 7 8 9 10
Rarildl v 2 5 8 12 7 1
qlRel Hes A=8
. f d=x-A fd fa?
A=8
5 2 -3 -6 18
6 5 -2 - 10 20
7 8 -1 -8 8
8 12 0 0 0
9 7 1 7 7
10 1 2 2 4
& n =235 - - 15 57
x =A+ P2
n
=8+ %
= 8 — 0.4286
=7.5714

=~ 7.57 Woeudd

x|
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_ [57_(-15)
~ 35 35

= V1.6286-0.1837
= 14249
= 1.2020
s =~ 1.20 Woudd
23, AUl Woeudasdl dvard U Qe 1.20 Hoeudd 6.

B [Quais

=0.1585
xR [QueHis = 0.16
I, QA Hoeusdadl vl uHBd [Quadis 0.16 8.
Add sugf-[Ad@ we :

W ¥ Ydd ugR-[Adrer k @l 4aBud Agsi x, x, .., x, © A k PIHL 2ugRD 2153
fio fyp oo 1,8, dl Add dgR-AdR@A 3R [Qadn-]l diddl 1A egudd Yot gL sl 20 8 ¢

3, (x, - %)’

n

2
§ = ’Zfixi )
n

sl f,

s =

i 1l ol 2ugf

x. = i "l Wl HEud

T

- _ Xfx
X7 Tq

x, — x =il wefSud xg wes ol [Qadn
n = 3f, = vadls-l ga A

A da:
28 Aol wruA aleousSain ddd sugR-lAderl 3R Qadnsl opddl A arudd Yol weeddl
SABL 209 € :

2 2
L |24, _(}:f,.di) e

n n

146

s, e 11



wul x, =i Wil wBud

A= Wl WS

f= 4l @l 2ugR

¢ = Wldons

n = 3f, sqdlsi-l ga va

A4 : o uiRAl weus Al Bud adf-Hl yeuZadl A4l As vual 2ig50dl HHE AR A 4 wslA.

o Bl g 3u 3HRd [QaEArL 515wl a3unl Yol Rl [Qaadsdl Bud A 1a 8.

Gews@ 17 : s wou-i 200 [Renelzil-u A5 udlauni Andar Ja-u 1A wudan 2ugf-Ade udl yad
WHURd [Qan aell.

A 0-10

10-20

20-30

30 -40]40 - 50|50 -60]60 - 70

(Qenellaii-Nl 2jvan

5

12

30

45

50

37

] §5d WHIRA QUEA Al © dell Heisdl Buddl o3 W AR, 21 AA0041 241 Ad-l Gualay

53 wsly,

] W Heys A = 35 2 gdfdous ¢ = 10

Ja [Qenefl2i-1 wafZid d= x;A fd f&
v f x A=35c=10

0-10 5 5 3 — b ®
10 - 20 12 15 -2 — »
20-30 30 25 -1 30 %
30 - 40 45 35 0 0 0
40 - 50 50 45 1 % %
50 - 60 37 55 2 ™ 8
60 - 70 21 65 3 6 18

s n = 200 - - 118 510
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wyRid (Qua-
_ B _(zaY
= n n (o4

_ |510 (118’
= {200 (200) x 10

= 2.55-0.3481 x 10
= J2.2019 x10
= 14.8388
s ~14.84 9
M, Qeefi Andel e uHIRd [Quad 14.84 oL 8.
Gewsw 18 : s §523l-u sMeRlU B[RS ddt (THD)L 1A 20l R uefl suerlu BRs ddnd
UHUBLd [Quan 2kl

RS ddn (7)

1304l ay

1501 ay

1704l ay

1904l ay

2104l ay

2304\ ay

lZauil v

150

142

116

57

14

0

wdl “ofl ay” UsR AL 2uaR-QAda 200G S, A AL dugR-Adaul FRadl, 1A el

ug[R-lAde wa ¢

s, e 11

RAS dat (7) 130-150 | 150-170 | 170-190 | 190-210 | 210-230
. 150 — 142 | 142 - 116 | 116 =57 | 57-14 | 14-0
Faaildl Ava
=8 =26 =59 =43 =14
d= x—A
BRAS Adn(Z) |alsaild v  wealEud T ¢ fd fa
f x A =180, ¢ = 20
130 - 150 8 140 -2 - 16 32
150 - 170 26 160 -1 -26 26
170 - 190 59 180 0 0 0
190 - 210 43 200 1 43 43
210 - 230 14 20 2 28 56
& n = 150 - - 29 157
148




»

wyRld [Qaa-

o

157 _(29Y
= {150 (150) x20

= 10467 —(0.1933)* x 20
= J1.0467—0.0374 x 20
= J1.0093 x20
= 20.0928

s =20.09 ¥

w1, 352l SIMelRAL BRS Aded Wulid [Radd 20.09 T 9.
A4 20 S50l Al o4l % Badlsdl A QU WA Y, x = x =x, = .. x =k %l
k SIS dAE AvAL 814, dl UARAL ol o Wyl Bod ged ay 8.

AR 4.4

ARl 100 -l 5040 Ao [Qenelfaial Andan e 1A Yool & :

64, 63, 72, 65, 68, 69, 66, 67, 69

2L HURd wfl [Qenef20x Ande R UMRA [Qadst W),

s [Qrdirel wia AR RaAul S 25 Bad A w2 20del sl Avar 21 7, 3, 11, 8, 9 B,
20 HRA vl As Baudi AU 2 2uadl s+l qvaig wRd Raasd ).

s S5l ARl 8 (821 Tii) 2 wrvRieRl-AL dval saladl Rl A Yoot 8, d uel aval
AL WM [QuaHis k).
el WU ($AR T) 5 10 15 20 25 30 35

quaeRl-l vy 2 7 1 15 10 4 1

50 Udl-L Beal avul adal st (@ THi)Dl Qoid 0 2ha B, 2 WRAL ul WAL 51
UHIRLA [Qad- k).

5l (W ¥) 0-10 |10 - 20|20 - 30|30 - 40{ 40 - 50
Y-l v 7 6 15 12 10

s ARAAAUL ML 125 @[5 GHR (i) 2ugR-fAdm A yorot 9. 240 WRL urell @yfsal
Gy 3R [Qaad 08l 1A 3UR [Qadnls L L.

&l GuR @) 0-10 |10 -20|20 - 30|30 - 40|40 - 50|50 - 60|60 - 70|70 - 80
(Zai-ll v 15 15 23 22 25 10 5 10
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YAnis (Co-efficient of Variation) :
YR UG A 21Ul F WA [QAAGA 2 FRUA Y B A A vadls-lAl A5HHL eulacil 20d 8.
adfl & 3 ay el el 253l addl MUl 3elAl HARMAAL ueuHRll saL Hie [RRA8 HuAL Gualal 53

wsty, A, el vl sdL W2 Wa WY uHRA [Qadnls (i)-ﬂ GUYLAL 5 U3, HL2 eUdl WHIR™d

x
[Quanis (%)-j, yeu wyRlls AFUHL HOL 9, defl AL AHY YRAAAL ALSLA YRl AHY U dal 419y A& 1Y

ad3 s1a MudA ‘aaniis (Co-efficient of Variation)’ YAAE 8, ¥ WAHUBLA [Quc-isA 100 @ Jaiaifl 44 8.
Adsis = = x 100

il Aednisn estadil sulan 8. A2d I ud-is A sl whapil nuRid RaaA sl salag
Hy 9,

6 3 adl ay Ul A3l uARMAL AUHL{ U2 AdAls vor o Gualall wha Wy B, ¥ ARl U
Adls 2L S1Y d SR(l 4y RAR (Stable) A AL UARMLA g © A sdaid, il Al uARAAL Aeelul
qy YAdUd (Consistent) © dd YR sdad. ¥ AL 2 Ad-is ay Sl d ALl el RAR 2 Al HARAA
ay 8 du ssa.

Gersawl 19 : 1A & oigudd A U B 3 Heal g slani s3a Dl WRA 200l 9. A uell sul sigusiq
QY YU WA W O, d g8l 5 ¢

iU A UL R+ 25 | 50 [ 45 | 30| 70| 42 | 36 | 48 M4 | &

iU B+l 21 10 | 70 | 50 | 20|95 | 55 | 2 | 6 48 | 80

suL AR ™ YO B A ARl YD 6l AAAAAL L AGHls Aadly.

UM A sigu¥ B
EX ] x-x x-Xx) e x-X | @-Xx)
x x=4 x x =53
25 - 19 361 10 - 43 1849
50 6 36 70 17 289
45 1 1 50 -3 9
30 - 14 196 20 - 33 1089
70 26 676 95 42 1764
42 -2 4 55 2 4
36 -8 64 42 - 11 121
48 4 16 60 7 49
34 - 10 100 48 -5 25
60 16 256 80 27 729
lga | 440 0 1710 lsa [ 530 0 5928
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sigadiA A i B
Tx
Heys ¥ = % Heys ¥ = "y
— 440 _ _ 330 _
=0 - # =J0 =53
¥ =44 ¥ =533
2 -2
wRd Radd s = @ R Raad s = ,fM
n
_ 710 _ [5928
= {10 =1V10
= 71 = 5928
=13.0767 =24.3475
s = 13.08 2 s =24.35
AArls = %xlOO YAls = %xlOO
_ 13.08 2435
=~ x100 = 753 x100
_ 1308 _ 435
- 44 - 53
=29.7272 % = 45.9434 %
A4S =~ 29.73 B AYHls =~ 45.94 %

G2UAA AL AdALs 2ol dlauell d-ll ™ ay Yo 8.

( D
L anogdl we aurill uledl )

GLRARAAL il MBS AHLA J AOIGLL AU Sl AUR Y YOI H2A GgUAA dUl Ay AR
© w3 sdl wsly. Yig ol GZUAAAL WS wAdL QA dl g sdl wsiy AR,

Gewsam 20 : QA s 5l ol sueRl [Qd wRA 2uddl © -

(Qad SUER A SIMER B
514 Y3 s ALdl
w 30 25
R wxu (([e2)
wHidd [Qaa- (@R2) 6 4

S SHER 1 Y3 SRl ALl HaHl ay wlda AR © ?
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ol $IMeIRAL Adls vl Gusd euoidrll el ady.

SIHER A SIHEIR B
x =30 [MMA2, s =6 A2 ¥ =25 [MA2, s =4 @A
Aris = 3 x 100 Aesis = 5 X 100
= 2x100 = 2= X100
=20 % = 16 %

SIMEIR AL Ad-is ay Slatefl del AHYHL HAR 9y B dH sdald.

Bews@ 21 : Ws adl-u 50 (Qeneflil-i ax-t v Gl Heus i WA [Qaan 1A Yoo © :

([Qad Q% Qg
e 56.2 (3 62.5 B
wHiBid [Qaan 4.8 B 9.3 8

Gl i a-uiel dui nwR ay U © ?

] qyel A GlALSL sl el el © el ARvUHL( S0 U2 HAR, ANA WY o Gudlol A W
A HURL Adl GgH W © 3 Aadis 3L Al Qo W B,

Q- Qlud
7 =56.2 [33u 5 = 4.8 (3o ¥ =62.58, s=9.3
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2, G 2UgR-[AdRAAL 2igRids H2usiR AUl 9. vadlsd 3L 800 Hi2 Hend 24l 9 8.
301 8001l 6inl dR$ AL 2idR 2udal adlsl-l 2ugRBD WA S Al ugR-RdWAHL oges-l ol
ol wadlsHl A Ad [QdRd 2dal 8.

8d, ugR-[Qdeil Has, Ry, ogas A AgdSl-l aiddl s3u 2R AR 2ugR-fRdax 2y

Al 2R AadlA,

i8R, Qe 11

stverld B[RS dan
200 | 400 | 600 | 800 | 1000 | 1200 [ 1400 &
@Rw) x
SIHERIHL v f 1 3 6 9 6 3 1 n=29
fx 200 | 1200 | 3600 | 7200 | 6000 | 3600 | 1400 | 23,200
of 1 4 10 19 25 28 29
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s y = 2

n

_ 23200
=9

= 800
x =73 800

Ry M = "T“)m wadls-ll Bud

_ (29+1

> )‘-Ll el Bud

- (%) W vadls-ll Bud

= 1541 vadls-l Bua
of -l SlaHAL 2Adl, dn g3y vadls- 800 3(RUL 9.

M = 800
M = T 800
Hgds M = HedH IqR 9 A AU vadls 800 UL S,
M =T 800

nem Agels 0 = (%)L 2adisill Baua

(@) W wadlsn-l Bud

7.5 vaelsHl Bua
of -l SlaAL 2dl, A 23U vadlsd 600 3L €.

0, = &0
0, =T 600
adla agels 0= 3% vadlsidl Bud

3(294+ 1) W waels-l Bud

3(7.5)4L vadls-l Bud
22,541 vadlsl Bud
of <l SlaHdl Adl, A g3y vadls 1000 3R D,
Q, = 1000
Q, = T 1000
2GR AR ML, HedRa, slgds via AgdSl-] Brdl duy sugR-AdRq vsugRas vl e 9 3,
(1) x =M=M =3 800 ux .
@Q,-M=M-0Q)
(1000 — 800) = (800 — 600)
I, AgeSl el A 2R WAl 9.
(3) 2ugi-AdRe-d sugfias daisik @zusdl 4a 8.
24, AMd 2ugRi-[Qde-u wn-ad: QA aael A 1 o,
() s, vRY i ogasl Bud A &l 8.
vald x =M =M,
() uuy Agds 9 wA qdlu agds 9, A Hw
M el L a? sld 8. vl
@ -M=M-0) Q x=M=M, Q
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@ 2uaR-AdeAl 2igas deud dd alsr W3uddl €d 8.

(5) olgasl oin ouy UL id wdd vadlsirl 2wgR A {d [QdRd 234 €lu ©.

A w0l S8 sugRi-Adaul Gusd dael-dl seud Aal 19 d d 2ugli-Ad@ ARd ol du
s, dMda 3 yaaa-u sienaan 2ug-Rda [Qud 2uglhi-lAda sdaui 2ud 8. 2y, 2ughi-
([QaaHl AR 2iena [Qundl sdani 2ud 8. sugRi-Rdaul DA yRRARSL [ sufd © -

(1) 2uaR-[AdWHL s, HRRY A ogas Yl A 4 &Y.

@) 2ugR-Rdenl agdsl 9 U 0, 3 Ha M (= Q) Ul AMI VidR + &,

walg (Q, - M) = M - Q)

(3) 2uqR-Qdeinl vugRas 2Rl drgdl 8 & el dg-l 83 ay vwddl €y.

@) oigasl oia ouy UL idR wdd vadls-l 2wgR A {ld [QdRd 224 4 €.

Gugsd uRRAQNA Qs 5020 sy, sRa ¥ a-il uell sug-Ade Qud & 3 33 d asill
wsld B, sd ANl UsReL 2o 3.

5.2 [Quudirit UsIR (Types of Skewness)

219 [R-{Ad@Al [Qundirl Joued & USRS 1 (1) 4t [Qa3idl 2 (2) 2L [Quadl. 2L oA wsR susld
v GELSRWL GIRL AUDL,

(1) 4~ [QuHdL (Positive Skewness) :

g R-QAdarAl vugRasd oel oyl 93 ay Hwddl & dl d sugR-Adw 4 [Qus sugki-
QWL © dx sda. i qad I8 aufRal 4 [Quddl Wl © i ssaud.

g VU RS A ARAAAL WML gL 4t [Qusdledl vieqi 53031 d e A Geleral asail.

w8+l 3y SRzl 60 [Ra R add 3yl Avdig 2ugRi-lAdrel A Yoo 8 -

yydldvn | 1 [ 2 | 3 |4 | 5|6 | 7] 89| 10| 1

Badilaivn | 2 [ 8| 1410 8|6 | 4| 3| 2] 211

w0 2ugR-AdRedA 2ugRias Q1.
y h

16 WRAHY ¢ pvie 1A =1 4y

14 y-uld 1 Al =2 [eqril
12 \
10

— Rarlll Avul >

X

(0] 1 2 3 4 5 6 7 8 9 10 11 12 13
M, M X 2
— Yyl v —
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g Rasl el sugell 93 Wpddl 8. ueny 2UdR 14 A gu viadlsd x= 3 «{l 3ol 6uy i
adlsd [AdRA 8. wuR el suy ay vadlsdl [QdRd 8 2 duddl sugal su: sedl 2y 8.
¢ gR-fAdeirl s, qeRy, ogds v Aga-l awiddl s3A.

gcgvll v [%qalv;l v fr of
1 2 2 2
2 8 16 10
3 14 4 24
4 10 40 34
5 8 40 4
6 6 36 48
7 4 28 52
8 3 24 55
9 2 18 57
10 2 20 59
11 1 11 60
& n =60 277
Heys = %
_ 211
60
= 4.6166
x = 4.62%Y
Sgds M = Hedd 2914 A AAgIU wadls 3 8.
M, = 344
HQW M = ("T“ Wl sl Bud

- (602“) W vadls-l Bug

- (%) W nadlsdd Bud

= 30.541 adls-l Bud
of I SlaHUl Adl, 30.541 vaelsddl Bud 4 8.

M =4y

wan agis @ = ("T“) W wadlsddl Bud

- (%) W Aadisdl Bud

- (%1) W nadlsidl Bud

= 15.2541 wadls-l Bud
of Ul SlaM™l 2Adl, 15.2541 vadisddl Bid 3 8.

0, = 33y
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adla agds @, 3("7“) Wl vadls-l Bud

3(%) W Aadlsadl Bud

3(15.25)41 vadlsn-l Bud

45.7541 vadlsn-l Baa

of L Slaqul 2di, 45.75 L vadls-l Bud 6 8.
g, = 634

2, U vUgR-AdRe He AL uRREL Wi Wy © ¢

() x =462, M=42AM=3408. ddl x >M>MS.

2 0,-M=6-4 =22AM-Q =4-3=1408ddl Q9 -M>M-Q

(3) 2ugRasHi wHell ouy-l 93 ay WAAd 8.

2, 4t [Quu sugR-Adaul ardd: Al qasl Aa 4a o ¢

(1) 2l HqR-[Ad@ANL HAs, HouY 2 ogas{l Budl Gldrdl s3Hl 1 8, vald * >M > M,

) qclu adefs 0, 2 e M aRAY vda / T~
443 2 Uy Agels O AL vidR scll Ay €l
8. 2ald (0, -M>M-Q)

(3) 2ugR-Adrardl 2uqRias eigas-l wgll

0, MM =X [0)
428 B ay Nudd) du B ‘ ’

Ay 4 [Qu 2ugR-Qddl ogas Bud-dl ol ougel sadls-IHi dd- ay Aal H1d 9.
el.cl., Yyl Aval-l ugR-Adul 4 @QydHd A 3 8.
2) B (Quucn (Negative Skewness)
g R-AdRaxL dugRiasl ol suyll 93l ay WAEl €Y dl d sugRi-Adw s @A sugRi-
Qe & ax seaud. 2udl axlPui e [@Ayudl el © du sda.

B [Quudidl viewd A vl ug[R-[Ade 2gRias 2 ARAAL Wl Aadl s30.

QRgll Mg

6 7 8 10|15 [17| 18] 1 20 J
3Rw) o ? &

assidl dva 1 2 3 4 5 8 10| 7 4 1 | 45
(82R)
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e 2ug-lAdrexdl suglias €.

y

10

— gl dva (gar) >

HUHLRHMNY,

-

y

tx-od 1A = T 1
y-uta s 1 = 1 ¢R ues

O

azgell Gua | sl vl
@Ry x f fx of
6 1 6 1
7 2 14 3
8 3 24 6
9 4 36 10
10 5 50 15
15 8 120 23
17 10 170 33
18 7 126 40
19 4 76 44
20 1 20 45
& n=45 642
way ¥ = &
_ 642
45
= 14.27
x =T 1427
177

T
Q

12

13

15
XM

14

— gl eua (3Ru) -

2igRasH) el oyl 93 vudedl . A3l 4y 2UgRL 10 A g3u st x = 17 L ol suy
2691 wdells QR 8. xR 3ol suy AR vadlsdl [QdRd 8 dal dusll 2ugRel sua: qedl 2y 8.
8 ugR-lAde-l wes, Ry, oigas i agdsi-l aaddl sda.

16 17
Mn QJ

19 20

8 2 X

ugR-fadexl Quna



WRY M = ("T“)vu adlsrll Bud

%) W wadlsnsdl Bud

= (%) snadlsl Bua

= 2341 vaelsarl BHd
of wll SlaHAL 2dl, 2341 vadlsadl Bud 15 9.
M =%15

(n+1

uau agds 9, T) WL vl snirl Bud

(%) W vadlseqdl Bud

(%) W wadlsddl Bud

11.541 vadlsnsl Bud
of <L SlaHdL 2Adl, 11,541 vadls-l Bud 10 8.
Q =210

3("7“) W vadlsdrl Bud

AR agds g,

= 3 (%) W wadlsi-ll Buq

3(%) W vadlsadl Bud

3(11.5)4L vladlsi-{l Bud
34.541 viddlsrdl Bud

cf <l SladHl Adl, 34,54 vddlsaHl Bud 18 9.

Q, =%18
Ggas M = HedH 2UgRL 10 A Ay Aadlsd 17 8.

M, =T17
dl, A19R-AdR8UAL UGRASHL HAUS X, WA M, oges M 2R Add -l Baudl saladl 2uqRias
Wl e 3,
1) x=1427,M=15M =174 8 ddl ¥ <M < M A.
)  ugRasl el euynl 9 ay Wadd 9.
() Q-M=18-15=3%AM-Q =15-10=5408. ddl Q, -M< M- Q .
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B [Qud ugR-Adrenl wdrdd: (AL dael Aa 4a © -
(1) Mg, HeR A olgasHl Budl Aedl s134L
SlY 8.
wilg T <M< M, //\
(2) qcdlu agels 0, 2w M 4G idR A

WY M i Way Aagds Q) anl vidR sdl g /

gl 8. .
sald (@,- M) <M - Q)
(3) 2uqR-AdaAA 2uqfasHl ogasdl el

dRgell 93l ay vlwddl €y 6.

A4 2 Rl [Qun 2ugRi-Adenl nadlsd-l dedd Baudadl sl dgnl xiadls-Ai Adn ay Adl ud
8. qausly 2 Auru Aoifd el 8ru Bl 2ugR-Adw B @Ay &l 43 8. tl.d., S8 s axgd
Buaioidl sugft-Ada, sudsdlHl Avariod] 2ugfi-Ada qdRul s Qud 2ugiias wa 8.

5.3 [Auudr w2 Rda 21 e wuHl v (Concept of absolute and relative measure of skewness)

WAl Aadlsldl 2ugR-AdReA 2ugRas Rl d >ugR-Adadl Qwid 4 8 3 sa ® A
Rl wsi 8. uig sug-Adwul @wedid wu ded 8 d 2ududl seedfl Wl wsg -l

ANl HMal H2 A USIRAL WY aud 8 : (1) RU& U (Absolute measure) (2) MUA WY
(Relative measure). A4[Rrl A qed ¥ AsHul €U, d sHHl salaqHl suadl RyHdLAL HuA @yl
(MRAa 3y 58 &, AR A3l s, A} salaqri 20d 8.

sl RuAAl yglafl @Qyudlg MR8 Y AU AL dgladel Aaadqni 20d 8 24 ouGdl-l
Uglanl Q Agsiel vidrel dsladell Andainl 20 6. & 214l A5 YA AHRAL garllds eI 5al
Hi2 2L WY QUYL biridl Hell, dguRid o AMRReAL Ms % USIRAL M5H YRAAdL AddlsHl Slal 9dl d W2
(MU el Gudlol 524 32dls auid [Rdias A2l s13 ol wifedl [Qdeil weyadl Rl 8 URAL
HQAL (B 8L a3,

23 & 3 el ay AH[RrL garilcts e Hi2 [Quudig A0E Y 2l Al 2ud 8, 2L WA
Wyn [@nudis dild 20avarl 2ud 8§, el Quddig 2isuell ysd Wy Angdl 1 Quddl [ua
HUuA UARAL YU HY a3 LAl 20d 8. M, 25l sd3L dl [QAnudi-n ada v [QAnudis
(Co—efficient of skewness) $& . A=l AddHi j A sulami 20d 8.

5.4 [yaal 21 [Qynais Anaq w2 uglil (Methods for determining skewness and Coefficient of skewness)

uqR-[Qdreril Qwddl 24 [Quadis Aaaar A A da@d uglzildl Gudlar sl »ud © -
(1) si Rudq-l ugla (2) susel-l ugla.
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5.4.1 51¢ RMud-l ugla (Karl Pearson’s method)

[Qun g R-[AdRH s, WY A ogds B ARUAL Hedl AL Sl Aell Ay WA qed, Has
v ogasHl 92 €ld 9. dell A da [@Qrddig dy Aadal Hes i ogasnl yeddl dsladHl Guylal
. vald [Quudl S, = ¥ - M, Al 209 . [ANHAAL WY S, L HARAL 1Y HHURIA [Qaan s @}
edlaLel A oigasla 2uq-[Ade w2 [Auddid 0e Ay Quddls j 10, Qusidig 00e Wy [Qyadis
AL Yotell HA B :

1R 2UgR-[Adaml oigasl Bud vis sdl ay €ld viaa oigasHl Assy Bud Aadl asiy Qi 4
Sld AR sld DAL ddlqurR dgas-l Bud -0 wuda RuEd Yot (Empirical formula)
M =3M - 25 -l aeedl Aadl asii &, v, [l 2 @QusdisHi Yol A 3o 34
(UMl §, = s —olgds = x - M =X - 3M - 2X) = 3x - 3M
=3(x - M)

A [Quddle A8 WY Qyudis j = M

At s QuHdlAL O SR B ¢ (1) tet @ANAdL (2) 8L QN

(1) A 2uqR-[Ad@ e [Nl YR1ad €, dl [@QaedL S, o 3ed 0 4l ay €lu 22d 5 S, > 0 €.
A 2gR-[Adw@nl ogas AR @Ue) 4 dl @Quddl S, = % - M) il Yordl Aaadpl sud 8.
RAx>MEUd S =(F -M)>004S dell un [@Auudl S 2% sdad. d % Ad 3 > M &y, dl
S, =3(x — M) >0 2y Qefl urt [l § 2y sdau.

@) A 2qR-Qd@ B ANl YA €l dl [@QdddL S, o et 0 ol il €lu 2ed 3 S, <0
Sl A AgR-Ad@AH sgas ArARd @) eld d @wddl S= T - M -l Yotell Aadani 2ud 8
A x<MEUA S, =(FT-M)<0uyd del Ba Quad & A4 s8d. A ¥ dd T <M &y, dl
S, =3(% - M) < 0 2 azll Bl [Quddl 8 23 sday.

Yy :

(1) agrRdl Med 2uuRd Wl @Ay sigR-Qd we @uudisdl Bad -1 0l 1 g4 4149 8.

(2) UR WAH[BAL 2ugRasul 35 sl AUR olgas €ld AR AN A 53 sy 3 [@Anudis

j= 3E=M) 0 Buq 360 3 3l well ud.
A

(3) 2tissieuol 2. d, wA-AuA Ay 1951 Al A5 orgadly @Ay [Qd@ 1R Yol j = E_SM o o] yadl

Ruudisl Bud Agils e -3 4l /3 2@ 3 — 1.73 Ul 1.73 Yl Holl 8 & An lGia 4.
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r ( auydl W awredl wlRkdl ) ~

2ugR-[AdwRL A Al as

« AR >

——> 2UqR-[AdREL C Al a5

lqR-[AdReL B -l as

&
<

0 M = oigds
— 2Uq4[R-[AdRB0 A, B 241 C L 2aclsi —

v

Guysd AAY 2ugR-[AdRL 4 [QAwddl sufd 8. %l 2UdR-[Ad2 C AL idRasdl ol suy-l
B4 Alell ay vwddl & dell A Al ay e [@Addl A 9. 2R wgR-[AdRL Bl vugRas C +ll
whasl »edl 4ot [l 1A 8. Ay YR-[AdR A A 2ugRasdl 83 B 2R C «{l udaxi Alel
29l HAAA laell Alell 20l 4 [QA¥HAL A S,

y N

T

&, g R-[Ad A Al a5

i 2UqR-AdRa C -l a5

— §YR-[AdR2A B L as
<€ 0 >X
M = sgds
) — 294R-QAdRBN A, B 241 C L ddlsd —

Guysd 2Ry, vugR-[Adw el Qv euld 8. Ful 2ugR-AdRe C A 2ugRias-l sl suy-l
B3 Alell ay wwddl & qell o Alell 4y w2 QAnddl 4Ad 8. 24R gR-[Ad@ Bl vigRas-d 83
C ~{l waxi 20l B2 [@Quudl 414 8. A3y 2ugR-[Adel A AL sugRiasd 9 B 24 C -l wlaul
Alell 2D Al €laiell Alell el w0l QAL 4 B.
§ J
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Gersa 1 : Al Rl A5 Ul su-ll 50 25 gr1 3ad widell gl ofl 2l A s [RaA B[S
18 sl €282 sl 2uadl v @ddl 8. d udl sied RuA--) ugla-l Gualal 54 [Qund
A [Anudis alsl.

82521 Asui-l
. 120 | 130 | 140 |150 | 160 | 170 | 180 | 190 | 200
AvYL

gsllaiva |2 [ 3 | 4[5 |19 |9 |6 |1

wdl, 2U0e 2ugR-[AdReL A5 oigas 4AA 8 adl st RudA-l uglaell [@Awaidis slual w2 Hws,
oigas i UHLRd [Quean-l awiddl s3g.

éz{‘:? AsHlAl | 25l i d=x-A P i
Avul x ! A = 160
120 2 —40 80 3200
130 3 -30 —90 2700
140 4 20 80 1600
150 5 -10 50 500
160 1 0 0 0
170 9 10 90 900
180 9 20 180 3600
190 6 30 180 5400
200 1 40 40 1600
& n=>50 190 19500
uas x = A+ #

= 160 +

= 160 + 3.8

= 1638

s X o= 163.8usH
Bgis M = HedH 2GR 11 A g3y wddls 160 ©.
M 160 2153

o

WHURId [Quad s

B

I
%
AN
>
R

w2

| 1l
—_— =
o oG
W L =
=30
&/-hox
*
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[uuar 5, = 7 - M

a

= 163.8 — 160
= 3.8

S, = 3.82s4

-M,

[Auuais j -

163.8—160
19.38

— 38
19.38

= 0.1961
j = 020
dl, 200 2ugR-AdeL bt Quudl 4ud 8. 213 Alald 8 3 j = 0.20 Asidl 3sd 8.
Gersmt 2 : 100 Su-Daii-i alls 52 A DA wRd vl siel Ru) uglad Qrdl 27 [Auudis Wkl

Alfs 52 (@w 7) 0-20 | 20-40 | 40-60 | 60-80 | 80-100 | 100- 120

Sulla-l v 5 20 40 25 6 4

NG AIGR-[AdR8L 205 cgasly © dofl [Qusdis udl 12 w@as 3, ogds M A Wi [Qadnsl
aRiddl s3ly.

alls 52 sudlaildl 2ivan | wealug - x-4
¢ Jd Sfd?
@m %) f x A=50, c=20
0-20 5 10 -2 - 10 20
20 - 40 20 30 -1 — 20 20
40 - 60 40 50 0 0 0
60 - 80 25 70 1 25 25
80 - 100 6 90 2 12 24
100 - 120 4 110 3 12 36
5 n =100 19 125
s x = A+ E—flx c
_sg. 19
=50 + 30-x 20
_ 380
= 50 + 100
= 50 +38
¥ = 53.8
T = T53.8dmM
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wH@d [duaq s

3fd> _(Efd)2 ¢

n n

_ 125 {19}
- /m‘(m) x 20
J1.25-0.0361 % 20

V12139 % 20
22.0354

u

s = 72204 A

Ggds M= HedH 2UgR 40 A vUg3u W[ 40 - 60 & el sigasl aof 40 - 60 8.

é.a., M=L+ sz'"_—}lfleXC

adl, L

40, fm=40’f1=20’f2=25’c=20

40-20
M= 40 + 2(40)—20-25 X 20

20x20

= 40+ 5575035

_ 400
= 40 + 35

= 40+ 11.4285

= 51.4285

= T 51.43 A
[AQuudL S= x- M,

= 538-5143

= 237

S = 7237AM

X-M, _ 53.8-51.43
s 22.04

[nudis j =

2.37
= 2204
0.1075
j = o1

adl sdl wsiy 3, 2w ugR-Adw g [@uddl 4ud ©. [Qunddisd jed vl © ddfl A Yud 8 & d
Aol AR 8.
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BELs0L 3 : As sIRvi-UHL 100 HallAL G121 Beet s 2ud 8. Bewe-t B eRui vidlgd sl i
A yoror Wl wid 8. d uefl sl RuA-) uglaefl [Anndr vi4 [Anudis a4l

vadlgd sHidl v | 11-20 | 21-30| 31-40| 41-50| 51-60 |61-70| 71-80

HAAIAL 2Ava 2 12 25 39 12 9 1
20¢ 2u9R-AdR2L 28 ogasly © dsl [Quddis ad e Hs, ogds 219 WHRLd [Qadr-l ariddl s30g.

vdlgd sl [welll-l v | HealZHa d=* ;A
dvul f x A =455 fd fd?
c=10
11-20 2 15.5 -3 -6 18
21- 30 12 25.5 -2 - 24 48
31-40 25 35.5 -1 -25 25
41-50 39 45.5 0 0 0
51 - 60 12 55.5 1 12 12
61-70 9 65.5 2 18 36
71- 80 1 75.5 3 3 9
& n =100 -22 148
3fd

Hes ¥ = A+TXC

— (=22)
=455+ 100 % 10

=45.5-2.2

43.3

X o= 433384

Sgas M Moy 2GR 39 A ug3u o 41-50 & Aol sgasHl MRS adf 41-50 8.
- ) AMUBigpl Anadl, etgasl ol 40.5 - 50.5 4L,

é,a., M, = L+2ff"'_—}lfif2><c

wdl, L = 405,f,=39,f=25f,=12% c=109®.

39-25

M 40.5 + 2(39)_25_12X 10

o

_ 14x10
= 40.5 + T8-37

_ 140
= 40.5 + 3|

= 40.5 + 3.4146
= 43.9146
M = 43.913s54
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2
X c

2
wiiid Raad s = %_(%

148 (-22V
Too-(723) x 10

= J1.48-0.0484 x 10

= J1.4316x 10
= 11.96 2154
X -M,
43.3 — 4391
- 0.61 2154

[Quuar S

Sy

I-M,
N

_ 43.3-4391
= 71196

—0.61
11.96

~ 0.0509
j =-005
e 2 R-AdRL R [Quadis 1A 8, ¥ AR ay w5 8.
GELs0L 4 : s AdU 200 gZou-ll ol 201441 AN WRAS A uRag-w A Yoot gdl. sied Rz
uglasfl [Anudl 214 [Quudis 2kl

[Quuais j

AR WRAS AsRas- w3
(T €M)
H3uil-l Avu 5 40 120 20 10 5

1-3 4-6 7-9 [10-13 |14-16 |17-19

et ugR-AdRel virde qdfdens dladll 2ula [Qusidis daal 12 ws, 3 2 BURid
[Qadn-l arddl sdg.

Ry wRas | gdeidl
AR s vl Wallud | d=x-4 fd Ja of
v (T ¢uR) f ¥ A=8
1-3 5 2 -6 - 30 180 5
4-6 40 5 -3 - 120 360 45
7-9 120 8 0 0 0 165
10-13 20 11.5 3.5 70 245 185
14-16 10 15 7 70 490 195
17-19 5 18 10 50 500 200
& n =200 40 1775
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L

HEYRY

8q,

],

waiBid [Qua-

[Quaar

|

M

A+%
n

40
8 + 200
8+ 0.2
8.2

T 8.2 8RR

(g) HL vaelsl Bud

(%) HL wadlsedl Bud

1003 )5l FHd

o "L NaHHL Adl, 1004 2Haclsdl Bud-dl adf 7-94l Al & Al Heupadl wRARS
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A 9.

s RuAA] uglaell Anda Qusdisdl Bud ouGell-l ugla gl ia [@Quudis sl ay Quudy ©
5181 5 6uGell-l uglaell [Anudis uani agdsi-l Gualol Ay . Agdsl ual W Rl §5d sl
50 % adlslAl Guylol Ay 8. sief RufArdl Aaxi @uudis aanl s v wuid Qaasndl Guadol
dY 9. ¥l HURAAL dun viaelsl Guylomi da 8.

vjeedl B3l 2UgR-[AdRRL [Quadl 2 [Qwsidis suGdl-l uglaell o Wl wsi 8. vicdl dilalou
vigR-AdRAAL sief Ru{ Al Gualoll s v WulRid QadqHl 2wy Aadl wsidl el s Rud--
Al [Qusdis Aual 2 Quadidl R Y 3 - M) L W3 Rd [Qadndl 2y ad el 20d § ulR
UGl Aozl [Auadis alacn *2 [@Aw3dixl A& WY (Q,- M) - (M - Q) 7L (Q, — Q) R S 2Ud
8. YA A ouoidn veL A1l A ¥ olGelldl ugli-il Yo 2t s1ef RuAAH ugld-l Yool Ande Budl-l
getril 2oy 2. A [Awddis j = 0 ld dl d g YA © 3 [l vieua 8 2124 3 vugR-[Adw ARd ©.
A3 j =0 &4 19l Ul BRudl 2ugR-[Ad@- 2ugfas 44 3 v [Qusidl eufad & ag ol w3,
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i ouBell-l wgldsfl [Quudis 24l

Bersel 18 : 6l AR Wl Al WlAs 2uas i 1Rl il 1A Yooy wida 8. d uell sel RuA

([Qadl A A A B
WY X 300 280
WY M 284 310
w8 [Quan s 60 110
uay agds 124 160
adlu ageds 0, 390 520
AR A :
sied Nud-dl Ad Qundis : ouGell Ad [Quunais :
; 3G-M) _ %+0-2M
J - s - Qs - Q1
_ 3(300-284) _ 390+124—2(284)
= 60 = 390-124
_3a6) _ 514-568
) = 266
_ 48 _ =54
= 60 = 266
j = 08 = —0.203
j = -02
W B :
st Nug-dl Ad [@QAunais : ouGel-l Ad [Quudis :
. _ 3G-M) _ O+0-2M
J - s - Q3 - Q1
_ 3(280-310) _ 520+160-2x310
= 110 = 520—160
330 _ 680-620
= 110 = 360
- 9 _ 60
= 1 = 360
j = -082 “j o= 017

A8 A Hi sl Rufd-l Ad a4 [Quadis 2R cuBdl-l a8l [@Quudis 46 8. R wd B Hi
s1ef Ru{-{l Aa el Quddls 219 6uGell-l Ad 4l RANHdis 18 8. dell o uglall 1aen RQuudisl ga-
Qoy gl 59 25 o USR] uglan avHgll sl [Raag 6.
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ALY 5.2

s UL s sl gel-gel gl Gu(adai) QA4 sugfi-fadea well ouGdl-l
uglaell @nudis wal 24 QudiAl wsik oeudl.

Gua(adui) 25 |17 [20 |18 |26 [ 22 |28 |23
gl v 2|14 o |nl|l7]9]|3]|s8s

31 LelBs Gauert sl su-lladlal otR ule Ay fuiell srwsS add 3 f 8 sugR-QAda {2
Yoo 8. d wel ouGell-ll uglaell [AuHdl 21 [QuHdls AL i del UsR sudl.

aus ada yfl | 100 | 300 | 500l | 700l | 900l | 1100 | 13004
(cr 3[R 216l 2l 216l 2Ll 216l 2Ll 216l

Su-lla-l v 0 6 16 19 23 27 31

2014 15«1 Y A1 400 Su-{l@ill AR (2R 23l 19 2ugR-QAde (A you 8. v wdl
el ouGel-l uglaedl ANl 214 [Quadis 8l 24 QuHAAL UsR oRuel.

da (82 ) | 204l »0e§ | 2040 | 40-50 | 50-75 | 75-90 | 90-120|120 A ay

Sullal-l v 30 70 125 100 40 20 15

I Syl 218 sl dril el s wanl i QRA 253 W asdd sPaqg 2ugR-Ad@
A 3ol 8. d uel ouGell-ll uglal [Qundis AL,

sMandl 3sasl

10-12 |12-14 | 14-16 [16-18 [18—20 [2022 [22-24 | 24-26| 26-28 | 28-30
(8 3Mu)
ol Yuul 4 10 16 29 52 80 32 23 17 1

*

i
( awRia )

\.

o [Awy igR-[aderil d-l vigRasdl diell ouy stadl wusll cuy-il 93l ay deuddl §lu 8.
o % dug[Rasui el ouxl B3 ay denddl Slu dn e [Avd 2ugRas sdlg 2 @l dre-l 83l ay

o [AnAdi-l Wyl addl s e sid R wgld vtaan euGel-l ugli-ll Gualol sl 21d 8.
o [adril W& YA [@Quudls sdami 2ud 8.
o [Auudisdl QiR -y A — 14l + 1 34l $lu 8. [QRre Aedoll [Aumdisd . — 3 ¢l + 3 34l

2UgR-Ad0U WHrd dAd A WsRAL dal HaL ¢ -

(1) ARd 2u9R-QAdw 21 (2) Qs 2ugR-[Ada

AMd sugRi-Adadl was, way i sgasdl Bad W Qa8 dal d-l 2uqRas wuy
da H2lsR A3uAL Al 4oL 8.

doudel lu an an [ sugRias sdlg.
[ANHAL HYAL HI2 6L USRAL HIW AL B ¢
1) FRUa Wy @Quady  (2) wda Wy (Quadis)

SlY .

J
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Yol wel :

st QAR Aani Yoll suBell-fl Nai Yol
EENERE EENERE]
(1) olgds e (Ardld) € AR [Quwsidt S, =(Q,-M) - M- Q)
[QwiaL §, = x - M, =Q, +Q -2M

(2) ogds o 3 adl quR €l
el Gigas /L 81U AR
[Quadl S, =3 (x - M)

wda Y wda Wy
(1) olgas e o AR [Anudis j = 831531%383
. E-M, . Q+0 —2M
[Quudis j = S I="0,-0

(2) ogas A 3 el quR &1y
el GgAs /L 81U AR

[Quudls j =

3(x-M)
-

ALY 5

2 2l oiglasey usdl w2 w [Aseydl yriesll s :

1. A R elgas vervdRQd §ld, dl A AR d-ll [QusdisHl [RaR S2dl Sy ?

(@0l 1ydl ) -1 4l +1 34l @33yl @-14d0
2. s 2ugR-[Aa2 YL Quud 41 8, dl 2wgR-[AdeAL Heasd yeu seg s ?

(a) Glgds sl auR (b) elgas sl vl

(c) otgasl oRIR (@) vus QA $6 sl ustu AR,

3. 6 [Qdrer Wiy 1A Yoot 9. AlAsie] sy [Que i © ?
[AdQL (1) Hs = 44, WU = 48 2 U, [AaA = 20
[AdQL (i) s = 44, W = 50 21 U, [Que- = 24
(@) RdeL @) 2 () 6l AW WHRHL [@ANHAL 419 &,
() [Adel (1) A [AdRWL (i) sl AR [ANHdl 41 &,

(©) [RAdz@ @) N () sl el [@AnHdL 4 9.
(@ 200l MUl uell [Qundl [A §6§ sl as AlS.
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4. 12 yoror 2 2ugR-[Ade W2 yeadl R & Wy stvaiml 20dd 8. 1833 sigR-Qdel
s ogdsly . 2 AU uqR-[AdReN Fa usR-A [Quddl 4 & o aeudl.

(i) 2ud-[AdwR A 4i opgds = 100 A 3is = 116

(i) 2UgR-AdR B Al e = 142.8 i HS = 142.8

(iii) U9R-[AdR8L C Ui R = 208 2 Hs = 192

(a) 2ugR-Ada A ARd, 2ugR-Ade B B2 [Qud 21 2igR-Adw C ad [Qus 8.

(b) >ugR-Ada A o [QNd, 20qR-[Ad2 B 4 QA 2§ 2ugR-Ada C Ald 8.

(©) 2wgR-AdA A 4 Qv 2ugR-[Adw B ARd 21 2ugR-Qdra € B Qv 8.

(d) 2ugR-Adra A 8 @y, 2ugR-QAd B B2 Q¥ 2= 2ugR-[QAda C Ald 8.
5. s 2UqR-[AdAAL olgas S Hs sl 2 AU B, U 2UGR-[Ad L UsIRY, © ?

(a) B [QuH B, (b) AMd . (©) bl [Qun 8. @) 59 sdl usiy .
6. 2gR-AdRUL A Q, + 0, = 60 2 M = 30 &)y, dl drll Qw2 s§ [Qud Wy 8.

(a) 2ugR-Ad2 ay [@Qux . (b) »ugR-[Adel g Qv .

(©) 2wgR-[Ad AMddiAdl 2eud o, (d) »wgR-Ada AMddl vd o,

7. s AR 2RARA dUqR-RAd@AHL (iens - o) AEESs — oigds) Ul Jeal dell ay ?

@ 3 ®) -1 © 3 @0

8. w2 [Quu 2ugR-[Ada e sy [Qun vl o ?
() Heusel (Bud sy i ogasHl Bud sdl 20l €lu 8.
(b) >[lA Agels 21 WY A2AAL Bl YU, WU WA NAH AGels A2l idrll He sl vileg SlUD.
(c) ugR-Adaul 2ugRasd B ol ouy ay vwddl Qu 8.
(d) LA Agels vin He ARl Vid Y, U A U Agels A2l vidrll Yed sl qHIR SlU .
9. AMd 2ugR-[Ade w2 sy Qun w3y & 7
@Q=2M-0 (0Q,-0,=0-00©0,+0 >2M ) Q,+0Q <2M

109 (M — %) = - 35 dlj <l Bud Jeel aw ?

@ -3 ®) 3 © =-15 () 0.15

11. (i) B dug-Adaml 2R i) 4 @Ay 2ugli-fAdRul wad! Rl sa wud Bud
Alll ay Sy & ?

() () =S (i) ogas () () “™R (i) ogas
(c) (D) bLeds (i) s (d) s, qeRy ogdsdl Bud QA sS s usiuql
12. [Adr@L X AL [QuHdis — 0.99 24 [AdweL Y <l [AnHdis 0.90 €1, dl A-uiell sy [Qud i 8 ?
(@) RAd@a X ay [Quu 8. (b) QA Y ay [Qus 8.
© $9sdasu~s. (d) [QdR X 247 [QdR2 Y« [QAnHdl 3w HHIRIHL 6,
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13. 021 Ugl 53 Qa vl § A areudl.
@ Q, + 0, > 2M €4 dl [AdRl 4t [Awddl 4 8.
(b) eur{ly ¥ GuylaEll suGell [QuMdis WacHl 2ud 9.

(©) s1e RuAAl Qaxi el 2snl 212 g2 a1 A8 YA WHBIA QAGH 9 epataHl 209
8. ol UG-l uglani adelseil daslad ad FUE HuA sl 20 8.

(d) (w3t 2ugR-[AdeA siges{l oA ouy Al vidR vuda vadls-l 2ugR wH dd QdRd
udd U 9.
14. 1A WSl 53 QuA A & o aeud).
() % AL wiaellsel ogasl (B oin suy 2 Ad [RdRd Qy an [Quy 2ugR-AdeL 58 8.
(b) xRl il Agelsll Hdel dstadnl Yed AR 2ugR-QAdReml ddn o 8.
©BS,>0,d x>MuAL x <M WA,
@AS,<08ud x <M1 x >M

A WAL Ws wsuni sus Bl :

Qudl 22d g ?

AMd 2ugR-QAdReL A 8y ?

U R-AdL [Qundl 8 A sWR sy ?

[Qua sugR-[Adrenl HweAL 2 [Q g s8all ?

2gRAs gL [Quddl 3dl dd Assl ad 8 d yuedl.

Quaidis 2ed g ? Qwdidisl Buadl [QdrR onudl.

siel QA wglanl [@Quddlg 3y Aaaar 12 s34l syl Wil Guaal saHi »d @ ?

oUGell-l uglanl [@Qnudig Wy Anadi-l 2WER I,

56 uglell Andd [@uudisHl Bud ay RQaady ¢ ?

10. [Qx3dls e Wy 8 3 [RU8 Y 7 5120 ).

11. 4R viedl 930U 3UgR-[Ad0 2R 2UgR-[AdRAUL 25 5l A eigas §ld AR [ANadis sdL
Yol Aaqal ?

12, v aldouSain sugR-Adeeil sid Rudd uglell [Quadisd yeusdl QR aeudl.

13,315 ugR-[AdwieAL A2 Aglsl 42, 36 v 40 8, dl A ugR-QAdRAA UsIR UL

14.%4 816 2ugR-Adel (Q, - 0) < (Q, - ) Sl dl ugR-[Adadl [yl usi2 el

15. 95 AR 2ugR-AdadAdl s del Hee sdl 2 F2dl Al 8, dl 4 suaR-Adrad
[Qaacinl 3R audl.

16.25 1R 12 0, + 0, = 125 vl M = 625 8, dl 2igR-[Ad@rll Qs 21 g sdl asny ?

17.25 24R-QAdRUL ¥ = M = M = 48 8. 21 2uqR-[Ader [Quudis 213 g sdl ws ?

A A O o o
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8.
9.

s HRA H2 AdAiS 25 %, x =32 2 M =322 8, dl d-il [Anudis AL
(Al Rl Guylal s3] Al [QuHdis 2k :
n =20, Ix = 640, Tx* = 20,800 v\ M = 32.2

10. 315 R 112 s1ef RuAAAL [QuHdls — 0.60 8. %l Heus = 60 27 s = 10 €14, dl & HURAIAL Htaey

e, olgas 2.

11. 315 uqR-Ade 42 sief Rl [wsidl 8 213 Qvsdis = 2 8. A d-ll 31s 64 &y, dl ae)

YORY Vi Y-S L.

12,215 UgR-AdRME 0, + @, = 1.5 M 21 3 (Q, — Q) = 2M €14 ) [ANHdis ).
13. 215 UgR-AdWL W2 4% =6M =144, s =64 2 O, + 0, = 6 (Q, - @) = 60 &4, L s1d

QA 211 suGdl uglaell a¥ [Quudis kL.

A duden uadi-n st suul :

S U AW N

[Qun 2ugR-[Adedl auval 2ud i del dasil rudl.
AR sugR-Qdadl euval 200 1 Al dasl L.
[Qnaals Rl sid Rud 243 ouGdl-l fardl dslad »undl.

. [yl 2 [Quddis uxdl.

(ANl VUL Hod Sgil s4L $UL © ?

A Bewres U@L MRS dden ol 2ugR-[Qdel 1y 2 w1l 8. 6uBdl vt sied Rl
Uglaell Qundis ) oin W ga-i 59,

yay A | wuda

Qadl [ s | neea agels | agds | Raad

el A 350 344 324 356 26

4él B 360 340 330 370 38

. UL s gl af 2014 L ot R e ada AleesHl QAL 2ol wigR-Ade {1

oot . o ul sief Rl uglael [Qundis kL.

2ty s duel
(o) 30 25 | 21| 20| 18 [ 16 | 15 12
(Bazll xva 2 2 7 3 4 | 7 2 3

. 500 Ru4, s Bal 50 Wsed, [Adlael sdl vulai R2uald [ Al WRdl 4a 9. d uel

sif RuAA-l uglaell @Qudais s,

wplauni Rjuaz-dl v | 19 20 21 2 23 24 25 26

e+l v 5 18 10 8 4 2 2 1

. s HURIAL 2ugf-[Ade w2 A n = 200, If (x — 240) = 0, If (x — 240)* = 11,250 i1

HRRY = 246 &1U, dl QNHdls AUl 2 dedl UsIR weudl.
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A1 G3al Anal :

1. [Rad 34y sl ay 11y Q8ldaL sranell add viseidl-l Avalg 2ugR-Ade {2 20la 8. o
Rl ouGdll uglaell [@Awadis sl

Rud any sl ay awa

SR seus 4 3.5 3 2.5 2 1.5 1 0

BisRAL-L Avul 5 4 3 2 1 2 2 1

2. ay 2015 i 315 AS, druie {12 Yorol Ayl 20A4 B, Mg Bae Aty — 10091 2 et «efl.
2L WL uell sief Rurinl uglaell [Quudis lel. d-dl usR onudl.

nZud @Rauni) -5 5 12 18 | 25

(Bl 2fvan 25 35 105 | 125 | 75

3. 60 -l A ydaumi [QenelxAa Anda o [Adrel d1A Yool . s1ef R uglaell [@Qyudis
Al 2 (AUl USIR Ul

Qenell2ll-n 3yt [ 0-1010-20 | 20-30 | 30-40 | 40-50 [50-60 | &

([Qenelfaii-Ql 2ivan 5 12 38 38 20 7 120

4. 4y 2015-16 i 150 Su-la02 s 5L 210 2ugR-Ada A e 8. dLoy ygliel [Qusdis
Al 2 [l wsR ).

45l (v %) 10l 2491 [ 10-20 | 20-30 | 30-40 [ 40 21 ay

su-llai-ll vy 15 30 50 40 15

5. 818 ¥s arg-l diowdg 2ugRi-Ade A yorer 6. d uell s RafA- uglael Qv x1A Qundis

QLL4L.
wia (Asw) 1 2 3 4-8 8-12 | 12-16 | 16-20
s sl v 10 8 12 10 5 15 20

6. s sRVILAML GaUlRd Al -l weaudiell 50 -l el a4 UAS Wril HAGUAL @RIAL WY
(ARAD) Wudl dg 2ugf-QAd A2 Yoot . d-i el suGdl-l uglael [@uadls lEl 21 ddg
e 53,

el AU WY
@)
el ivu 6 13 23 33 41 46 48 50
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Ul 2eU1Y 5L 40 9L5ABL A 20 L5l 24 AL ad(Ras S5 215 85U e Blsda adl-
UAMAMA adly Fysd 540 926 dl didl WA g4 40 + 20 = 60 [Asell 8. 2, A S8 215 Ayl m B
ARgll 2 ofl wyeHl 7 [Birl argll €Y dl old Ael-dl g argaluidl S8 uL s agHl uaiedll
m+n USSR 4G A, U [AudA oL dRaAl [Rus 58 o,

Uy Ayl m (G oflog el n (Gl
gl SS s 2dl gl S8 s
argel wrieoll axgrl uxiedll
J J J
m (sl + n [Asel

‘Glyal’ ol YR 21 a0 530 ws.

ALY 2 oRIATlAL AALUAL o Riglan Al ay aydl W2 usl @y widl as.
ARl Jeusi-l yasyd Rugid

o Hud Bul m USR AS sl €y A oflw Bul n sk 4 wsdl Sl dny ol Bl 2Aysd Ad
sl €Y, dl d §6 m x n USIR AS S, U (AU AYsd Bl Jrusi-l Rigid 58 6. 210Ul Gelswll
gl % U Rigid Wi, 2 d Awlsd As Qo w4 As 6 28R s didldl €y dl d-l wl
§4 4 x 3 =12 {PB,PB,PB,PB,PB,PB,PB,PB,PB,PB,PB, PB,} Qs &.

A o U A alRas s KlsAA 2 s O ol URARAR add Aysd s2a 926 dl da-dl W
&4 40 x 20 = 800 [Qsel) iy,

UyH ¥yl m (G oflog Wyl n (G
agiell A s b g4l S s
drgl udieoll axgel uxiedll
J { {

m [Asel x n [Asel

‘D’ gloerll YR el uusiR 53U ws.

Y RlATIAL JRusiReL YNeid Rigldn Al ay A4el W2 usl @) uLdl asw.
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6.1 53Ul w18 (Meaning of Permutation)

suAY-L 2 Aol AuaH Jedis Gelseldl veq s3A.
o MR 30 s 2, 521 8 Al Guulal s30A BiKlHL YriRladH Q1R A sl Avul sradl 1y d) el el
Jedl Avy ) ol as ?

U 5 2, 5, § -l
Guulol s o sl
Avylal  wuype(l
ol ol A 25, 28, 52,
58, 82, 85 AU g4 ©
Av ] ol sty il
A g o3l & 3 55
2isq yAladd sal
t92 « dlawdl 22, 55, 88
| RSN NELTE| TP
8.

8 L % AR ARLdAL Yaoid Rigid Yoo G3ellal. & vigauoll vaiui
VsH A £US V3, 6 WA, Y,

= ¥
i E?E’s:
A RISZRT
© 5 = -
T 3 G 2 2TE 2,
A oz g R
ln;"'(g 130’5)'(3'.«73
“Cg)o ’f"n’,—-ﬁ'ﬁ
N X 253
7=
[ easg s | EEETE

B, £ASL WL GRALULE 2, 521 8 B 8L (A5l €9, YR s 22-
SLS LS 28 gl HUAA AYL UL D53 @l GRALUIR HIA 6L % [Asell B, vled
5 56 3 x 2 = 6vuil ol asiy. vl udal MgueL e Wi visl uiedll
530 ugsl eauseil e HI2 sl uiedll 3121 dlue uReuH oleald R,

Ay 2 YR AACARSHHL ARl YeRlad il sHadl-Al de e,

o R 3 AR QaEl A, B, C, D Hidl als Qe 332 duAl swid 2 ol [Qenelld Gusiq
oirilcclledl €9, 8 VL YHR™IIAL B3al Jedl [Asedl wy ?

ML uHARLL Bse
suypell Al dl 1A
Yoror el el R [Asedl
3a :

[@seu| swut |Gustun
1 A B
2 A C
3 A D
4 B A
5 B C
6 B D
7 C A
8 C B
9 C D
10 D A
1 D B
12 D C

8d L % AR Giet AL yaold Rigldadll AadlA.

(]

o = < L
el g2z
& 22 2
42T &"%?%@3
?qu;—? (303%5"@?
S S g T rTCF T

& ~0 T
[ s<d 2 | | Gustdirig 2t |

A, sl Mylsa saLH2 A, B, C 2 D 21 AR [Asedl 8. sidiniedl
Ml 2 ol wedl Gusidia-dl MRyl s de Wt 28 o [Qsedl 8.
ved 3 g4 4 x 3 = 12 Qsed 1ol 3.
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r 2 1 2 3 4 r

Uels A WS+l n n-1 n-2 n-3 n-r+1
Wy [Aseul =n-1-D|=n-2-D|=n-G3-D|=n-@1 =n-(r1

GURHL Sles uel AU AU B 3 UUH @A eRdlL W2 1 [Asedl Guaod §. ¢ S5 uRL s arg
ad uyH @ il olte ol (n-1) arglaiiell S ws axgell olly e ¢dl wsia. v UL 6 -l
elRalrl 4 [Asell 1 x (n=1) WA o % WAL UYH AR @ ¢HRALL 6 [Qsell 1 x (n-1) x (n-2) UA.
VL Yool 7 @A GRAAL §4 [Asel 1 x (1-1) x (1-2) x (1-3) X...x (n — 7 + 1) WA, ¥ n %l %Ll
g0 7 arg@AA 7 Ul YR dlsddldl g6 sHUAL 58 O, adl,

€25 2 Rl [Qsedl v
P=nx@-Dx@-2x@®-3)xwx@-r+D]| |qq souG eu-l Rsedl-ll

Avy) 5dl s 209l B,

UYL AL $419Y[Bld (Factorial) 21 vol o Hewdd e 4AA . Al UaH U $19YR1d-Al 21
AU, U UG Ay ¥ aell ol uuAAL G3anl sRs Avyal-l @MU RS AHAG 8. 1L

getsizA g5l sulaal W2 sHRIA-L GuylaL A 8. sHIRIdA Adddl ‘P 3 L A safaw 8.
X3 n! vYdl [n (@Al 7 35ARUE) A sulcuy . ¢d WU n! A 2 AHDAU.
nl ¥2d 1 ol 2 Y0 st uglas Ava-l JRusiz, 224 3,
nl=1x2x3x..xMm-1)xn
Yl

nl=nx@—1)x.. x3x2x 1 (dgshdl vid U 2L Ao avlly.)
Gels ddl3 ASA d),
MN=TxT-Dx..x3x2x1
=7Tx6x5x4x3x2x1
= 5040
100 =10x (10 -1 x..x3x2x1
=10x9x8x7x6x5%x4x3x2x1
= 36,28,800
d o uHa,
5! =5x4x3x2x1=120
31=3%x2x1=6
1! =1
6! =6x5x4x3x2x1
=6x5x4x%x3x2!

=6x5x4x3!
=6x5 x4 o2l GualBidl...!
=6 x 5 8= x4
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s e,

nl=n(n-1)n-2)x.x3x2x1 n!l= (n) (n— 1)!
=nn-1)(n-2)x..x3x2! n=1 Ydl,
=nn-1)(@n-2)x..x 3! S l=()a-nt
=nn-1)(n-2)! 1=1x0!
=n (- 1! s 0=1

8 $2dails oAl uReuHl A,
U UG AY A AP =n (- 1) (1 = 2) ... (0 — 7 + 1). 2L WRaAHA 1A 10 wa caufd]
ASY

n-rN(n-r-Hx..x3x2xl1
PE=n-D@-2) .. -1+ DX GG ) x..x3x2x1

nn-)(n-2)..(n—r+)(n-r(n—-r-H x..x3x2x1
= (n-r)!

n!
= (n-n)

n! . <. s . N
= -] 24, n>0,7r>0,n>rn yeyells Aval 2 7 2Rl yeils vl o,

AL Yol GuyloL 5309 AL yReuAl direll wsiy.

s24ais Gualdll ulRwuwl
P, =1 "P = n! "P, =n P, =n!
n! n! n! n!
P =-n P =T-n P =m-n P = -n!
n! n! n! n!
Po=w=-00 |~ " ==n) | =~ "P1 = @D Py = =)t
n! n! n(n—1! n!
= =0 = (m-1! = (n=n+1)!
=1 = n! =n = n!
eLd. P = 1 tLd. P = 5! tld. P =5 tld. P = 5!
9p =1 0p =10! p =10 10p = 10!

Gewsw 1 : DAl Budl il :

1 *p (2) *P 3) P, @) °P,
: \ ? ¢ : aAsfeus Aa
n:
M "P, = mon Pl AL AR,
g 8! "P=n@®m-1)(n-2) ... n-r+1)
P, = @-3)! _
n=8 A r=73 i,
|
=% o P,=8@8-1)8-2)
_8x7x6x5! =8x7x6
5! = 336
= 336
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2 Pl aral wgAUR,

"P,=n({@m-1)
6°P2= 60 (60 — 1)
= 60 x 59

= 3540

(3) Pl @ral vguUR,
"P=nn-1)(n-2)n-3)(n-4) (n-95)
P=Tx6x5x4x3x2
= 5040
@ P, -l @l AR,

Po=nm-1)(@m-2) (-3 (-4

P,=5x4x3x2x1
= 120

Bewsr@ 2 : "P, = 720 €1U dl n-il BGua AL

Pl UL AAUR,

P,=n@n-1 (n-2)

nin-1 (-2 =120

8d [AdR8L sl oled U g QY 3 Al 56 =@ 5B Budl 8 3 Fu-dl sk 720

24 ? dl G3d 4 10 x 9 x 8. uig a=l U 1A yore qully :
nin-1)@m-2) =10 10 - 1) (10 - 2)

s n=10

BEwW 3 : P = 42 dlu dl r -l [Bua 2lHl.

n!

nP= —
(=)l Asfes Aa :
- 7 P =42
— (1-n)! 7Pr =7x%6
7 - P ="P,
2= 7-p for=2
. _
(T =-nl= 5]
. _ Ix6x5!
~(T=-nl= T
~ (7 -nl=15!
7-r=5
r=2
220
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GEIIW 4 : 56 x n! = B! dlU dl mll Bua 24l

S6xn!=8x7x6!

Gewsam 5: 2= 60 U dl a0l Bud 24l

n! = 6!
n==6
2
LA
> =

rRI=120=1x2%x3x4x5)

r! = 5!

rn=>5

GEWWM 6: =+VP, : G+ UP, = 10 : 7 ¢ld dl & 2lMl.

Gersam 7

(aHl) P, -

7

n+D)(p+D () _ 10
G+t @ G-D 7

n+2 _ 10

n-1" 7

T(n+2) = 10(n-1)

Tn+14 = 10n - 10
In=24
n=28

s gdoir A Aol uld, uel vid Yalld 25 spuglen w2 s eirud d2dl Ad alsdl sy ?

Wl gdoml AX ASAL B, duA ULl M2 Bs QiR gd °P, Ad 2Dsdl usiy.
sa4un = p,

2

2 2

2

2

GlELE
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GEWRRM 8 : 2, 5, 7, 8 2L o) sl Gualla 4414 W e,
(1) 3edl duyal sl asy ?
2 Qsidl 3¢l v you edl ?
(3)  3edl dwsll 5 4} Fedy owdll wsy ddl ¢ ?

@ Redl vl 5000 sdl A el ?
(1) 2,5,7, 831 4L W2d 3 WR s+l GuallaL
507 wWR ¥isll ga ‘P, Avudl a-udl asy.

2578 | 5278 | 7258 | 8257
2587 | 5287 | 7285 | 8275
2758 | 5728 |7528 | 8527

gasm ='p, 7mes | 5782|7582 | 8572
:: w57 | s |7ses | sms
2875 | s872 |7852 | 8752

E1s Wr-l #3Ul-l g4 Av
L slesnll ollsaell WA A1),

@ -

!
*, %,
2, 5,7, 83 ot4l sl Gudal 5309 Yaag v sirtiad) . dl AsHAU @I YR 2 iyl 8 3salg A,
adl a-ll sDscell 2P, A U U3, e syl @ UR 2 3 8 Aniell s s Sdsus o ugl sl
AR 24 ollfleil AR Wl uR P, dld Slsdl us.

jasiuy =7 x P,

=2x3
=2x6
=12
(3 5
ip p

3 1

2,5, 7, 83 oyl visdl Guildl s3AA 5 4} Fedn cudll usiy ddl Av siradl iy dl Wskel @us
W S ziadl WA ddl -l slsasll P, A ud ud. ¢d Asue @ 4R 5 ANsS AL wehl susle
AR 24l LAl 212l 2uq uR PP, Ad dDsdl usia.
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sasvAU = P x P,

=11 x 3!
=1x6
=6

@

518

l

3
Pl

3P3

2, 5,7, 8 ¥ ol ¥isl Gualal s90M 5000 sl WA dvan striadl @l dl, SMRAL RS (U3 W)
U 5, 73 8 2uag A, ddl d-ll slsaell P, dd 4 ub. ¢ €Nl WA YR S5, 7 F 8 A vl
As sl dAlgarll u 2l usl susl-i AR visll oilsaRll sisl-i AR A Y2 P, A ad ud.

dasvuy =°p x °p,

3 x 3t
Ix6
=18

BN 9: 2, 5, 0, 7 virl 9 3 ot 4 vamil Guadlar 538 wi visdl ga 2246 v orudl aky ?

25119

l ———— J—

4Pl “'I:'4
2,5,0,7,9 % o4l % disvll Gualal s uin visd)
vy siriadl du dl dvul- Huy 2is 0 didl AR o Hy3L WA YR 0 AN d o dvl
AR, Al vyl s 2 Y2 0 R sl AR Vil o o PiF,
wR vl AS Ag visdl sdsanl P, A sA 02579 = 2579
W, ¢4 HUM /AL YR 2, 5, 7 3 9 didl A As 09752 = 9752

sl 2lgagll uS AUl sue sudl-l W ¥y (YA

Ayl sllgagll susl-i wR wi-d wr P, da &4

Wiy,

S8 MUY

=“P1)(4P4
=4 x 4!
=4x24
=96
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BELSRMW 10 : SURAT 208~ 61t o wiaiRi-l vidl s2ell allsaniludl 530 as 3 Bul a2 Yo LU o »ud ?

P, RR U, A)

P, (A% S, R, T)

SURAT 2664l U 249 A 214 6 a3 8. ¢q duAl oflon 247 el 23 & you 2l wR 2P, Ad dsd)
US. OUSIHL AR AR (@) UL AU (24YH) Wil YR P, Ad 2Dsell usiu.
g4 suAu =P, x P,
= 2! x 3!
=2x6
=12
BElSRA 11 : 5 915l wA 2 lsdlalld A5 SRul S2ell Ad ollsdl asiu 3 24 ausaellui,
1) ol 915320 s WA o dsA, ?
(2)  oinl 915 Bs WA A dsn ?

w_/

6
P6

& 915300 As WA % AMsacu-dl Qenell AU s % Alst 2Leldl g6 6 A5 P, Ad oadl us
B 2 UAS dNsarlul & 9150 2iedie: 2P, Ad sl usiy.
gasuud =P x %P,
= 6! x 2!
=720 x 2
= 1440

p

1) _—7
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GELSW 13 : AV 915AA i AR 915l s S1RuUL F2dl Ad sl asiu 3 Pl isAv 214 sl

gl 2ud ?

B G B G B G
] 915U (B) 2R 9153020 (G)R sl

alsaalnl dlauefl olsasfl uy Yoot 53 wsiy : G B G B G B

sa 84U =(P,x °P,) + (P,x °P)

oA onsasl-{l azviid olsAAl s dl A =(3! x 3) + (3! x 3
alsagll (P, x 3P,) A 2gar A dsaslll agviid ) ;66 ’i 2)6+ (6 x 6)
L5301l 5303 dl d 20gagll CP, x °P,) Ad 4 3. =72

GE1sBL 14 : YOUNG 2061 61t o a1d] oindl daudt algaslluial [Bsuqdl s34 Yot olsadi YOUNG
we J2AHL 0 20d ?

YOUNG 6641 Y, O, U, N, G 3 Ui 21831 8, ¥4 P, = 5! = 120 d 2Dscdl usia. ¢d oiridl
&4 120 olsarllzll Rsudl 53 yorel dlsadl YOUNG U0t 326l 53 21 d Aaqdld €.
YOUNG ¢l Y042 51 G N, O, U, Y ©.

G uY U YR 209 ddl 4 P, x ‘P, = 24 dDsaslladl Wy,

N U2y - 42 2Ud ddl §d 1P, x P, = 24 dNsaelladl A,

O a3 Al YR 2 ddl g4 1P, x P, = 24 dNsasllzll wA.

U na3 2 R 204 ddl gd 1P, x P, = 24 dDsasllzll au.

Y Uy 2 YR 21 G ool A R 2d ddl §4 P, x P, x °P, = 6 dNsagluil um.

Y uuH i N ofl2g 2 42 20d ddl g4 P, x P, x P, = 6 dNsagluil wm.

Y 42y, O ol wid G ol 2 42 2 ddl g4 P, x P, x 'P, x 2P, = 2 dsaRllil A,

Y uad, O ol 21l N ol et W2 2ud ddl §4 'P; x 'P, x 'P, x 7P, = 2 dlgag(lxil wn.

Y uad, O ofl2t, Uoflo 2im G A4l i YR 204 ddl g6 1P x 1P, x 'P, x 'P, x 'P, = 1 dNsaellzdl .
IR Uglrl Ut YOUNG 2Ud % Uld 2l$ 53 4 8.

. YOUNG U6ell Rsuridl 61 =24 + 24 + 24 +24 + 6+ 6 +2+2+ 1 + 1 = 114

Guysd Gelsen yHoral flAdAL Slesdl HRAA veuy 52 ¢

TAB 6t~ll 64l % &Rl Gualol 530 3P, = 31 = 6 20sauflatl o, ¥ 2 yael 8.
TAB, TBA, ATB, ABT, BTA, BAT. 84 2l 6 20éas(lald [R5l 53 3oL dlsadl dallel 53 L 3ol
A, ABT, ATB, BAT, BTA, TAB, TBA. U4, TAB 6 Yi™HL 3 2Ud.
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10.

11.

12.

13.

14.

15.

16.

25 ULRll-ASlARHL 7 AlEA ydl 112 7 uieRl 9. 7 uieriuidl 3 uierl Medl il © 3 i 7 ar AU
3 A1y %8 Asdl «ell, dl 2 7 aEn 7 uigRizul dedl dd ydl asiy ?

2,3, 5, 8,9 ol visdl Guylal $31 50,000 sl W&l Sedl Avauiall oAl s ?

s s WA el el sell 5 Alsd2 . 2 uin Alsde gel el GHR-L Uiy suaslil adyal-l
8. o Al W2l AlsAe Al ~liel slisa vl i, dl i uin A1sde iy sasl dedl dd

ad¥l sy ?
(AL 2oLl oL % &AL Gualol 53 ga dedl olsarlll 3 asiy ?
(1) STATISTICS

(2) BOOKKEEPER (3) APPEARING

ASHOK 6%+l 64l % 8] oiricdl 208c 2 24" GEETA 26t~ll stl % &Y eird]l d0saRllal-)
9JeltR dedl 4al ?

g Hl2s1RuUl glda-{l fle AlRd ga 5 WUl V. s gZoinl 10 usAlHiell 3 uodl guSdoL v}

8, dl 10 AcAHiell 5 sl el el Jedl d H2sRHl olledl usiu ?

(1A 210l wsEleL o4l o 1818l o] ANsarfluila sl $3 yarer dllgadi d woe Jeeml $3 1 ?
() PINTU  (2) NURI (3) NIRAL  (4) SUMAN (5) RUTVA

SHLOKA 26+l ot o {&Rlel Al Jeell slsanllall 31 asia 3 ul AR s WA o »ud ?

Ng s1{sHUL 7 A5l A, B, C, D, E, F, Gl M8l 2udlL BB 536 8. 835 dsdiplal arigdl
SNEL YAl 9. A asdl A Ul dd % dAsdl Brl GUNEL Ul €, dl 2L Ald Al eUneL
sa %edl dla onsdl usiy ?

6.2 ¥uu-l w1 (Meaning of Combination)

20UG R el el gl dlsasll eal UsR AS AuF dxll Med I suAU-l ver sdl. ¢d, ud

el el argalidl 2ys axgaldl uiedll Jedl da ad w¥ ddl QAR A3, eld., dRAA @ Bl
S, Fu-Al UH B, saq 2 SR S, e A L oe Bl A i YR olsasll sl dlu dl A
P,=3x2=67dad w3 ¥ A Yoo S :

ollgaell-l usil 1 2 3 4 5 6

waH, WAl Bedl Bl sy s Sl Sl

ol 2eurt sus Ald Bl Al Bedl sus
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Uig ¢ 2R yAedl-ll USRI QAR 5L 9. ARl Wldidl 83 218 UL Gusd 219 Rallaiiel
6 o (Aol BEAR uual 1 9, dl dlRal WA 2L Bl 6 Pell wie sai-l sd Sedl [Qsedl o 7
Al 38 call 21 s AHAE 24D 7 Bl 1A SUAA AR U 7 35U 21 SR 201 21l ?
UM wlal el gel WA AR o [Ased Geedl ad ¥ AU slesui eulen 8 ¢

wigall-u [Qsedl 1 2 3

wie ada @Ml Bl v 54 Bl A A4 | sud 2w -

vl A g w33l O F, sHAUUL $HG Hecd QU 9 e 3 Bl Vi AU’ AUl ‘SUA A BWedl’ A
ol sHAY{l 2[R w101 9. 1R U wRed (il sHg Hewd €lg Yl 2@ 3 dlRULAL 8 DBl A su’
A 3 ‘5UA Vi Bl 20D A oiAdAl i As o Ay B, A, AR P A Bl wriedll g @
A ad 3. uedll-il i [Aseiln A4 (Combination) $8 & 1 24 3C, 43 ealdly. 22d 3 24 sl asn
33C,= 3 Wi, 2us W3, Yel el n R 7 (< n) ARG WS scnL g AU "C A B AA

sdl ws. ¥ C, Cn, ), € A} Ut sl 8. v "C, A3l Gualal sy,

A, n el YEL gl r argll WRie sl ol Al "C A,

€4 "C -l (B3 3dl Ad 4 A ASA. n el %el gl r drgil Wie senl 54 Ad "C 8.
waiedll scUrlL €35 [Aseudl r argail Qla 8. 7 argil-l vieAie dlsasll P, = 7! dld S ud. 2w, €3
AU YU 7! $HAAL HA. Al “C AU §gIU "C x 7! $3HAUL WA, UG LD UG By B 3, n %El
%el g2l r drgil-l ge s3HAAL P S,

W, "P, = "C, x r!

oo B

rorl
P el owA dy Yo s,

n!
C. = t=n'r!

n!
= rl(n-r)!

n! . s e s e
2 "Co= Tl Bl n> 0,720, n > 1 n ueyRls vl v r v yals A 8.

r

229

$1AY, Ay vid [Guél Qarm



L Yotell Gualal s3A AL wReuMl drdl sty :

Feais Gualoll uReual

"C,=1 "C =1 "C,=n "C_,=n "C ="C_
n! n! n! n! n!
C, =Fn-n)! C=rn-n| "C, =Fln-n). C, = Fn-n)! C, =7n-n

n! n n‘ . n L . n n! . n n!
Co = 0l(n—0)! C =nltn-n)t |- "Ci == | "Cout= vl | "Cory = Gonibr-a-]
n! n! n(n—=1)! n! n!
= =l Z1x(n-D! = (n-1) Sm-n'r!
=1 =1 =n =n = "Cr
gld. 3C =1 el.d.’C=1 .d.’C =5 el.d.’C,=5 £1.d.°C,=°C,
0c =1 o =1 10C =10 oC, =10 oc, =1oc,

AC,="C A dl, x+y=n2udlx=yuUl

Gers 16 : -NA--N Budl dndl :
1 *C, 2 *C,

n!
rt(n—-r)!

@ C, =

81
°C, = 37@-3)!

_ 8
= 3 x 5!

_ 8x7x6x5!
T 3x2x1x5!

= 56

2) "Crll aval A=gAR,

c - B

r r!

20
P,
X)C =
3 3'3

20 x 19 x 18
3x2x1

= 1140

3 *C,

@ °C,

asf@s da
"C el vl AR,
°F
"C, = r!
8
P,
8C3 = T'a
_ 8x7x6
T 3x2x1
= 56
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(3) "Cl euvil AGAR,

c = B

r r!

5
s _ By
Co= 2

_ 5x%4x3x2
T 4x3x2xl1
=5

@ "Cl euvil A=AGAR,

e o= P
r r!
6
_°p
Cs = &

Begm 17 : °C, = 45 €l dl -l Bua 2kl

n!

"G, = Tin-n)!

" asl@s Qa
"C, = 2m-2) "C, = 45
4= T T (o s ks
NV=n@®m-1 nn-1)=90
n(n-1)=10(10-1) nn-1)=10010-1)
n=10 s n=10

Besm 18 : 3-7C, = 44-7C, SlU dl -l (Bua 204l
3-2C, = 44-"C,

3x2n 2n-1) @n—2) _ 44xn (n-1)
3x2x1 - 2x1

2n 2n-1)2 (n-1) _ 44n (n-1)
2 - 2

4(2n-1)=44
2n-1=11
2n =12
n==6
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Gewam 19 : "C_, = 56 ¢l dl #-ll Bua a4l
"C L ="C, [+ "C,="C,_
"C, =56
G
an(n-1(n-2)=1336
Aa-DE-2=8@-1)@-2

1

r

s n=2§
G2l 20 : A "C, = *C, €U dl all Bua dlul.
AU 9N gl 3 *C_ = "C, &l dl,

[Qsey 1: [Qsey 2 :
x+y=n r=y
4+6=n ~4=6

n=10 ¥ wsy Al

WA, ail Bud 10 x4,
Gewam 21: A =C,_, = *C, , €lu dl 1l Buq 4.
wMA w0 8l & *C, = "C &l dl,

[Qsey 1: [Qsey 2 :
xX+y=n =Yy
r+2)+2r-3=50 L r+2=2r-13
r+2+2r-3=50 Sor=S5
3r=51
r=17

Gesam 22 : A Al Asdl sl 3 Yy AR wd 2 A Aeruldl adlu Asal 2 yu AR w1
wll Al wisall saardl B, 2w uiedll ga 32el A u ud ?

Ak,

iC, ’C,
el 3 YNl 2 Y+l waiesll 3C, usiR inl 2 wllxluidl 1 wlH uriesll 2C HsR 4 ud.
saday  =%C,x

=3I x2
=6
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e _A— i S

S
S
o

Gewsem 23 : wls 2udlui 5 o, 4 ade w1 3 Jencll ga O, dwidl 3 dlni, 2 ude A 1 gaucll ga t2dl
Ad wrie 43 asnu ?
5 dlai gauiel 3+0 wiedll °C, usR, 4 bt ganidl 2+ wiedll “C, usd 2 3 Jeoll guuidl 14
wiedll ’C, W U wi.
o &8 =°C,x ‘C, x'C,
=10x6x3
=180
GEWRR 24 ¢ 52 uvi- aoidl 2 ynl wale sui >ud . 2u o ynisi,
(1) Ws Uy UAUUY] 2l W Uy AU IR, deedl A waie sA wsy ?
(2) ol wdl el el 3o-u el A waie s3 wswm ?
(3) 6ln Yl 15 o Ui~ keell {d e 53wy ?

— 3 — g R
—pi= pl> gl

N o 3o [ianaioaafioan|lan|iaan|inas
@ P o | aa|at $$ 34:
b HIREIRAL R A2 R AL KA ER L IRE 2
A 2o [ o fooEeo?oofo.oﬁc.oi‘oo
. . L N A R0 MM
;050;00;00;*0;00;00;005‘
3 i 3o [as3oslas|lasias ias
'S 'S s |aa|a’ 23 32
¥ Y I eel vrY vl vl ¥y ¥ e}
4 e 39 |low low |ive |ve lve |lve|
v v v [veo | A B
S et alaneanleanlantanlan
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10.

11.
12.

13.

14.

15.
16.

AU 6.2

(Al Bodl Aaa :

(1 "C, ) °C, (3) #C,, @ *C,

viglld Avil 2NA) :

(1)"C,= 28 @7%  ,=7c,_, @"C,_,=15 @) 4-"C,= 71-"C,

s wonHi yeluoudl 2 2eu1a 12 8 el Widldl GRealdl Ald 6. 21 8 GAeauidl 2 yalaou-dl
yeoll 32l s 53 wsi ?

g 32 grifl-eui 5 2ol cUoL A 9. 2 U AGHL €35 2A €35 2A A Wg-vs Y Warl §lU, d)
2L AGML Jeell A 7™ ?

s Q2L WL 200 5L 5 7 2530 vl 9. % WML 3 254 e SAHL 2419, dl A sHl
VsHL vuHlawl Slaiql sa sedl [Qsedl €1 a3 ?

g el Alsd Sl 14 515 2 6 eldlounidl 3 s1Rg A 1 yelaoudl uiedll eal usiz 3
asy ?

s Aueldl 3 A3 2R 5 el 56 8. duiedl,

(1) M5 % Wil A2 el sedl Ad e 53 wsu ?

(2) %el el Al 6 el Jeell Ad ude 53 wsiy ?

52 uxicll 2AsHiell & udl wges da ude sall 20d dl,

(1) & udi clanl 3edl da e 53 asiy ?

(2) s ug AATG 21 s ug welld dedl A wie 30 waswy ?

g Girgell 9 AN UL 6 513871, 2 Y20l 217, 1 HAR V. anidl 4 wedl-dl AR oiriqa-dl 8.
(1) % AA%RA YA sl o 14 dl AR Tedl sz 1A asy ?

(2) % 6iA YA YL $cUAL A €1 21 HAARA YL SL % SlU, dl AR S us1R 1AL s ?
05 IBAHL s sl 8 {3 2{20 2 sl Yl 8. dielli dgell 3 uedll uiedll
sl €, dl dul 2l >l s lsd yu 3edl U5l wie 3 asy ?

Mg aAlsdan 6 Bl 9. a axiefl 2e9mil el Mg Fotn Uldidl 83 32dl UsiR ApRL 2l a3 ?

8 el el Yasiniell 5 yasl 32ell da uie s34 asiu ¥ ¥,

(1) »145 AlBd Yads i yaie wy ?

2) 2145 [(AlAd Yads sell@ uie 4 ay ?

9L 12+ ey el o) dHl udlanui 1S Qenela g 7 QA ydan uucddl 8. udlanui wa
yal W2 ol o [l W g @33l . e3s [Quanl Wil gl i e9iul 2oL vy s IR AnddlAL
S, dl U udlanui dpAR Qenel 3eel dd A 2 a3 ?

25 gledrll M5 dril AL Guaoy § el el AMARYAL A 5 el el WHASAIE 3 AR
i, 2 AMASL MU Q8L Houdal HidL 8. v ydedll S2el usiR $30 wsid ? A 516 AlssA AHIAIRUAR
WIE 5lg ¥ €U 2 A A1 AlssA WA Wie s ¥ A €A, dl 2l wriedl Jean usiR 3
wsy ?

A "P, + "C, = 84 €4 dl n «ll Bud Nl

AP+ "C_ =24 &4 dl r <l Bud 4.
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6.3 [2udl (dzd2@rl 214 (Meaning of Binomial Expansion)

% uelal@Hi 6L ugl dAdl €ld e 6l Ul q b val BE A& d Adl uelal@A [Bugl yeald
5880, ¥MZ a+ b, x — y, 4a + 3b, x + 2a AR [QUEl uelald saU. UL BOUGHL AUAIRAS0L eRAUIA
1l Zuel uetaldrl e aid Yl [ llval i, & 20 Yoo © ¢

e x+a)l=x+a
x+al=x+2a+ad
x-al=x*-2xa+ad
x+a)=x+3%%a+3x®+a°
x-al=x"-3% +3xa*>-a°

¢d, 3 QAR 2ud ¥ Quel velale-dll 3 ol ay 012 - yals tid €y, dl ddg Qe aadiel 3d) A
Aadl asia ? i [Qd@ Gudl uAyl yeedl Aadl asi. 8 UL Al QA e ST,

U UG [FU€l uelaldAl ¥ (AL dval d-il el gel Ul AsdRisl AAY-AL a3unl el d
d {1 yoro, avll wsiy

o x+al=x+a

='C,x +'Ca
e (x+al=x*+2xa+ad
=C, X +Cxa + °C, d’
o x+al=x+3%a+ 3+ ad°
=3C X’ + ’Cxa + *C,xa® + °C, @

L% UHR (x + @) 2R (¢ + @)L [Qare A Yool avfl wglal :

(x + a)* =‘Cp* + *C, ¥a + *C, ¥a®> + °C, xa’ + °C, a*
=x* + 4% + 62 a® + 4xd® + &
(x + a)’ =°Cx° + °C, x*a + °C, ¥a®> + °C, ¥a@® + °C, xa* + °C, &

=X + Sx%a + 10502 + 10%a% + 5xa* + &°

Guy s [AdRe1g, el 1Sl ael s 5220 dl U  x ~ Eidls $HU: BLs-s sedl WY D FUR g vl ldis
SHA: As-s Qudl A 9. 21 uel [Budl ueal@ (x + a)ll 4t YRS wid #v Q@ LA Yoot aull asiy

x+a="Cxa+"Cx'a +"Cx?%*®+..+"C xa"
[ 1 2 n

(¢ + a)* Ul [QdR@n [gu€l (A9 (Binomial Expansion) $& 8. 21l [0l AIMs Ue "C x*~7 o’
. UMl r =0, 1, 2, ..., n 4513, 2@ [Qugl AL bl ue 14,

r [Qdemiul ue su "C, x""a’

0 HaY ug "C, ¥ 0a = x*

1 ol ue "C, x a!

2 AlY ue "C, x*? a?

n n+1) ‘\-l, e "C, X"t at=a"
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4
Gelsw 35 : (% - %) o Rz 53,

-5 @E oG- 5

Gewsaa 36 : (Va + ﬁ)“j Rt 53,

(G4

4 1
=a’+4a+6+ -+
a a

GewsW 37 : (1 + x)5q [AzeR@ 44 i bid Uyl x = 1 YA asRl o2l
1+ x°
=°C, 1) ®° + °C, (1’ W' + °C, ()* &)* + °C, (1)’ &)’
+°C, (1P ®* + °C; (D! @) + °C, (1)° @)°

=1+ 6x+ 152 + 202 + 152* + 6x° + x5

UM,

A +x=1+6x+ 152 + 202> + 15+* + 6x° + &5

x =1 Ydi,

dol=(1+x=(0+1%=2)°=64

%.0ll.=1+ 6x + 157 + 20x> + 15x* + 6x° + x5
=1+ 6(1) + 15(1) + 20(1)* + 15(1)* + 6(1)° + (1)°
=1+6+15+20+15+6+1
=64

24, 3.6l = %.6U.
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Gewsam 38 : (v3+2)" - (V3-2)" -l Bud Rudl Rraza-l 94 Andl.
(V3+2) - (V3-2)

3¢, (v3) (2° sc,(v3)° (2)°
o3| |-l
e e?| |+ (W3
= |+, @ |-%c,(3) 0
+3¢,(3) @ | +%,(3) @
+¢,(3° @] |-c,(\3) @]

(82 & Bugl verald a2 e Ra Sl ofloy yeialdel Qe R seald. WRaud 6iq yelaf@-il
[QadRa1 udal, >0 2 vinHL uedl dlu 44dl.)

=2PC, (3 @' +°C; (3 () + °C; (y3)° (2]
=25 2) + 10 (3) (8) + 32]

=2 [90 + 240 + 32]

=2 [362]

=724

GaR 391 ((3442)" +(v3-42)" U Bud [Budl Rzl A4 Aadl,
(W3 +2) + (B3 -2)

(=]

W3] | el
PN | |- WaR)
- [+ B | + |+ B (a)
RN ¥ I N Ay
NG N I PR U

(¢d A Rudl el a2 4 P& Qawel ol uelaliql Rdaddl REl sead R, wReud oA
ygla@lel [QrdRairdl oflot 2 e yerl dy 4.)

=24, (V3) @ + 4, (VB) ({2) + 4, (3)" ({2)']

=2[9+63) ) +4]

=219 + 36 + 4]

=2 [49]

=98
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A 6.3
A2 200l [Gudl ueraldzi-u [Qade Anal :

-9
(guel [l 3eeedl Baud Aadl,

M5 +1° -5 -1

@ (2 + 1D+ (2 -1f

B) (V5+3) + (V5-43)"

(1 + x)° o, (A2 52 A ol Uy x = 1 HSlA sl i)

(1 + a)f 4, (AW 53 A ol 6L a = 2 YA As(l ).
{ awia )

[ ]
\

— )
2 518 215 AYSHL m (Ml Al A oflon el 7 Bt agll €, dl el 3yl get argalaiell
sifuRL 35 axgedll wedll m + 7 USR A5 Ad.

A Hud Bl m usR A4S asdl € wA oflow Bul n usiR uS wsdl d due siq Buwll Aysd dd
sl QU dl A g4 m x 7 USIR UG U,

nl=nm-DEn-2)x..x3x2x1
n %el el Rg2A 7 @il YR Slsadivl g $HAU "P AW,

$HAY i AAY AL YOG dSldd 2 0 F, sHAUUL $HT Hecd S1U € UL AAUUL 1] Heca el
Adl. 2ed ¥, $HAYML ab 1A ba )l 2L WAL 9 FUIR AAUUL ab 2 ba <) v AHA WY D,
(& + @y =il [RdRAAL $A (n + 1) UELL YRS 2gsA "C, "C,, "C,, ... , "C, &.

ol wel

!
P, = (nzr)!
"PO =1, "P = n!, "p,=n,"p,, = n!
4 N agallaiiell A argall As UsiRl wxragzu-dl €y, B axgil ofla usi-l arazu-dl €, C
Rl Al sl wnaAZuAL A oudll ol o axgall Bt Y, dl §8 N agaildl §6 $4dL

N
ATBI Cl W
n!

"C, = Tn-n1

MU AN Auul Aeoll P A 'C A WRRs Ao : ¢ =

(x + oy velaldg [Qdw :
"C, () @° + "C, @ @' + "C, @2 @ + ... + "C. ®)° (ay
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AR A3l AR $3HAY i, AL 4L uRfas Aoy dvil.

(x+ @)Ul n = 6 Y&l UL [ARcR@IAL USRS @vil,

(x + a)y <UL [AdW@r, As e duil.

g 2eirl S6UHL 3 A5 AL M2 5 Ul 8. dvll dedl UsR Wil wouL Aadl a3 ?
"C, = 15 €14 dl n-ll (B3d pudl.

"P, = 210 &4 dl -l [Bud eud).

10. TUESDAY ate~il 64l % &+l Heeell Adl 3eell alsarllail 4 a3 ?
11. VIAAN 2ol o) % &Rl Gualal 3l 32l alsasllzil oiiicll sy ?
12.5 el el Wil 5 saui sedl A 34l asi ?

13.7P »ed g ?

14.(x + a)" -l [AAR@AL 72 + 1 UELAL ALABRLSL Evil.

15.8 "C, = "C, €14, dl x ¥ y Ul Aol usd A [Asedl @il

A A L o

AL WAl s 2uul :

1. [Zugl [Qd@nl daRl avil.

2. s [Qaudounl 10 woul ool & 8. v wouRddil wad, Bdld 2w qdla Sl dedl dd
adfl usy ?

3. 4 91524 A 3 L5 215 @1l 32l L dedl wstd 3 Ul 51 uRL A 9LsABAL 3 A 915¢L1)
ws AR A dsa ?

4, s 201d UR VisAAAAL 6, LML 5 A 2idw [ANyHL 4 Yl gel YsA A5 erul sedl dld

oledl wsiy 3 el s [Auaunl Yl s AA o 2 ?

3,8,0,7, 6% ot 35l GualoL s3I uin sisaoll 3edl vl oirudl asu ?

TANI ase~il ol % &R 32l alsarll 2l ¢ 3 ¥l W &1L % 209 ?

MANGO 0e-il ol % &+l 32l 2Nsarll Al ¢ 3 Fui W A « 219 ?

YU, Bis 1YY @A YR o 1A ddl dd 12343211 L % sl Gualol 3 deell Avai

oielldl wstY ?

9, ROLLS el o1t % 2182 oiridl 20sa(lzil 21 DOLLS 26t~ 618l o 21&R1 ] oircl alsaeflairl
Rl 32¢) udl ?

10. 35 6LSAML 6 25 69, FUL 2 g viflawon 9. v ollsuuiell vilR(8d & 24 3edl Ad e 53 asu ?

11. oo {d AAal 52 ydididl 68 yal AR(AL vaal AA-AL 3eel dd ude 53U usy ?

12. 611612 dld A10al 52 udinizdl 28 udl 218 o WL el dd ude 3 wsw ?

13.(2x + 3y)® o, [Qd@ s,

Sl I A S

14. (x - %)3 4 R 5.

15.(y + k)° 4 [QrdmL $.
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AL UaAL HUs U ¢

1.

9.

uay, Ay wglas AvadAl Gualol s34,

(1) §a $edl vl oi-udl asiy ?

(2) 30,000 $di H1&l 3edl dvqii) oi-idl wstd ?

(3) 5 a¥ [Fuan el asid adl 3edl Avuipil ol asiu ?

4 9L5AB A 4 9ISl As UL 32el dd dlsdl usiy 3 FYl AS uA A LA F
& 91582l Vs QA A 1A ?

< 3 LA A 2 9520 As Ul J2ell A Nsdl usiu 3 Fl,

(1) 6l 915320 25 A1 o 20 ?
(2) 9L5A 2 95T QRIS 209 ?
(3) QYU e9L5ABL A5 AN % 2UQ ?

WAKEFUL 16+l 61t % 28l oirdl duiy 20saeflzila Rsuqdl $4 Yool dlsadi WAKEFUL
A6t 32l $3 2 ?

. s WM 4 yoiel ula-ucdll) euol A 8. d 8 calsavduial 2 culsiil uie saHl 21d 8.

(1) ude s3¢l A alkpil uld-ucll lu adl wiedll-l us 3eal ya ?
(2) ude 5l & A5l 215 YN A A5 Al ddl uiedll Jedl da 53 waswy ?

(3) Wit sl A S0 28 YN 2 A8 Al &y uig a2l wla-ucdl + €l ddl uriedll Seel
da 53 asy ?

s 26d UR visdacl 4 A vl 3 gel oel Yasl dlsdal 8. 2wl Yasluidl
6 Yclsl Ue Ul id 8. wie 53d A Yelsui,

(1) oln Yeisl As o [@Quydl sedl da wie s3 usy ?

(2) oln Yl gel el [QAnysl 3edl da wrie s30 asu ?

(3) el Qg 28 ua Yds - 20d adl uedll 32l da as u ?

s WL gsiAul 3 doiellxil, 4 flad A2 21 3 512 BRAUL y3al 9. 2s euns quiel
2ARL ™SI yAe 52 8. ol dul,
(1) Ay W3l el 3eell Ad wie s wsiu ?
(2) QY WSl el el edl Ad wrie 53U ws ?
(3) & dareflzil 2 As flad A2 Fedl dd e 3 usy ?
s AMUFS B2l WA ARl 4 A2, 2 5 Aseidl 3 ueAl-{l AR ertiaad] ©. 1L
A,
(1) Al.A Aol sgudlul 8.
2) s+l Aval sgudlHl 8.
adl uaieoll Jeal usR s usy ?

(V7 + 1) = (J7 - 1) -l Bud Bugl [@zdrexdl da Aaql.

10.(/3 + 1 + (3 — 1)l (Bud [gugl [Qrdradl dld Aad).
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7.1 uH[® A [Agel (Population and Sample)

(3

Y

weU 860 viadl dild gl 3 sl A4 AR (Population) s3<UHL 21 . AHRHIYL 214 s
s Q0 5 ugldll wdie sl wilReel oo [Reel (Sample) sdai »ud 8.

QA § U orid olédL DL 1241 e sl [Qeuellvi-l ofgHtirl 2Uisd R welal diddl
S5 L Ao 6Ll 1241 A8t et % [QenlluiAl a3y 2 AR A ssaud. A Aorld olEHL el 12+
a1 o [Qenlanil S Alssa 20 1000 Renl>ll uAe sl 204, dL 21 1000 Rene2AAl a3y A
R0 [Reel sdaia. 2 Aol adHi ud Reddl uiedll s2di SA €lal. S gsireR wAel
YR s ¥ 50 vidleal HSul dl U uddl d-dl WA Ml wseu® § sui-l Ax il SeaisHl
Wiedll 53 A AsR{ el 2], gsirelR WA Wseum 5 su-dl sa o2l © o AU © i duiel yiie s¢l
kedis Aseuw ¥ su 3 Red ©.

auRaiell [Meall uaiedll yaell Al (with replacement) 2iual YallA8d (without replacement)
s 4 43 O, yHPHIYl Reef uie sl Quid 2 [Reelqi e3s A sl wriedll, Al 20006 wie 44 A4
AL sl 44l Aed 3 urd sAA sl U dl 2ua ReelA yraell AlRkddf [Mesl sdaw. xR wileuiel
Meal uaie sl auid A Readl e3s AsHell wriedll, d-dl 210UG e qAe AsHA HRHL YI9) Y5UL R
22d 3 wrd sul R saml 2, dl sud Redd yadR8aq Mesl ssa. A o wud B uulfeuisl
Rea-l 215l 21 1A Qaril 2ud dl & yraelAsdd Red w.

7.2 9ul® dwa x4 Red dwa (Population Inquiry and Sample Inquiry)

voUd 860 wladl AL e L2 6L da MRl 2188l 53 wstd . % Adul A oL 2530+l
HIRA Asot UMl 24U A AU dWA (Population Inquiry or Census Inquiry) $¢ 6.

el ¢Rd 2adl 82 et A ddl qudl-oRiddl A AU dwktd Gelsw §. Wl 5 S woeurl
181 11 24 12+ [Qeue{[2lAL eI @dldl euiAHl QIR 11 2 1241 oL [Qene(fA gl HulRdl 252
SAHL A L o AHR Ay A5 sSaud. d o dAd S5 s Yeull P wdal dxun Hardl asell ua wile
dulig, GelsRel .

g Aol wleuiel wde s3a Medrl A5l dw 53U R Asot sl 20d A [Reel dwn
(Sample Inquiry or Sample Survey) $& 8. 5185 s sido-l QenellpAl -wi-w a1l 20ed 3 29 [@QAAL
oYY 529 €U A A U A sldeil 3edls [Qenel2Al dweli-wa sai-l led [@QA 519 2uaR R
V5ot s300 ) A Redl duRig Gelsa 8. 515 s sy Aal Hi2 adlHi a1 dldliell A s Y dai
1A 8. vl AL Uil dwt sl A un Red dwyg Gelew 8.

quleaigl Meal wde srausll uBwn [Resiv (Sampling) seumi 20d &,

7.3 [esldl v3Rud (Need of sampling)

ARA[S @aril U Medddl Gualal scl €15 . s Fsedld Jaadi-ME=1a vig Gauld
Vgl oRianl UsiAAl sd GaulRd Al qefeos Ad 2ys AssA vl we R O, Fsedld g4
Gewlerl 1R dRuy A duidl wie sl wys sl el ey, g4 Gauenigdl uie seuMl vlddl
w35 A5 UBAA Meald sdam ©. I ailsa gl dlaaril viadl ghuidl Aeld uHe aaal 9
gt wie sl uBar, S8 s Aot s19L AaRal 1 A2t Ylatdl it el Al duw a9 Real-il
ey Gelsell 6.
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Mgl DAl uRRARAHL 2R O :
o AMRUL s AvaulL vioL WA €.
o uHler sl ollolfes el (A [QM 3aldal &y,
o A5HIrl Al Ul €ld 32d F dul sARAA VsH AU WHAL 1Y,
tl.cd., SAB2s olcoirl vyl dul.
o Ul 81y uRal {12 %3¢l Aarl Fal 3 uHy, Arsusly Aotals, Awid sansl Gealt wuflzd
Sl
AL A1 dw selsla w19 sitrefly Ao ssm dul 32dis adladl sRelAR sAML 20d
8. 3edls WRRAR2HML A+ dw Dodl sy ld dl uel Red dwida ey siuaMi 2ud 8, sReL 3
AU UL AR AHY AT, v ay wiy A ay Weaulsa-dl 3 W 9. agil dxR duil AsilHl
dulRt 818 YRal 1 dlerl wiA s @l dwisl 150 Wil Anaaul JR¥ uad 9.
Meadn-dl you Gea wulaiofl we s2an Mesll vioa urell el vilRydl @ del Aaqalx
QU 8. [Redl sl uYl wadi Avaics uReuHlA 208 ANdail [QRY Wy Fal 3 s, uHRid Q-
433 [Reel 2u28l (Sample Statistics) seclld 6, IR AU WAL 2 o4l WA WAQL (Parameters)
ERETUR

7.4 2ugl [Redni 4Rl (Characteristics of an Ideal sample)

qufeuidl ue add Med uell yufRRNas wulRdldl diel Aaqal w2 Red dwdl Guala ay 8.
Y, yHRHi] wie 23d ey wule QA wRdl Anaaml dexardl el eizd 8. dell el wriedfl
Yoy dd A d vor o 39 8. ¥ Red A oeuden el tRladl Qu d Red vugel [esl (deal
Sample) $¢l sy,

(1) d ¥ifed MA@ 4Ruag €g ASH ved 3 wilesl ol o qaRlqdl dxde el udd €l
A5,

(2) arll urieofl wigReos N Adl ASA ved ¥ d-ll urieollui U[R-L 5L UL s W12 uauld 5 ydaue
o Sldl A,

(3) RealH e 2R AR Sl URANHL AS vuA W2l 381 YAl A €lal AL,

@) Regll A5 uaieoll FRA8 Rada) Ao 23l Qdl AL, 21ed ¥ el w15 Asu-]l uieala
oflog BLsu-Al wAedfl WA A Aoy A Slal A,

(5) Realvl sl Avan (ed ¥ [Feald se) dlou U@l v Yoy dd 158l 4dg €lg AT

7.5 Meald s¢ 150 4dl auid Luui Avia 12 YEL

(Points to be considered while determining the sample size)

wileuiell el yde saml 2uadl sl dval 2124 [Meald s¢ (Sample size). Feald s¢ A58l
sl Wi «flArL Yeroll el AvialL w34 © ¢

(1) ¥l 58 A YR @Y
(2) il [Anuididl 212d 3 Aunlerl A5l AG qgarll Budiil g, uan
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(3) AHY, -eusly wbAl 2R [Aud dosidl Guactdl
@) e uRaul-l A5 AR @

( anogdl e aRidl wlRd )

o AR 58 vol W €Y, AL AsHHL [Qunidldlg N1 ay €U 2 AsALS] AR Q@
Gy €y, dl Al Haufemi dl Hel sed el wie sami 20 8.

7.6 [Aeal ugldxil (Sampling Methods)

Arfeuiell Medd yde saul AdA [Reed ugld sda 8. arasrul [QRY Redq uglisiiel 215 3
ag uglail quad 9. 58 Medl uglarll el sl 2 AL UHIR 21 [Feal-tndl dgA U812 4581 sl
w1 B,

Readqdl @Ry ugll & asiel 2uudl W (A gl veain 53y :
(1) 0L welys Redd (2) xR ueRs Mg (3) ulRs Meal-.
7.6.190 w295 (Mg (Simple Random Sampling)

7.6.1.1 & (Meaning)

[Realndl dgar v uglanl wulfen ARy vaesdlel 31s o s did dani 21d 8. % Red-ul o
o sl yiedl [RRAA {d iy A FHl AL UAs siA [Real wie dairll Wil ds il »ud
An A Y[98 (Megl (Simple Random Sampling) $& €. 4R UHR @IGL9L AHidL (Homogeneous) S1U
2@ & WL Uadlsel @oleidL AL ARIYH 41 AR AL AeRs Medd ugld uell Andal uReuwsl
Q- €y .

o ARl s uedl s vLse{l wAedll sl 21d 21 518 uRl sl wied(l sl udal 210u6 e
2 AsH AHRHL Wedl ysal 209, dl dal Redqa yael Alkdd wn delos e sda wa 2
210G e udd A5 ugleil A5l uriedll udal wiesl Hsardl + U, dl A YraRlARdd wieles Mesl-
ERETCN

A WeRds [Readrnl i Ad wels Mgl Aqqal w2 Al o uglazidl Gualol sami
A B :

(@) dledl-l A (b) uleReys AvuipilAL sesl dd.

7.6.1.2 dledlAl {ld (Method of Lottery)

wieniell wgRs [Real Aarrdl 21 vLs vot o w0 A UARA Ad B, 2L dul AL BsHA 2000
HI2 1,2, 3., 3 UL $H AL 2UA B 2R 835 s3] Al 2 w0l R4 otrlaaml 2ud 8. (RLsull
R4 Aed 01, 56w 2514 WA, ¥l R waieollml S vaud 3 ydae wy AR ol R
aueflal B1s AL 3 3e6UHL HsAML 21 B, AR olle Fedl sl Medf daidl lu dzdl adidl R e
5 soopaiiell wigl9s A Guizal 2ud 8 A GURdL RN F 1 20d Q 3L A5 AUl wrie
sl Hadl [Red w0 weReos [Red sda 8. 2uh[As wnusl RA¥IN oigd Aol ngeedl i wiie 3
wel Yefs Med Anaqami 209 8.

1
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7.6.1.3 wel2os yvaii-u siesdl dd (Method of Random Numbers Table)

1R AUl w5 vl gl {1 €l iR dledl-l daui vor 41U ddl © 29 d seoes o 9.
LAl AANHL 21BRS AvUL-AL AUIR 2@l slesi-l Heedll Resd Aaid siof oA B, WS Avvil-l
siesl Al 28 oirlaail »0d 8. w[Es Avuiil-l sesl W4 AL siedl-dl Gualol ay uuldd 8 :

@) . A A A2l slesl (i) Bur 1 Azl Slesl (i) ARSI 2 sliRad Arau-il sledl.

2 wERs Meal dalirdl €lu R weleys Avuvidl siesl yRastd 519 wa widg wels da
vldaidi 2d © A diel S U e vaal dH YslRs dd wie sl wd ©. wdie wdd R
dl deHiel 23 53 % UL[E9s Avyipil 1AL A suAL AsH) AHRHAL s8 AAUR WAe 53T U9y el
Al vd 8,

Y1295 Mesl Anqal w2 el slesil Gualol ay uAld 8. 11eRs Med ddidl Gele il 12 2Uyd
22l slesel Gualal s9g. 1A A2l slesl s ¢l Sles-l GelsWL a0 Y © ¢

1 2 3 4
¢)) 053 274 323 599
) 667 484 786 833
3) 992 347 253 338
@) 428 982 564 785
5) 278 154 490 076
(6) 819 314 589 889
) 195 222 428 924
@8) 390 379 699 786
) 420 598 443 692
(10) 664 430 343 118
1) 171 035 189 236
12) 289 505 667 484
a13) 535 300 112 089
a14) 784 280 257 154
as) 640 143 364 326

Gews@ 1 : s wou-u HiReL 1070 [QenellilAl ofgHriql s Astua w2 W@ 1071 g4 70 [Qeneflzi-)
aulRuidl 10 [Qenell2ii-Al 215 we[Res Medl yRasliAtd usR Andl.

Aluay, wousl L 10+ ol Rendl0A 12 70 s3 2udly.

] AR s8¢ (N) = 70 & % 6L il vl &, Al ULl 1295 Avuedl UYH 6L i5) % AUl
Ay, 2R UgREs Avyail-l stesl yRasiidl S8y wd qefos Ad 4 duidl 56 L ek 3 e
as el Aadl wfld uig 218l 20U 20008 2UAe YIBRDS sleseil sl Gudlol 530y
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QA 3 UL A Ayl stesl Sl sl 43 53 suul sl sk AS wels Med Aadla. A
il w1898 vl $5d UM 6 5] o @A A, dl d Ayl stes 1A Yoo, el :

3) 9 34 25 33
@) 4 98 56 78
5) 27 15 49 07
(6) 81 31 58 88
@) 19 22 42 )
@®) 39 37 69 78
) 2 59 44 69
(10) 66 43 34 1
an) 17 03 18 23
12) 28 50 66 48
13) 53 30 1 08
(14) 78 28 25 15
15) 64 14 36 32

AUl s8¢ 70 © Al 70 W3l wielEos Avyala 2R vadelly. yaelAd usiR [Reel Anaalg
Q1S ¥ g [R89s Aval yrrlaldd adl €lu dn uel iauely). 2 saefl 2R A Yool 212 EEos vl
Ha Q-

3 — 34 25 33
@) 42 — 56 —
5) 27 15 49 07
(6) — 31 58 —
@) 19 22 — —
®) 39 37 69 —
) — 59 4 —
10) 66 43 — 1
1) 17 03 18 23
12) 28 50 — 48
a13) 53 30 — 08
14) — — — —
15) 64 14 36 32
253

el wgliail



U 10 st Red dardl €1 Guysd Avuiiiidl 20Ul uad, e Avaiil ue s30g. 20 uied(l
wiell u1e[Eos Avuizil s

34, 25, 33, 42, 56, 217, 15, 49, 7, 31 &.

U Guysd $4 HR1adL [Qene2 uie 53 10 Qenel20Al wis welHos Fead olsuaidl 218 sl
Hi2 WA B,

Y : w95 Availdl SesHidl ue sAdL 195 sl SRl €1 vadlL dleimiz] of A -
Wit 53 wstdl elal %el-%€l Alsill gkl Andal weRs Fed ge-yel 88 u4d 8.
Gewsel 2 : wuasdurl 5000 sidauidl ay Hae™il dw (scrutiny) H 7 s16aq Yaslldd us w0

w2[@os el Anal.

Alnan 20w 205l 5000 stdan 190l 5000 s3 UMY

], MR 58 (N) = 5000 8, ¥ AR isel Aval 9, Mead uAe saL HR2 UG e U125
AL slesl Gualol s3g.

A 3 24 A sresl uan el a3 s34 ariscdl s3ul el siR AS weleos Mesl Aadly.

1 2 3 4
) [ 053 474 323 599
@) 667 484 786 833
3) 992 37 253 338
@) 428 982 564 785
(5) 278 154 490 076
(6) 819 314 589 889
) 195 02 428 924
8) 390 379 699 786
) 420 598 443 692
(10) 664 480 343 118
(11) 171 ®B5 189 236
(12) 289 505 667 484
(13) 535 300 112 089
(14) 784 280 257 154
(15) 640 143 364 326

AUl 58 5000 €leuel % 41295 Avyiil 50008 A4 © A vtadiefly A yraelAldxl Mesl Aarril
QS yrualda adl welees Avul yel 2iqelly. N = 5000 8, ¥ 4 15 4y 8. adl 4 2ifaefl weFos
Avydl el AL, uig Al 200U UL Sleseil £35 AlMUL 3 2iKLAl AvqiiL B A2l Gur-il slesHi safo
Yool U, il 3 il i eflon il douidl uen is Al €6 4 2l 2L RS Avu Rl 4S5y,
7 seell [Real Aaldl Q1S U uaH 7 €g[ERos Avydl Wrie s3Y. GUR Haol Adl uiedll wie]l 7 wiel@os
Avail «f{lA Yoo, 1A :

0532, 4289, 2781, 1952, 3903, 4205, 1710

2, ay ARlaeeidl duRt W2 Guysd s3 duddl 7 2uasduddl sida el wie ad.
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Gersm 3 : g9y Avail-u slesuidl dnddl sMs o visladll DA 15 weRe9s ivarzill Guala 53
50 154l yAadl s wuluidl 5 se-l [Meal (@) yael alRd i) YyadSd usR Audl.

62, 25, 6, 60, 95, 55, 98, 11, 71, 25, 20, 45, 89, 27, 40

Aluay AL 50 205397 2Rl 1l 50 s34 20dlg; xR 58 50 Sl 50 &l W weRs Avy)
U aewelly. ddll 2en 25, 6, 11, 25, 20, 45, 27 A 40 4E[E9s ALy 1AL,

() ¢ nu yael AR usR Red Aagarl 1S 0wl yrialld adl wgos Avaizda s
g dn uRl AUl ady. Medld se 5 Slatell 21y 5 y1e RS Avaiai e s30g. 2 uiedll widd 41a[Ros
Avuil 25, 6, 11, 25 i 20 4.

(i) 82 YRRl HsR Red Aaadi-l €S 20U Yeualkid ad) 2eEos Avaiaa xqelly. Redld
58 5 Qlauell 2Rl 5 YRS Avil urle 3. 2, uiedll wd wgRos Avaiil 25, 6, 11, 20 A 45
2. @l 25 yruald adl €S 20ud AA ol quid ady -R.)

7.6.1.4 A0 welE9s Med uglau ast du Slensy :

AN :
(1) L uglaHl A[ReL £35 BLsin uAe Yol A ds gl RedHl uieolll yedfaus 3 uauida 516
sl Wl e,
2) w5 Med wnled doy ulAMAe qpd Al wsadl auR d &, ¥4 ¥4 [edd s¢ aB du o
AUl ay Wy ulaMBc 52 9.
(3) 209t v B leol AHAHL AHRHAL agel QA Qandy wRd Aadl asy 8.
UM
(1) AL oL o A5l ULl 33 9, A d WA A QY dl 2L ugld Gudlal af usidl «ell.

(2) R AH[RA, 52 G Sl R R siriaaly ial AHMRAL A5HLA $3 dUALAL SIHHL Y AHY ALl
8 A o SelAes o S,
(3) A [edld 58 g €y 2xA 1R [Quuidl §ly, dl el wHlfRed Doy uaRB« Yuag Al

7.6.2 xRa weRess [Med (Stratified Random Sampling) :

7.6.2.1 wd (Meaning) :

oY AU [AMAIdL (Heterogeneous) €ld 2 & AH[RAL VsHHL A HAHLAML et 14 AR AW
Y1295 Megld ugll sl 2R wER9S Rl ugliql Guulal ay 4oy Q. B, 1L gl veu dsal
el agela eu-dl vl Al UL AsHA A 3 dell ay uRUR RaiRs @Qedelul adyal »1d 8.
[AvaioL - @otetol yHiRL sl wstd dal Aol Adl . adaami »ud & § el qufedl A5 u 254
A5l ay Qoo yuuQe « €. v WFUA s (Stratification) 58 9. il Ad Hadl Qo0 R
(Strata) $8A1d ©. UL 68l o A Aol el SlU &, YRl £35 AL 251 2ldRS Ad @dledL AHIA
ol HuadL €U 8. 8d, €5 R (Stratum)Hil]l we[9s Ad Meed A a ot o el AsH Ao
539 A5 [Med Aqaiml 2ud 9. %A xRd WS el sdami 219 & w1 el urie sl 241 uglaa
dRd Y95 el ugla (Stratified Random Sampling) 58 8. Ucls clRHil 32el s ue sl A s8]
501 HI2 HHIRRR $10a8fl (Proportional Allocation), $edH $10aR{l (Optimal Allocation), @8dy w2 43R
dadl Gualal as ud 8.
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ey - 600 [QensdlAuidl 6 [Qenedl-l wricoll :

nay oy W2 welRes vyl 158, 092, 411, 745, 009, 724, 674, 550, 716, 359, 419, 969,
200, 458.

Al udel na av-L 600 Qenll>A 1 ol 600 53 2udly). nay i 600 [Qeuelil Slalell »1a yagll-
A usR uiedll sau-l S 2uud 600 W wBEs AvaiB) wiA YAaldd adl weRs Avaii
Ry, U 6 st weRe9s el Aaidl &S nan 6 weReys Avuiil yde s3g. 2, wAedl wie
Y1805 Avlal 158, 092, 411, 009, 550, 359 8. WA, il &9 4 wuddi [Qendl>) uay avd-L wels
Reall ude .,

oflon ar-ut 500 [Qendl2Alnidl 5 (QensdlAll yesl :

oflog o] w12 wie[Re9s Av1i) : 384, 019, 676, 631, 390, 557, 299, 786, 706, 206, 729, 344, 543, 309

Al uda oflon i+ 500 Renell0A 1 ¢l 500 s34 2udly. oflot Al 500 Reul>0 Sl 244 Yra(l-
AR UsR el sa-ll S 2 500 ol W weRos Avipdl A Yrualkld adl 4eos Avyii
ARy, U 5 st weRs Red daidl S nan 5 weleos Avuiil yde s3g. 2, wAedll wie
w12 898 vyl 384, 019, 390, 299, 206 8. UM VL Ui 3 Y1ddl [Qenslf] ol ad- wigles Redi
e A,

Ao av-u 400 (Qeueflzduidl 4 (Qendlzi-Al wesl :

Alon adl w2 wiels Avail : 227, 483, 741, 766, 027, 070, 648, 956, 238, 912, 480, 558

Al udal Hllon i+ 400 Renll20A 1 ol 400 53 20Yly. 0ot adL 400 Reul>) €lall 244 Yragll-
AR W12 wRiedll s~ €1 21U 4002 18 U1g [R5 Avi) v Yrialdd Al weREos Ava1) wa0iRlly.
U 4 st YIRS (Feal Aairl €1 naun 4 418 [Reys Avalvil urle 530y, 1], wiesll Wy yie[Reos Avyivil
227, 027, 070, 238 . UM, L AR s4 41ddl Qenil o -l weReys Readui uie ay.

yie 2dal vay AL 6 [Qenslfail, ol avq 5 Qenslfall 217 Sl adL 4 QenllA Qou scuel
15 Qendl>0e)l 25 adARd weReos Fed HA &,
Gewga 5 : Ag wdrU (AR 30 L5 wiA 20 BlsAzAHIA welRes Ad yaslAd un A 7

fSauiiqn el Houdaqu quarari xeu we uieddl saill 8. xlRd Redr uglddl Resd
Hqudl 3 FHi 3 SlsA 24 4 915380 sl ASA,

L5 IS Ue[Re9s vyl : 82, 95, 18, 96, 20, 84, 56, 11, 52, 03

oLsdlall W2 w1eReys vl : 04, 40, 34, 13, 72, 11, 50, 55, 08, 11, 76, 18

AMay 50 Al oLsABN 2 5T A4 6 QU RAYHL qdAAML 2uddl 8. ¢d, AW
Y1205 Medld ugla gl 2uud 30 wisuBHIAL 3 244 20 L2004 s ude sdg.

30 eisAlHil 3 se-u [Reell uaiedll :

Alnan 30 LsA0A 1l 30 53 201y 2] 30 915 ezl A YasRAd usR uiedll sau-l
Al 30 ol Wl WeRes vl v Yerudldd adl weREos Avuisd 2w 2iqoely. 2l 3 serdl Fesf
Al SIS NUd. 3 YRS Avul WRie 530g. Gl wAedl wia w1glEos Avyivil 18, 20 v 11 8. B3,

L SABL $¥ HAAAL 915U HOUSEAAL QUL U HI2 YAE U,
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20 eisdatinidl 4 se-n (Reell waieall :

Aluan 20 9580 19l 20 53 200y . 21 20 915320 ezl A YasRASd usR el sau-l
QS 208l M weEos Avail 1A Yralkd ddl WeEos Avail 20U 1Ry, 2 4 seedl Fef
Al €1 HUH 4 413 [RE9s Avaiil ue 3. w1l uieoll Wi uIeREs vzl 04, 13, 11 241 8 8. UM,
L AR $H HAAL LA Heudanl duU-AL 1oAY HI2 Ui LY.

uiedl WA 22t 915UV A AR 91520 AU 53 7 Alsdlel A R weReos Reef 1A B,

7.6.2.2 AR welR9s el ugldn cudmt da Sl

AlM :
(1) 21 ugladl s Uil Med ude 53 R Med Anqarl 2ud & dell dxlRed Yoy uAMf«a
Medul amars 28 8.
2) AHIR A AH[RAL WAl W2 ANndel w5 AL5ALS 210 uglaHl abl .
(3) 2l Fead uglani 35 R W2 yd MalRd A5 Qe anag wsd o 8.
@) 1 uglini Red dar 1+l adladl yarudl 9 8.
(5) el el R W2 Rl uieall sa1 el el »-Aun-l Ryls 53 as 8.
AEUM :
(1) uH[RA Aol AL adyald s suRs YBa €lu B,
2) A s Yoy d 4 6y QY dl Fed dunsil wadl yRaesd-l RQaudlad o2 8.
(3) uM W85 Meald sdi dRa ueRe9s Meal ugld uell Al WAel 20181 (estimation)
sl s A yoa 9.

7.6.3 ulgs Regi+ (Systematic Sampling)

7.6.3.1 »1d{ (Meaning)

2L uglail el uie adl vy sy WelEos da urie s 20 8 i elLgldl s Y,
Vsl Al Aellaiefl 516 A5 2id 25 uedl Vs ue WA B, AR AHRAL oL o BLsHL S v dd
Fud quuldar, dHagAR, olol@s adl Ad sdsaddl iy A Al dyel wiel e . AR v ugli
Gualoil Adl [Bclas 8.

g1 3 AUl ga N 2530 515 AlssA A d0sell dunl 1L N $3 200l 8. izl 20U 7 sedl [Real
e 529l B 3 ¥l N = nk 24l k = N/n 4, 2] kA -y dd (Redd vidua (Sampling Interval)
58 9. Al & yals Baa we 528 2d wily. 8d U uay k wLsHlaie]l 11aRos A 2s s uie s33
¢l A AR ot ue AL A5l €2 & HL AsH U s 20 B, uie qdal 21 A5l oirdl [Readq
ul®s [Mesl (Systematic Sample) $&8 & i1 [Real daidl 21 uglan ulRs Red-t ugla s8 ©.

1R 3 s F5dlul GeullRd 42 wiRsl elleclnial 6 cllec ue sall 8. Alua GaullRd 42 olleeln
1l 42 s34 2ly. 2l AURe $8 (N) = 42 211 [Reald 58 (6) ® 2 k= N/n = 42/6 = 7 2. Qdl ua
7 eleelidll Y1g[Re9s da S5 s olled e sUML 2 B, 4Rl 3 Al s3] ollee e[S dd ue wly
8. R ol e AldHl KHl) cledl Aed 3 10M1, 1731, 2431, 313 217 381 elleell [Refl uie ay &,
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Gersel 8 ¢ s uuRUL 12 visl 9. dnidll 3 se-i asu wul ¥ s Real Anal.

WA N=1220n=36 adl e 2idUd &k = N/n = 12/3 = 4 4. Aluad 1 2l 4 3l 518 28

VsH QRS A e s3I AR olle g 49 AsH UAe 4A. 23, 4 Wi el Aadl usy 6.

1 2 3 4 a4 wsy Real :

5 p . 2 Red1 :1,5,9

Red I : 2,6, 10

9 10 11 12 Red I : 3,7, 11

Mesl su I I m v Redd TV: 4,8, 12

7.6.3.2 ules wel@sos Mear ugldil et dw ARk :

AN

(1) [Readdl wigall 5165 ugl oje sul avR asausdl us a3 9.
(2) Mefi wie 2dal A54) AHRAHL A5 A Ad Faidal . 9,

(3) AW W5 Readd ugld 2 R wekeos el gl sl 21 ugld 29l AHUHL 24 240891
el yeol 59 as 9.

AU :

(1) ARl ot o sl Al ww Q1Y dl o 20 ugladl GudloL 4l a3 .

(2) AL oL BLsHIA K16 ALssA IR $H3AL dNsadl s 8sll dvid Y Uidll & Ag A S2louxeis
wA B A sAIRS wsd uRL Al €l

(3) ulzs Real Ayeud welRes el el

(4) 2 516 UL vl ouoll A (Fealr vidAe AU A AU, dl Fed vaud 3 ydausysa 1a 9.

s { uaRia } N

o YR 350 dddl dHd ARG 5 BLsHlAL A AHR sl wud 8.

o uRaiell w38 Alssu W@ 3 uglaell wrie s3el ileel eudin Red sdami 2ud 8.

o ¥ Al (R ot AL HUBAL Aot s 20 A AH® dwRL 58 8.

o o dw [yl ude s3a el A5l dwn 530 WERA 252 sAUHL 20 A1 Red dwa
58 6.

o wM®uidl Meef wie sl uBuA e sdaml 2ud 8.

o [Real A5l yell Hadl Avaicts uRRuHIA 2uaR Aaddl @AY WY Fal 3 v, wHRid RQadd
3131 el 200218 sdcuy 9, FUR AURAL HISHL VAL 64l YA WRAE) sdAy 6.

o il el wie sl Aan RedH ugla ssauy €.

o o [ReaHl ot o sl wrieoll FRUE {d iy 27 Fui AL UAS Asi Reddl wie yauel
AU S 2UAHL 20 A A Wels RedH 58 &,

o YR AR [AnAIdL €l AR AW WS el gl sdl AR weRs el uglaql Guylal
ay Aoy 8,

o 35 dHiell weleys Med Ad adq A ol o Redl-l A5l AdU s7A 2s Fedd Anaqul 2ud
an dRd weles Med sdami 21d & 2 Resd e sl 21 ugla dRd wERs el
ugld 58 6.

o ulRs (Reef uglnl nam 2154 YIeREos Y YAe s 249 209, LSl 253 202Uy A s3] w1l

Al S1S AlssA 2id2 D el A5 ude WY . y
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Y 7

A2 2uda orglasen uadl w2 i [Aseudl urigdll 52 :

1.

g yuleuidll ye s el AA-niell wedl Ay w § ?

(@) AH[RHL oL o 2 5H) (b) AH[RHL 55 50 % sl

() AHlRHL $5d 15 % sl (d) AL 32als AsHL

A1 U4 5y Qe 0z & ?

(@ ¥ el Asu-ll wAeoll sdl udal 210UG uie yde sy AHRHL WYL Ysauul 20 A
yraell- Asd Fed 58 9.

(b) A W eARU AsHAL el 5 W3l €ld, L Fed awd it 33l AR uel s ©.

(©) 818 el [eald yglani Meald se 1l u 20tRd <.

(@) 2 AHR AU 1Y dl dRd welReys RedH A% ugld 6.

AAL U4 4 Qa0 & ?

(@) xR Wz Mednnl e otl o s Red™i ude adl dHA ds QU 8.

(b) AW Uzl Realul Auler ol o A5 Redll uie qaull A ds Sl 8.

©) 818 ual [eald yglani Mesld se 1l u 2tRd <.

(@ ulRs Redl HleAl ot o s Realul wie ganddl A ds Qo 8.

W™ el VUL s Slel Sl qae e ?

(@ AR v el ) FRed 2 @R (©) e 21 el (@) ¥R 2 R

A AHRHL Ul add Sl dl 56 Fedr ugld ur d-ll R Alell ay 2w S ?

() AW UBRYs Mesl ®) ARd W5 el

(©) uks [ealn (@) (b) A (c) ¢in

A U 518 AU W2 AR U1LRERos [Realnrd) Gurlol scl 1S3 A AHMRA el el s¢ HRLAdl

AAHL 4dA] €U, dl d dxidl wuRRR saelan dRd wads Red-l uiedll 20 3dl

dd 59wl ?

(@) s ¥l AHA st el ude 5.

(b) U5 AL MU st Feal uAe 5.

(©) AMMRBAL €35 AR Seell WHRAHL A A Red-u A5 wie 5.

(@) 2uxigdl a5 v AR,

7. A5 Haul naudl e3s el admdl sl adl asiel A U4l wd Gelea & ?
(@) ¥R du (b) dRd Wzl Redq
©) WRs Res (@ ¥ RS Resd
261

Reel uglazil



A2l [Qa-il 0l © 3 viei d woudl :

1.

7.

o AH[RHI AHU, YU ™AL @UAAL UM i A5HL YAe s 2 o), d Redd e
dRd Medq Y- sdaiy.

RS A AUR, daw ©.

. ARL Fedl Mesdl A58 AHUAL 215 o 2uouHl Yie adel dal ASA.

ol AURAL gL Rl 923 ay AL Al HA AR ARd UelE9s Fedq s1uelsis
ugld 8.

. AR Yelds el ugladl AuMReL e35 AsHA Readdil ude adl-dl A ds Sy 8.

AUMRAL A5 AL YL adAl duioll yieReos el ¥ Medld uglanl dainl 21d © da ulRs
Medn 58 ©.

AR qwadl AL e3s Asu-{l dwRl sl 1 8.

AL NaAlAL W ASAHL FAS UL

1.

e ® A0 HW

Feel Rl uell w4l @A wdgrud sal uglan g sday ?

s YL A Al AUMRAHL BUR Al vie Wal 5N 2y e A el gel wyl-l
adlsl 92 ay Ad- €U AR sUL ReglH-l Gudlol sl AN ?

% [Realnl Auil 2id? Wal A5+l uieoll saui 21 © AR Y Fedd s8 © ?

Al ay uAlRA QRS vl ses 5§ & 7

56 duHl ay epel Y © 7

UM dui 2ed g ?

yaelled Medq 2ed g ?

dRd weRess Mesrdl Gualol syl o0l ay Yoy sy & ?

suR uRs Reed vawaydsd QS a3 o ?

10. QoL xRl crval 200,

11. -ldd [Real-d Gelsel 2yl

12,94 22l 34 4ad] 2eRS Avaivl 2l Qla A AH[Rr se A i8] dl Resl wrle sral

Y1295 vl Gulol 3] dld ag ?

13.94 & 215 uuadl 2elEos Avail 200 u vin U se Hel 28Ul &l dl Reef e sl

2[R9 Avpvi-l Gyl 3l dld ad ?

14. 3L Al v ).

15. [Resl 2uoms+{l sqrua L.
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1) »flx e A w2, B ui df uldlier Qs Buq) AadA.

fx)=2x+18.

x=ld2fM=21)+1=3

x=24HR f(Q)=2@)+1=5

x=3"2fB)=203)+1=7

x=4HR f@ =2@ +1=9

I NG A L UAS 825 HIZ 0L B HL A 825 WO . wled § o1@l A -l UAS ©2s AL

B -l Y 425 A1 U 2x + 1 4l dsndd 8. ddl fx) = 2¢ + 1 Q83U 8.

(2)

(3)

@

2l uAls xeP W2 k (x) = 10 .

x=-tuR k(Y =10
02 k£ (0) = 10
x=1" k1) =10

BIH UAS xe P HI2 A8 S Hi MBI wBe “10” 1A &, el Aoy k(x) = 10 A [QRY &.

X

Uds xe A HI2 Run 21 Fud Anadi

x+1

2(5)-1 10-1 9 3
x=suRy=Tor =t =3=3
=63y = 20)-1 _12-1 _ 11

6+1 7 7

2IH HAS x€ A HI2 A8 B Ui viAxy Bud 44 8. adl Ry y = 21§ @Ay sdawy.

x+1

udl s xe B W2 A C Hi ulalio Run 2x + 3 g dadlai,
x=-1HR A () =2(CD+3==2+3=1

x=0HR A ®2)=20)+3=0+3=3

x=14R2 A (M) =21 +3=2+3=5%%2C 4 .

BIH x = 1 Hie+ll wAbtid Bud o C i Aedl. ddl MU A () = 2x + 3 2 [QBY 2],

8.2 u2a, AsULY A [Rd1R (Domain, Co—domain and Range)

YR ALl ¢l 3, [ABY A [ BUR5ct dARNAL 825l QAL LAY Ao6lY ©, 2R A F ¥l H2sl 2
A B Ui iy 825 3 ulABiel Aaaaidi U 8. vl 32 A A Hal i 9L B A ASULA $S8AUHL 21U .
el AL ges W2 [Qkul ¥ wbiBd Bod 3 QAUes Bud Aaaaii 209 6 d BHdldl awiA A [Q8url
(AR sl 20 9. [ABuAL N2 A D, A [QdIR A R, ad safay 8. sl R.=f(A) = {f(x) | xcA}
iy, [QBYAL (AR A ASHLY AR GUALL AYAL ASHBA AR Ul o 1Y . Gu+ll Gelg@ 1+ (1) ul
AR A 3 [QBYAL N A B, UL Y B A dedl AU AR D, ] AS wsd B 3 d-Al [Qd1R u@L 2L
B Uld % 8. %413 (2)H1 Heal A8l P i ASHBU A8 5 (AR 21 9181 S © (3)+ll HBU AL A & U AU

AA B B ¥ PR AR R, = {1, 3 UL & o yenuda 28l B -0l Gudlel 8.

2' 7
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8.3 [A83-u 243dl (Notations of Functions)

o [QBy £ 1 vl A ol 212l B ud, A8 &1y dl dn A3d4i £: A - B ad sy & 2«4 woedl d REY
Fa o Adl o B U Q8Y 8 dx sdaid. dl AR A A Uz 218l FUR 8L B A AsuBU 2L a3
wlloreail 29 9,

Bur-l Gelerel (1) Aoie 1A nHA suldl asy :

(1) f:A> B A={1,2,3,4},B=1{3,579}31f(x) =2x + 1, x€A

@ k:P—>S8,P={-3,01},8={10} 2 k @) = 10, x€ P

2x-1
x+1° x€A

@ f:A>BA=1{256,B={1,3,3 5 2Ly=f®=

@) Al 2004 Aoiy @Y .
G 2 : \NA »uda [Qgal w2 du-l uee, AsUBU A [Qar Andl :
(1) f:A>B,A={-1,0,1},B=1{1,2,3,4,5,6,7}, f(x) =2x + 5, x€A
2) g:A->NA={-1,2,3,4}, g x) =3x + 5, xeA
3 h:P—oS,P={2-1,01},S = {4, -3, -2, -1}, h(x) =x — 2, xeP
k

C))

(1) UL A= D, = {-1,0, 1}
ASUBUB = {1, 2, 3, 4, 5, 6, 7}
fe =2x +59. ddl uAs xe A HR2 f(x) Aadly.
x=-1HR f(-1) =2 (D +5==2+5=3
x=0H2f0)=20)+5=0+5=5
x=1HRf() =21 +5=2+5=7

s [RARR = {f 1), O, f (D} = (3,5, 7}

2 ddluza A= D, = {-1,2, 3, 4}
ASULUA B = N
g (@ =3x+598. adl uAs xeA H2 g (x) Aadly.
x=-1H2 g (-1)=3 () +5=2
x=242g@2=3@) +5=11
x=342g0B)=30B)+5=14
x=4U2 gD =3@+5=17

o RRARR = {2, 11, 14, 17} % ASUBU AR G 8.

(3) UBLA=P= D, =(-2,-1,0,1}
ASULU B = S = {4, -3, -2, -1}
h()=x-2 UASs x € P W2 h (x) Aadly.
x=2Hh(2)=2-2=-+4
x=-1HR Ah(-1)=-1-2=-3
x=0H2 A (0)=0-2=-2
x=1"HR2 A1) =1-=2=-1
EEN Tk R, = {4, -3, -2, -1}
] [ABYAL (R 247 ASUBU AHUA 8.

A-Z A= {101l k(=42 +3 zeA
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Ay x=1,fQ) =134 gM=41)-3

=1 =].
x=3f3) =3 gB3=403-3
=9 =9

B, UHAS x€A HR F(x) =g (1) O. Azl £ 3 g Wi QAU 8.
BERMA 9 : f:A>B, f() =1 -drdll g : A-C, g () =6x + 131 A={0,1,2}dl Y fui g
e [Qul ¢ ?
il ol [QEYAL HBQL 8L A 6.
x=0HR f(0)=1-40)=131g@O0) =60 +1=1
x=1HR f(D)=1-4D) =33l gD =61 +1=7
BH, £ (1) # g (1) el £ 211 g A3 [QAYUL Aell.

8.6 Wlds (A4 (Real Function)

A f:A— B AcCR € dl [QBY £ qrdlds Add Q3 58 © i % d-ll [RaR weL drdlds
vyl A R U ArUIRd €ld, dl £ ardl@s Q3 58 8. el.d., f: Z - R ®2 uga A Z 2 yals
vyl AL D FUR Al ASHBU AY R ¥ RS Aval 2 L Wld o . dell [Q8Y £ aralds @By sdaiy.
254l o [A8yAL Heal dL8L i ASUBY AL 3 ARAQS AvuL AL R $ dl 5165 Ul GuataL €ld, dl d [A8uq
arals QAU 58 8.

X +1
e 10 : A f () ——

Ul x € Z — {1} 81, dl £(=2), f(=1) ¥4 £(0) dnal.

2 +1
f@= 2 -2x+1

<2? +1 =D* +1

f&ED) = ey 1 fFED =5t + 1
_ -8+1 _ -1+1
T 4+4+1 T1+2+1
-_1 -0
=79 =34
=0

FO =T =1 =
e 11 : A f (x) =2+ F-x2- 228l dl £ (3) - 6 F (2) N Bua 204l
f@E=2+F-2-2
FA=0@P+3F-BP-2P vl fQ)=23+32-22_22
=27+27-9-8 =8+9-4-4
=137 =9
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fF@-6f2=37-6(09

=37 - 54
=-17
Gern 12 : QAU fix) = x 2x - 7) WU xR V. A f(x) = 15 €14, dl x Il Bud Anal.
f@x =15
x@2x-T7 =15
22— Tx-15=0

22+ 3x-10x-15=0
x2x+3)-52x+3)=0
2x+3)(x-5=0

2x+3) =024 (x—5)=0

x=—%wtcux=5

GelRA 13 : A f (x) = x2 — dx + 8 SlY, dl x | 56 Bad W2 f 2x) = 2F (x) W ?

f @ =x>— 4x +8
f2x)=Q20-4 (2x) +8
=4x 8x + 8

4, £ (%) = 2f (%)
. 4x— 8x + 8 = 22 — 8x+ 16

22-8=0
P 4=0
2 =4
x=*2
PUIR x = + 2 &lU AR f(2x) = 2f (x) A
- ( uwia ) ~

6 R dARllrL g8l qRAAL ity AoiuA [QBY s8ay.

Q8% f: A>B &ld dl o1 A <L M9l U2 2L B A AeUBAU $8aMi vUd 69,

Uz 2Rl uAs Bud 2 Hadl wAbiBd Budldl o @AY QiR 58 8.

[Q8u-L [A2c1 2 AU 2RI GUILRL HdL AU Uld % S1U 8D,

@Byl ne -l [Pt BHdl 32 A dddl ulabiel yal @it €1y, dl dd 2s-215 QY 58 8.
A8yl neurl 515 & 3 Aol ay [t Badl M2 A duedi ulaiod auid €l dl dq v=ds-vls QY
5.

(QBu-L el uds Bud e A adl ulaliel wiA o 8 dl A vun QY 58 8.

o A UBU UR AYIRA Yde dHy Ul UASs Budl w2 A 6 (@it [QRUAL walbiel An Qlu,
dl dHA A [QBYL 58 6.

o A [A8y-l URa aARdls vyl o@ R Al Guawl Sld, dl [QBY £ ardlds add [@Qhu 58 ©.
o [QBUL UL 2 Al QR ARAQS Aval AR R U AldIRd €14, dl A drdQs [@Q8Y 58 8 y
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U 8

D 2udd oig [Aseu s w2 wa [Aseurdl uriedll s ¢

1. 12 2004 QA A4 sai Qe w2l 8 ?
@7f:{1,23 4} —>{3, 4,5}, ‘use ARl BHaxi 2 ) @Rl s’ 0 Ruy [@QBY <.
®)f:A>B, A={-2,-1,0,1,2},B={0, 1, 2, 3, 4}, 42 f () = 2 Q8 .

©g: P> QP={-1,01}Q=1{-1-1,3} g =222 B, dl g A R 5l usi.

@g:{23,45)>1{-1,0,1} W2 g (1) = 4 3 R 8.
2. QBY £ A— B el [@QdR w2 A Qulsl sy Qud 0y 0.

@fFfA)={f®|xeA} (b) AsHBA AL Gl 3 ALY Wd 4 1Y
(c) usal Al [ArdR €1y V. @ f@) ={f ® | xeB}

3. g: XY, X={-1,0}, Y=1{2, 4}, g 0 =4 — 2x. 2L uefl oeucl 3 A1 U4 53 [Quiq 3] .
(@) g 2 A8y sdl us. (b) g A REY L s¢l asu.
(©) X A [y sdl asw. (d) Y 1 [QBy sdl asiy.

4. f: A— B MR U2 AR A il 516 6 B Bd) w2 [QBdieis Bud asiq 4o dl o ielun g
PRETONN
(@) As-As [QBY sday. (b) iAs-2s [QARY sy,
(©) As-uns [QBY sdauu. (d) vAs-2As [ABY sdqiy.

5. f:A—-B W2 aw A -l uds Bud W2 e B Al §5d 215 o uldlbiel uag €l an dal usikg
QB sday ?
(@) [QBY « sdain. (b) 2s-2s [Aky (©) »um [Q8Y sdaiy. (d) xUAs-22s [QBy
6. As-s QAU W2 A1 U4 5y QR 0y & ?
(@) ueu-ll s5d 6 o Bdl W2 ulaBiol Bt Slai A,
) uzu-l 515 6 Budl e ufQbol A+ Slal A,
(c) vzl 815 & [ Budl w2 ulabiol [ €lai AdA.
(d) ueul uds Budl w2 ulbiel dxA €lal AsA.
7. f:Z-{0) DN3Af@x) =25 x€ Z— {0} 3 4L UsiRe, ARy & ?
(@) As-us QAU V. (b) vns-ns QAU D, (c) 2 QAY ©. @ f (0 2 [QBy .
8. &[G~ AR i iy A w2 A UL 56 wd yuha & ?
(@) oin (8L U AHIA Slal ASA. (b) ol [QBAAL [QcUR A Elal AL,
© (@ %1 (b) @ (2) w2 (b)
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GewsuL 2 : s Riln-slellHi wHAL el i wiay ue wgsH 3 w4 324 Slu dl uaH e bl

JalldR-ARNML WA YRR 7 = 3 i Wiy ue 324 8. wdl T= 324 i HAHUE Hed 3 a
Albalg &

wdl T=324 9.

o art=324 (v T, =ar?)
a (3 =324 (o r=3)
a x 81= 324
a=32% _4

81 —
w, Aelld Ham ue 4 ©.

GewseL 3 : o Jeilv-slelHl naH ue A AlY ue wgsH 5w 40 €ld dl A dRiR alyl.
dpellar-Aslly HaH Ue a = 5 2 AY Ue 40 8. Ul T,= 40 il 20UQ AHIA YRR 7 Abci-dl 8.

dl T;=40 8.
oartl =40 (v T =ar?
5x1P=40 (v a=5)
=40 _
r=%5 =8
r=2

M, AL A dRlR 2 ©.

GersuL 4 ¢ s RlaR-slelly HaH ue il AHL YRITR AgsH 4 2l -2 6. oA ARl 7 Y ue -128 €y
din -l BHa aidl.

A ARNR-ARNHL HAH UE = 4, AL YR 7= -2 2in Jue — 128 2@ 3 T =- 128 8.

dl T =- 128
ar! = - 128 ¢+ T, =ar)
4 x (2! = -128 (ca=4¥ir=-2)

(2rt=2B -3

2y = 2y
ol eugell Bldl ARvlddl,
n-1=5

n==6
Geww 5 : A dyelva-Aellui Ay il Wy ue wgsd 3wl 2 <lu dl suy ue wlal.
92 & opelu-2elly HAH UE = @ A A YRIR = 7 8.

=3 =3 3
WA T, = 321 T,= 35 24 8.

6
= _p

ar

=ix

W™ 3

SN
G
WA

|
sl
00 | =t
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1 3 . .
8d r= > AT, =ar= 343,

1 _ 3
a(i) 4
1 _ 3
ax g =3
- 3
a—4x8
a=6

sd g e ue Waad © Adl, n = 10.
a, r ¥ n L BUdA T, = ar 13l ysdi,

T,=6 X (l

104
3

oy

B 1
=6X% 333

3
= 256

3

Wi, A80lq 10 3 ue >

Gewsw 6 : Jelv-slel 9, -6, 4, ... 7 5 3 ue sl

dla=9 A r=

a, r # n Al Budl T, = ar™! 4l 4sdl

T, =ox (3

i, el 54 ue 22

-

£9.

L =F 8. 55 uduugdNAIn=5
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GewsRm 7 : Jelr-Aell 1, T, 1, e 2USY e 2,

S

wdlg= L A r=

2 = 2. 28y ue duig Y ved 3 n =8

0O 1= |4 [ 1=

a, r @ n -l Budld T = ar*! il 3,

Il
—_
(=)

u, ARlld sy ue 16 9.
Gelsm 8 : A SIS s yelu-adlly ol ue 4 Slu dl uaH A2 uel-l JLusiR alul.
QI 3, UYL UE = g A AL YRITR = 7 B,
wdl ol ue 4 © ved 3 T=4.
8 n=1,n=22»t'\n=3'\Tn=af"1‘-Li=1gxd'l
T=a, T=ar Y] T,= ar WA .
2N, TxT,xT, =a x ar x ar
=a*xr
= (ar)®
= (4) (wT,=ar=4
= 64
U, Rllrl e ARl UELFL JYBUSIR 64 AU B,
GE1sR 9 : 25 Jell-Aellg HAH UE il HaAH AR UELL JYRUHIR YsH 321 216 O, dl Aelle 74 ue Al
Aelld uur ue 39 2ed 3 g=3.
8d n = 1,n=2=bt'\n=3'\Tn=ar'"1‘-L'l Ysdi T, = a, T2=aribt'\T3=ar2‘-U}LE\9.
UgY, ARL Yel-l QRUSIR 216 U4 €.
2ed ¥ T, x T, x T,=216 8.
ed, T x T, x T,=216
. aXxXarxar =216

a®xr =216
3B xr =216 (-a=3)
27 x P =216
_ 216 _
r= 77 =8
r=2

aefl Aelly wdy ue T, = ar’
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= T,=3 x (2
=3 x 64
=192
3, ARl Ay ue 192 8.
GewswL 10 : A vl 2, G 50 JelaR-ASlHl 8 dl G -l Bud Akl
T, =2, T,=G #1 T,=50 8.

N]

ALY IR = L_L
L T,

G
1

G_5
2

G? =100
G=+10

G =10 vydlL— 10

G 11 : A Al a, b, ¢, d w2 2=£=2 Qu dl q, b, ¢, d Yelu-Adlui B Ax e,

) 3 §=§=%= r, ol r s LA vAd D,
b=ar,c=br,d=cr
c=(@)r=ar¥\d=(@?r=ar
°3.T1=a,T2=b=ar, T,=c=ar, T,=d=ar
as¥a dl T, T, T,, T, ANd-AR04L 8. 24 g, b, ¢, d ARNd-AR(4L 8.
Geww 12 : Jeilvr-2Ell 0.008, 0.016, 0.032, ... 320y ue 4.096 & ?

wdl a = 0008 v r= 208 _5 3,
¢d, T =4.096

. art! = 4.096
0.008 x (2)*! = 4.096

4.096
0.008

21 = 512
Lol =28
ol 6y Eld AR,
n-1=9
n=10
i, el 103 ue 4.096 €.
Geww 13 : A Jel-sAellg N ue d slell-i uam ueHl ol glu i AlY ue 243 <l dl s il
WA 3 HAM UE = g A AR YRR = 7 8. Al AlY ug, uad uedl [ 8. A2A 3 T, = a?
T,=a’ =a
r=a

2n—1 =
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GuRid A1g ue 243 2124 3 T, = 243

o T, =ar’ =243
Pxr=243 (" P =a)
r =243
r=3

soor =3

8d, g =P

a=3%
a=9

a=9%1 r=34di, 9, 27, 81, 243... el 44 8.

Gewsw 14 : A5 AlE av 200941 sivsHi T 10,000 >+ sAd O, ay 20104 T 20,000 wHL sAd B
w1 qy 201140 7 40,000 L $Ad O, SIS s AUl FL sAAA U WAL QU ML sAAA WH
sl ol 8. dl ay 201440 alFaA Zedl 8 o sAdl ¢d ?

A5 s uad alui A2d ¥ v 200941 Z 10,000 %HL $AA V. . UAU UE (@) = 10,000 8. € a¥f

ol 3 H UG Y sl otRll & Al A ARl (1) = 2 8. U ay 201441 AL s3e W

bl © 224 7 = 6.

a, raln AT, = ar-l Y,
T, = 10000 (2)%*
= 10,000 (2)°
= 10,000 x 32
= 3,20,000
a1, ay 201441 L 53¢ $H T 3,20,000 8.

Belsm 15 : s 50,000 (G2 anciadl welll 208l welell yydl @l 9. (@3- S8l €2 vsalRd
welly 22 29UB sl w3y AT MU B, dl win visaulSui uel welly 2R 324 ¢ ? (g well 2iflui
GHg -ell.)

50,000 (@23l atcicuoll wigll{l 2isl wiellefl yaydl kA 8. . a = 50,000 = T, € 213 wielly

AR UG Sl Y A ML V. - AR ARNR (1) = ;— 2.

A5 w83l ussld wiefld R = 50,000 x ;— = 25,000 (@22 29, 20y uin xsal3ul usly, urelld

AR WHdld B 2ed n = 6.
a, r 27 orll Bdl T, = ar™'ail 3sdi,

T, = 50,000 (4
= 50,000 (%)5

= 1 _
= 50,000 x 75 = 1562.5

U, WA 283l ugdl wefld R 1562.5 [@2R 8.
Gers 16 : vls Al axdl 20 @t 8. A adl €2 a¥ 3 21 €3 audl glu dl 6 ax uel d adz-l azxdl

sedl ¢l ? -
. ’ . dxel 3 251l €2 af 9 agl
w8l erarl axdl 2000000 &. . a = 2000000 = T,. axdl €2 a¥ 10043
3 281l €3 Al 8. noor= ae =1.03
». r=103
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s o4 uel wd-l axdl = 2000000 x 1.03 = 2060000 = T, 4. YA 6 A uedl-l arell -l &
Wed n=17.
a, r o nell Bodl T, = ar ™l 3,
T, = 20,00000 (1.03)™!
= 20,00000 (1.03)°
T, = 2388104.5930
1M, 6 a¥ ugfl ad+{l ardl 2w 23,88,105 4.
Gersat 17 : Hell-u sl € a¥ 15 % Avdl Ag R 158l 52 6. A Wl wdleBBud T 50,000
Slu, dl Ad ad el ul Bua 3edl »a ?
Uellrill wlleBBad T 50,000 8. . a = 50,000 = T,. ¥ell-i-dl 8w €2 a¥ 15 % .

r=0.85 HllArl Bodul a¥ 15 estl 92 8. - r=

As 4y yedlHl vall-l BHa = 50,000 x 0.85
= 42,500 = T, 4.
Ald Y ugdlll Hall-Al Bd el & »1ed n = 8.
a, r ¥ arll Budl T, = ar Al i,
T,= 50,000 (0.85)*"

= 50,000 (0.85)7

= 16028.8544

~ 16028.85
w1, Ald a¥ ugdll nall-dl Bud 7 16,028.85 L.

9.3 sdlil e (Meaning of Sequence)

A a, ar, ar?, ar?, .. A ARNR-ARl aS  a + ar + ar + ar + ... A ﬂ@ﬁﬂ% A4\ oirQl.
tld., 2 2, 6, 18, 54, ... JR0dR-2ell &l ol driiell eadl el Al 2 + 6 + 18 + 54 + ... U,
Rt~ HUH 72 UElHL ARAUUA A3 S oY ealduni wud 8. adl
S =T, +T,+T,+..+T,
oy T, =a',n=1273, ..
Wi, S, =T, S,=T, +T, S, =T +T,+T, PR,
o o4l YEL a A L 3udl suldlA o),
S =a+ar+ar+ .. +ar’ CURR
dpeiinr-glell-u Aeeiui A ealda Yol uudd wlidl aor sl ady

T . .
(1) F* = r = 4 YRR, 2l 7 - yals 8.
@T, =S,,-S %n=123,..
(3)S =naur=1

(4)sn=“g—_"1)l)mir¢1

T

2 —a .
(r—l) sULr#1

5)S, =
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Gewsw 18 : Jelvz-slell 5, 15, 45, ... U UAH UiA Yel-l Ul Wkl
15
5
NYH Yi YLl A WHAld 9. - 1= 5.

VM UUH UE g = 5 VA M YRR 7 = 2 = 3 B,

a, r ¥ nell Budia S,=% Hi Y,

5(3°-1)
S;= G-

5(243-1)
2

_5242)
=72

= 605
VUM, HYH U™ YELHL ARA 605 .
GewseL 19 : delv-slell 8, 4, 2, ... U UAH 6 UEl-l U WL,

Wl HUH UE g = 8 WA WHU JRITR 7 = & =

+ o= 2 3. uan 6 udld el e 3.
n==6.

g r oA pll BudA s = ZE5) i oy,

N

A, WA 6 el el £ B,

GerseL 20 ¢ s Jeilv-sAelly uan ue 3 2 Ari-A YRITR 2 €ld dl uUH AR el uaul ikl
L HAU YE @ = 3 Bl AL OLRITR 7 = 2 8. HYH AR el AR WAL 8, 2124 3 n =4,

a, r o nll BudA S = “g_"l)l) U Y,
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3[2¢ -1l
4 (2-1

3(16-1)
1

=3x15
=45
UM, HYH AR YEIHL A 45 O,

Belg@ 21 : s eli-Aell FHL A ARITR 0.2 i UAH AQ YEL-L AU 0.496 ¢ dl UAH UE ALH).
2l WY YRR 7 = 0.2 2l HUH A2 UEl- AR 0.496 22d 3 S, = 0.496 .

a(r" -1

rafa ol BudR S, = S Ul s,
_ a[0.2°-1]
0.496= ~ 03T
a(0.008—1)
0.496= T (08
a(—0.992)
0.496 = ~(038)
0.496 % (—0.8)
a= " (0992
a= 04

M, HUH U 0.4 8.

Gewse 22 : elz-4iell 800,400,200, ... 3260 UG-l WA 1500 2 ?

400

Al uaH UE o = 800 2l AR YRR 7 = p

»2d 3 S = 1500

a(r"-1)
(r-1)

ad rl BudA S = RITELT

800[ 0.5)" 1]
- (05-1)

800[(0.5)" 1]

1500 = 0.5

1500 % (—0.5)
800

0.5 =1 - 0.9375
0.5y = 0.0625
0.5)" = (0.5)
ol 6l Eldnl URvilddl,
n=4
BUH, UYH AR YELHL ARAN 1500 ¥,

0.5 - 1=

= 0.5 8. UUH 7 UELHl AN 1500 6.
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Gers@t 23 : s RlaR-sellul uan ue 27 i uAU AA Yl AL 189 6. WHL YeiuR 2kl
il HYUH UE a = 27 il HYH 242 el A0 189 §. 2d 3 S, = 189

a(r"-1) _. .
) Hl H4dl,

BudA S, =

_ 2P -1
35 T o))

27 (r=1) (P2 +r+1)
(r-0

189 =27 (P +r+1)
P+r+1=17
rP+r-6=0
r+3c-2=0
Lor=-3vAdr=2
B, AL IYRITR — 3 AL 2 B,
GergeL 24 ¢ A Jeilv-slellui uan ue 16 2 UaH Ui UElHl Al 1 8. wHL JYRilR 2kl
dl HUH UE g = 1 20 W3 WA YEl-d ARclol 18 Hed 3 S, = 1.

189 =

BudA S = “g__l)l) i s,

)

SS_ (r-1
5
1=((rr—1§)
r-1=r-1
r=r
rr=1
r=+1

Aa=1adr=1&ddHAH WA YEL 1, 1, 1, 1, 1 A, ¥ AR 5 A1y U8l U0 Al
169, adl =1 usy Adl.

Aa=1vulr=-18dd UdH YA UEL 1, —1, 1, —1, 1 &, FD AN 1 A, adl r = -1 ¥Q.

B, A RN — 1 69,

Gewsw 25 : Jelur-Adll 2, 4, 8, 16......11 AU £ UElHL AN 5000 4 QY AN ddl £ -l Hedn Bud
Wl

Sl U UE @ = 2 A AU QAR 7= 2 =2, 1 YA AR 5000 Al aB AR,

2
224 3 S < 5000.

a¥Aras = “g__l)l) i Y,

22 1)
)

=2 (21
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ed, S < 5000 Sl
2 (2" - 1) < 5000
2" — 1 <2500
s 20 <2501
8d nll [y 4 yals Budl wR 2+l Budlg sives A Yool ot 249 ol ¥ 4 yals Bud we
2" < 2501 wy Adl a-ll Hequ Bud ady.

n 4 5 6 7 8 9 10 1 12

2" 16 32 64 128 256 512 1024 2048 4096

stes uell AS ASI 3 2 = 10 W2 27 = 1024, n= 11 Hi2 27 = 2048 © A 7 = 12 W2 27 = 4096 ¥
2501 5l ay €.
n=11d ndl Heau Bud © 3 -0 W2 2" < 2501 w.
n=11
Belsm 26 : delar-8lell 1, 3, 32, 3%, ...l WAH 72 UElHL AU 2iemi ikest 3000 A ddl -l agan
(Bua glal.

] YU YE @ = 1 A A YRR 7 = f— = 3. UUH 7 YEL-L ARG 9L 219l 3000 Slal

A H2d 3 S > 3000.

a¥Ar S ag__l)l) Ui ysdi,

13" 1)
S, =61

_3-
2
ed, S 23000 Sl

-1
= 2 3000

3" — 1 2 6000
o 3726001
¢d il QRY 4 yauls Budl w2 3~ Budd stes DA yoot ol 21 7l & 4 yals Bud
Hi2 3" > 6001 2 Adl nll agdy [Bud asy.
n 4 5 6 7 8 9

3 81 243 729 2187 6561 19683

sl yl A WL B 1 =8, 9,... W2 37 2 6001 V.
M, nedl d8di Bud 8 © L M2 3" > 6001 Sl

n=2_§
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Bers@ 27 : s JRlv-ell W2 S, = 10S, €lu dl 7 WMl
2], S, = 108,

a(r®-1) a(r*-1)
- ~ 10[ ) ]

A-1=100"-1)
F -1+ 1) =100 - 1)

r+1=10
=9
=3
r=+ 3

Gersm 28 : s Al d-u s 16l A 7 520 9, 22 WA T 10 20U 9, 3 WA T 20 2 B,
2UH AY UG [Bau scn ouell 54 20l B, dl 103 W Y @l d-u dls s2dl 54

] 89l ?
s 16l WA F 5 200 © Al UAH YE g = 5. A VUG 6K BRUGHL [Bay Sl oMLl wH U
& adl aru el =2 9. i 10+ Wl Yl 2uda 2w daardl 9. el » = 10.

g rudnldl Bud S = a((:_—1)1 ) i i,

5(2'° -1
S= 2-1

5(1024-1)
1

5 x 1023
=5115
M, 1041wl Yl 20 84 T 5115 24l
GerseL 29 : Ws Als g4 T 2,42,000 4 €1l wiA HWRUH 5d O, €35 URA €1l 2l +6H UG
HRAUHL 534 €l sl Alog el © dl alZA uda ulR eiui 2ude W 24l
s Alsxin g6 T 242000 g £iL Wi MR 5G ©. A2d 3 S, = 242000 27 7 = 5. 25 H[8A il

A 264 A0UGL HUBAML 534, 1t 2l ~{lon ewtoi-d]l & dell 0y AR 7 = é— UL ua Y HEA wle
gl 23 Wacudl 9. Med 3, g WAl 9.

ran pell Bodid S = % Ui Y,
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242000 =
-3

242000 = {-55)
-3

242000 = a x (%)x(_%)

_ax 12
242000 = a X 81

_ 242000x81
a= 121
a = 162000

M, UYH U8 204 il WH T 1,62,000 9.
Gl 30 : A Al oirsui T 20,000 AV 8 2511 63 A5l AR 33 B, win Al uedl AUl 326l 8w w0l ?

(51 T 20,000 G540 Y3 9.
a = 20,000 =T,
Oivs UL 533G Y YR 8 251 Ay W 8.

r=1.08

s Ay uedl sl 254 = 20,000 x 1.08 = 21,600 = T,
w8l iy oy ugdl Hadl 4 el © 22d 1 = 6 ady.

a, r ¥ nll Budl T, = ar! 3l i,
T, = 20,000 x (1.08)*"
= 20,000 x (1.08)°
= 29386.5615
=~ 29386.56

w1, uin oy yedl wadl 81 7 29,386.56 9.
GelgR@ 31 : AvL 8 AvAl & + 1, 3k — 1, 5k + 1 delu-slellui 8. dl & eyl

wdl, k+ 1, 3k— 1, 5k + 1 Jeia-2ellHii 8.

adl f=73= A RlTR YAl

3k-1_5k+1

k+1 3k-1
Gk-1D=6Gk+ D&+ 1
Ok — 6k + 1 =52 + 6k + 1
482 - 12k =0

4k k-3)=0
k=024l k-3 =0
k=0dl k=3

Y 8 2si-l 2 af © Qdl

_100+8 _
=—Too~ =1.08

Wl k=02 Gk Dl Bud — 1 41 & B 8. Al k= 0 vieflsd . 214, k=3 8
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BewgwL 32 : A 15, x, 240, y Aeln-slelHi €l dl x Ayl [Zudl 2kl
dl, 15, x, 240, y ela-s{lui 8.

T, T, T,
adl f = Tz = T: AL ARNTR 7 Yl
T, T, 5 .
7 = 7 Qdi,
x _ 240
15~ «x
2 = 15 x 240
= 3600
= + 60
= 60 ¥{¥al — 60
; L _I,
Gurid ~ =7
240 _ Y
x 240
xy = 240 x 240
xy = 57600
8d, %A x =60 adA dl vin, x=— 60 adal dl
60y = 57600 - 60y = 57600
_ 57600 . _ 57600
= 760 .Y = 60
y =960 Sy = -960

U, x = 60 VA y = 960 A x = — 60 AU y = — 960.
Gers®@ 33 : A As Aele-Aslul T, = 80, S = 157.5 2l r = 2 Sl dl @ 2 1 2l
T 27 S -l Baudl 2084 § adll
5, = 2222 gl GuadlaL 544,
T, 12 S+l Budl Yotil s,
_ 2x80—a
157.5 = =504
157.5 = 160 — a
a =160 — 157.5
sLooa=25
8d T =ar!
80 = 2.5 x (2)!
2= 32
o= 28
ol 6l Eld Avilddl,
n-1=5
n==6
WH, a=25d0n=68.
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Gels® 34 : o Jellu-Aell Wi T, = 2™ ¢lu dl S, Audl.
wdl, T =2 9.
T,=2"=4,T,=2" =8 T,=2*= 16,.

e UYH UE g = 4 A A YRITR 7 = 8~ 2 ud. naw wr udd wawd Aaqad

4
adl n = 4.

a, r oA nell BudA s, = “g__l)l) Ui Y,

424 -1)

8,= (25
_ 406-D)
1
=4 x 15
= 60
W, §, = 60.

Gewsdt 35 : A JlR-AHE S = 2 (@ - D udl T Andl.
R el Sla 3 T

2 gt _ 11 2 pygn _
24 -1 - 4 - 1]

= Sn+1 - Sn

1

2[4 - 1) — @ - 1)]

3
=2 _1-a 4]
- %[4n+1 _ 4n]
=Zxa@-1]
T.=2@)

Gewsm 36 : A Jelu-Adll S, = 3 (3" - 1) dlu dl T, 24l

YR AR SA ST =S -
T,=5,-5,

=53 -D-53-1)

= $1Q7-1)-© -1
4
=?[26—8]
4
= 338
T,=24

w
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94 ﬂ?ﬂﬂ%—@l'&ﬂﬂi A $[Us YEL (Three consecutive terms of geometric progression)

ae(l quid oRidR-AR0HL 515 YELHL AANL 21, AYRUSIR AL 814, 27 YEL MLl 814 8. A d8lldR-
ARl ue a, ar, ar?, ar, .... A4S el Y-l Budl ldl wsiy yig 2w A weldl wrieoll seuel sadil
32dls AR AN oiAdl A, AellAl uel-l @3yl wRa Al dd sl ASA F el dRiddl W oA, el
Sedls Budl w2 i wreu 1A sald @ :

n=3H2, AA sAs uel : £, g, ar

n=442, AR sRs wEl : 4, 2, ar,

-
n=>54HR, Uy s[5 uel %, %, a, ar, ar®

Ay 2 Y ARdR-AS0AL Valld YEL ALl AU HIAt 218l UEL Yl o AlRd Av{ly,.
GerseL 37 : s opRilri-slellni el 55 uel-l AL 26 il JYRUSIR 216 & dl o il A uel Wkl

el 24 ella-Aelll AA YEL YRR HGAR £, g, ar dSA.
8d 8L YElHl ARUSR = 216

%xaxar=216

a@= 216
A a=6
2 YEIL AR = 26

%+a+ar=26

a(l+1+n=26

6)

r

6 (M) Y ¢ a

31 +r+ 7 =13r

3+3r+3r7=13r

3 -10r+3=0
r-3)@r-1)=0

r=3%udlr = L

S A A g =6 A r = 3 A4S )l A” 5[5 uel g—=2, 6, 6x3=18 614, ¥, A2 $[As uel

2,6, 18 9.

A a =62 r= 1 add d @ sBs ud %=18, 6, 6x3 =2 0.

B, A 5[5 uel 18, 6, 2 Y.
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Gewsw 38 : s Jeil-Ael- AR s[5 YelAl AW 9.5 w1 JausR 27 © dl slell-i A uel 2kl
Ul UM eiaR-ARlHi 22 UEL HRRL MUGAR £, g, ar ASA.
8a 2R YEl-l JRusIR = 27

%xaxar=27

a =27
a=3

A2 YEIHL AN = 9.5

%+a+ar=9.5

a(%+1+r)=9.5

3+3r+32=95r
37 -65r+3=0
ol 6%y 2 93 JYRUdL,
6rr-13r+6=0
@r-3)@r-2=0

YL r =

W
w|N

r=

e, Awwuda=32r=3 3

A dl ol $Ms Ul (i=2, 3, 3x3-= 2 ol
2)

i, AL 5B udl 2, 3, 2 udl.

|\

AU g=3 3N r= = 45 Al A% sRs U ,3,3x 2 =201,

3

wN|w

R, oL sBs ud 2, 3,2 .
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vdiGi

N

AN 1

1. (o) 2. (b 3. @ 4. (d) 5. (a)
6. () 7. (o) 8. (@ 9. () 10. (c)
QuY 2.1

1. 50 gZoelui cunsi-l dval ealag xAdd 2ugl-lade
sunsi-l vl (x) | 0 1 2 3 s
H3uil-l dva (f) 6 16| 21| 07| 50

2. 60 s Y21 i GHR ealad Mars udd 2ugR-fd

Gua(ad) 20 - 2525 - 30|30 - 35| 35 - 40| 40 - 45|45 - 50| 50 - 55|55 - 60| &4
sHadlalll dva| 3 8 10 11 12 7 6 3 60

3. 60 Bau eRun Hieudarg Geweq ealad =R Add 2ugli-[Ada

100 | 200 | 300 | 400 | 500 | 600 [ 700 | 800 | 900 | 1000
-199 |-299 |-399] -499] -599 | -699 | -799 | -899 | -999 |- 1100

wlonderl Aval

3l

(Raai-l v 2 4 9 7 10 8 9 4 3 4
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‘ol 2le90’ usRy wdl vugfA-ld

Weugardll dvar | 99.5]199.51299.5 [ 399.5 |499.5 [599.5 | 699.5 [ 799.5 | 899.5 | 999.5 |1099.5
¥l gl 0| 2 6 | 15 |22 | 32 40 49 53 56 | 60
‘ol ay’ usRyg Adl 2ug-lAd
‘Al ay & dedl Hleudadl v [ 99.5 11995 [299.5] 399.5( 499.5]599.5]699.5]799.5(899.5/999.5[1099.5
dl qy dudl 2ugl 60 | 58 |54 | 45| 38| 28 20| 11 ] 7] 4]0
4. | @l 0-99 | 100 - 299[300 - 499 500 - 749750 - 899|900 - 999
HulZud 49.5 | 199.5 | 399.5 | 624.5 | 824.5 | 949.5
aleons 100 200 200 250 150 100
gl 10 12 14 16 8 10
5. ‘dl le9 usR Al 2ugli-lAd:e
x § ddl ay qal 01|23
dudl gl 140 | 250 | 370 | 400
‘ol ay usieg dadl sug-Adw
x & ddl 2l el dva | 0 1 2 3
dadl 2ugl 400 | 260 | 150 | 30
6. RS udd dugf-Ada
ad 45-49 [ 50 - 54|55 - 59|60 - 64|65 - 69|70 -74 [15-79| &
wuglt [ 30 80 [ 100 | 50 [ 150 | 80 10 | 500
7. [Rars dd 2ughi-Ad
al  [30-35[35-40]|40-45(45-50(50-55 [55-60{60-65]65-70 | s
gl | 17 8 15 8 6 3 2 1 60
8. |l [0-50|50-160[160- 300300 - 500[500 - 800BO0O - 1000| &t
augla | 10 30 40 60 80 30 250
9. |l [7-16 |17-26(27-36(37-46]|47-56| &
2l | 160 | 120 [ 43 40 2 365
10. 0.9875 | 1.4875 | 1.9875 | 2.4875 | 2.9875 | 3.4875
“ 1.4875 |- 1.9875 |- 2.4875|- 2.9875|- 3.4875 |- 3.0875 | &
g 5 10 20 20 10 5 70
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AU 2.2

sidorui 20 sl Renl0Hl oald 247 2iea-ay AqaR qval salag shes

ald

e LsR1%0 54l &
uay 330 220 550

(el 225 225 450

adla 300 100 400
s 855 545 1400

1600 sHwA2AA oald duy dlRs e ealad shes
dal’s A Al Py
Yl 2l

uRella 75 485 1200
wuRella 205 195 400

) 920 680 1600

oirsul Midl w2 sllendd GAsaRlHl lgl, ald duy du-d dals s salag sies

VisHWAA, 418l 11

aa wlRella 2wuRelld &

YN %l & | N %l [ uN %l &
AR
se$
$Rwr
JECTE]
&

Al w7y, Wals A s €N gAR Al v calag shes
qaulls e

(Qretr2 ulRella 2uRelld S

agedl| Biriagedl | ga [ 2geiedl [Brrimgedl | ga | vigedl | Brvigedl | ga
wR | 250 93 343 | 163 43 206 | 413 136 549
2y 87 400 487 14 800 |814 | 101 1200 1301
& 337 493 | 830 | 177 843 [1020| 514 1336  [1850
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9. 40 sHudvinl sldar dals e culag shes

anld ufelld wuRelld el
W 8 8 16
@l 15 9 24
Lol 23 17 40

10. HHERIH wRs vuas culag Mars Add 2ugl-fAdra

2400 | 2900 | 3400 | 3900 | 4400 | 4900 | 5400 | 5900 | &
WS ddr (D)

- 2900| - 3400 | - 3900 |- 4400 |- 4900 | - 5400 |- 5900 | - 6400
SUeRl-l vy 3 9 18 25 23 10 7 5 100

11. 200 [Qeudl+- e Mars Add vugf-Ada

Ja 10-20 [20-30 [30-40[40-50[50-60|60-70 | 70-80 | 80-90 [90-100| &4
[Qeuefl=1l 20 40 50 35 25 22 6 1 1 200
12, | adl 10-15|15-20 [20-25 | 25-30 | 30-35 |35-40 |40-45 | 45-50
gl 12 18 16 22 14 10 6 2
13.  nHgIs AL AlFadil-i wRas w2 Gualami 2uadl BRTS A AMTS -l bt usi:l salad shes
G-l UBIR
Raer-l usi2 &
Ul 5@ Brrindigsaa
BRTS 250 100 350
AMTS 150 500 650
& 400 600 1000
14. 5idz-i Reuffzil Rentvuui -l vy enfad shes
aald
[Qensuvy &
SlaAA ladlaAl
([Qsu- 250 350 600
culBioy 650 250 900
s 900 600 1500
19. wawAHl deugld
21. agwusd
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isuflal 30 (au e Qe 3Ny wiRUS Udd 2ug-lRd

AL A 90 - 94 | 95 - 99 [100 - 104|105 - 109]110 - 114115 - 119120 - 128125 - 129] 54

Bazldl 2ivul 2 3 6 4 4 4 4 3 30
w5 adzru 40 Rauwasa 534 B sl wRaRs Add 2ugli-Qdaw

2R sl @ [200 - 209220 - 239pa0 - 2590260 - 279(280 - 299300 - 319320 - 33940 - 359 ga

Rauuasll v 4 6 4 6 4 5 6 5 40
[+ 50 ¢eusHi add wel-l quan salad MRy Add ugRi-dd

wielll qua 20-25|25-3030-35|35-40(40-45|45-50|50-55[55-60| &

) vl 2 10 9 7 10 5 3 4 50
50 syl au ([Baumi) ealag RaRrs Add sugf-Rd@

s{dlallday  |60-65(|65-70]|70-75|75-80|80-85(85-90| 44

sl v 5 11 11 11 7 5 50
) wlles” waRe Al ugfa-Rda

Gled frulEig 245 | 29.5 | 345 | 39.5 | 445 | 495 | 545 | 59.5

dudl 2ugf 0 3 11 21 26 41 49 50
‘ol ay’ usiry Hadl 2ug-Rara

wy: Al &

245 | 295 | 345 | 39.5 | 4.5 | 49.5 | 545 | 59.5

Al ay

Ayl g 50 47 39 29 24 9 1 0
siReurudl 30 Rau e A819R Wl HHERIAL dva calad wdd sugli-ldam

A% HHEIRL 0 1 2 3 4 5 6 Pl

(2ol 2ivay 5 7 5 6 4 2 1 30
‘o) 2lles” Wy Al vug-Rdza

1R SRl & ddl 2em| 0 1 2 3 4 5 6

Baull v 5 12 17 23 27 29 30
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7. wdHi s 850 [Qendlil e wd el adllse calag shes

aAld
LR &
e slsdlull
10 255 145 400
11 125 125 250
12 150 50 200
o) 530 320 850
8. ad 2013 4l 2015 el wourn Rendlul Ald lRaui /R 2 A WnAR [endll ealag
ey
of Sl aHi R SlR2aui A W L1
slsual |olsdal | sa (ol [ssdal | s (sl (sl | s
2013 | 600 350 | 950 [ 200 50 250 | 800 400 1200
2014 | 700 420 | 1120 | 260 100 | 360 | 960 520 1480
2015 | 840 520 | 1360 | 260 100 | 360 | 1100 620 1720
9. 2000 GAeRl w2l 2o, A duy Aails e eulag shes
W all &
TR yRela [puRela| s [ uRela [puRellal sa | wReld (2Rl | s
rllds 150 450 | 600 | 160 240 | 400 310 690 1000
A [ 192 288 | 480 [ 160 160 | 320 352 448 800
vy Ryl 70 70 140 36 24 60 106 9 200
& 412 808 | 1220 | 356 24 | 780 768 | 1232 | 2000
10. (1) 50 2sill aR)
(2) 20 251

(3) Yl 53.33 2gi-dl 4 A Al 40 251l auRl.

1. vl d-u-ll ol eulag (Rars Add 2ugi-lAdze

A-u-fl onsuS [1.505- 1.510 | 1.510 - 1.515 | 1.515 - 1.520 | 1.520 - 1.525 |1.525 - 1.530 §d

dra-ll v 5 3 6 7 4 25
vyaflauon Aol 2sieudl = 36 %
2. 30 Bau sl - siucuaui ade $2912) salag Rars Add wugf-Rdaa

izl Bud ® |10.5-12.5|12.5-14.5] 14.5-16.5] 16.5- 18B.5] 18.5 - 20.5] 20.5 - 22.5 §4

Bauldl v 2 6 8 4 8 2 30
@) Z17.5 (i) 16 RBarll (i) 6 Razd
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40 Ban st Bsuz-n Gauen-dl dvwni ad asiadl salag Rars ddd 2ugR-Rdaa

Fusurni Gengi [12e0l 6|-6dl0]| oelle [62l12 12218 (184124 | &
uidd dsiad
RBaull v 2 5 12 10 6 5 40
ol 290 WhRy Al ug-Adra
Aled AfrulEig -12 -6 0 6 12 18 24
dadl 2ugln 0 2 7 19 29 35 40
‘el ay’ uskd Audl 2ugfi-lada
nyflauleg -12 -6 0 6 12 18 24
Al wgl 40 38 33 21 11 5 0
30 Rendl2l Gud salag AU Add wugR-Rd@
Glas @) 140 - 144 | 145 - 149 | 150 - 154 | 155-159 | 160 - 164| 165-169] &4
(Qeuelfaill 2w 2 8 8 4 6 2 30
‘o) wllest’ wsteg diadl ugR-lddze
Gled Afulirg 139.5 | 1445 | 149.5 154.5 159.5 164.5 | 169.5
Audl 2ugla 0 2 10 18 2 28 30
ol ay’ usig dadl 2ug-Aaa
wy: AlBg 139.5 | 1445 | 1495 | 1545 | 159.5 | 1645 | 169.5
Al 29l 30 28 20 12 8 2 0
() 8 Renllzl (i) 12 Qeue> (ii) 149 A]
YRaRA-0 Rendlzil] Rensns duer Al wqur llna
[Qengusu Slsuil 9lslwl L3l
Saradl 7750 3150 10,900
ELsadl 6000 4000 10,000
(dsu 7000 1000 8000
[Q-un 2800 6800 9600
oy 450 1050 1500
o) 24,000 16,000 40,000
°
Y 3.1
(1) s =178 A4 (2) Yuikd Hwg = 24.5 QY euoL @ usdl.
(3) Hws =41 [MR (4) w5 =35.36 Y2
(5) s =7.49 [z (6) Hwis =7 18.76 alvl
(7) s = 40 sl
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Uty 3.2

A) @®a uws = 7 198.75 2) *URd 1 = 118.09 2s1cudl 381
3) R Hus = Z 506.67 (4) Mg =827398

A 3.3
(1) el Hwus = 2.61 Yesl (2) URAY YARL = 6.05 % (AURlTR AAUL)

(3) el Hes = 61.73 (B3l
Y 3.4

. Ul Q =499, Q, =6YAN, Q, =7 AR
2, u=Ry =220.17 [, 50 % (Rad-l yausdl 229,17 Ball 3 dell 20l eal,
Q, = 291.67 (31, dllell 2Aedl yrusdl ulda 75 % Rl Hedu 2id 291.67 Bl edl.
D, = 314.29 (], el »0edl 3159l ula 80 % Rl A vidR 314.29 Bl edl.
P,, = 259.17 ({1, el w0l Hisdl uldet 62 % Rl e ¥idr 259.17 Bl edd.
3. Ry = 19 a¥, 50 % [Qenell Gu 19 ax ¥ el il ed.
Q, = 18 a¥, 25 % Rewell>l-l GuR 18 ax¥ 3 el »iedl e
D, = 19 @, 40 % [Qeuell>Q-l Gur 19 axl ¥ aefl el wdl.
P,=18.92 a¥, 32 % [Qauell>l-l G2 18.92 ax{ 3 qdll sl wdl.
HeRy = 7 21.78 eur, Al ay Ad-l 4Addl 20 % sHULIAL Qant-d yedd d= 2 26.84 e
HeRY = T 495
g MU wRell Here = 4 Bay
llgd ARl urell 3ru = 4,17 Raxn
ol [Bacl @dLedL HAHIsL 88,

rUBUY 3.5

olgels = 138

olgels = 13 3

R Yot W12 Hs = 68.85 aX, wery = 67.11 oy adl olgas = 63.63 @
oigels d-ll el da Wl wsdl el awR 2wAkd Yol Aadl usy.
Youell VULR ogds = 152.35 WA

A el olges = 153 3

6. olgds =7 22 4R

S e

a2 3

[dana A
. @ 2. (@) 3. 4. (c) 5 (a)
6. (b 7. (© 8. (@ 9. (c) 10. (b)
11. (a) 12. (b 13. (©) 14. (b) 15. (d)
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